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SECTION- A

People believe that poverty is a bad thing.

Rich people have no independent outlook because they always
depend on servants.

A middle class man lives more happily and satisfactorily in life.

Rich

Poor

A Market is a place bustling with all kinds of activities.

The vegetable market is congested because the various stalls, push
carts and vendors selling vegetables even sitting on the ground.
“most attractive and appealing to the eyes”.

During the evening this market is very crowded.

Description

(i)  Mistakes of the individual.

(i) Very old

The main causes of diseases and disorders are the mistakes of
individual himself. i. e faulty way of living bad habits, lack of proper
knowledge and unsuitable food.

The yoga expert shows only the path and works so more than
counsellor.

Yoga is the ancient system to keep a person fit in body and mind.
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SECTION-B

A.4  The Heading - 1
The Solution - 1
The body of the letter — 3

The subscription or complimentary close — 1

A5  Title—1
Notes — 3
Summary — 3

A.6 Introduction, out line—1 + 1

Description of the various aspects of the subjects — 4

Style, Conclusion — 1

SECTION-C

My friend will help you because he is very kind.

A7 (A (i) an
(ii) or
(iii)  them
(iv)  between
(V) in
(vi)  must
(B) (i) Goes
(ii) Swimming
(i)  To buy
(iv)  Some
(V) May
(vi)  What
A8 (i) | do not believe in God.
(ii) He is so poor that he can not pay the fees.
(i) Unless you work hard you will not succeed.
(iv)
(v)  Asongis sung by me.
(vi)  Did they run very fast.
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iv)
V)
Vi)
A.10 (i)
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(iii)
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comes [5x1=5]
went

buying

making

can
was raising

SECTION-D

True [5x1=5]
The dog

Tempt
Because Durga had clasped her hands behinds her back will a

larger sweet in those clasped hands to tempt the dog.

(a) Gymnastics [1]
(b)  Both deaf and dumb [1]
(b) 1967 1]
Anju has been called a special person because she was deaf and [2]

dumb who never allow her handicap to come in the way of her

ambition.

The mountain goat met the tiger on a patch of green grass. [5x2=10]
Kondiba had learnt to swim before he lost his eye sight.

Tenali Raman was a very wise and witty man in the court of king
Krishnadeva.

The small brown squirrel was going up and down seashore with little

pebbles in his mouth.

Raja’s grand father threw the shell in which the snake was there, so

it moved away quickly to hide.

Henri Dunant was called “The gentlemen in the white”.
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A.13

A.14

A15

A15

A.16

(i) Noise pollutes our environment. It can cause illness and deafness.
Noise causes the blood vessels in the brain to expand. It brings on
pain.

(i) Recycling rubbish not only save money. it also helps the environment.
we lesson the pollution that is created by burning rubbish and we save
valuable resources.

(iii)  Nickey was too scared, uncomfortable and ashamed after the day’s
incident.

i) (a) revolve

ii) Wonderful Air/Air

i) Breast

iv)  Air walks on the water
It whirls the mills
It talks to itself on the top of the hills.

Jiya bai was Shivaji’'s mother. She was a brave and noble lady. She was

worried about Shivaji is who was captured by Aurangzeb. She raised the pay

and increased the rations of the soldiers. She also instructed to send useful
gifts to the wives of the soldiers.
OR

Shivaji was a noble and brave man. He was a great patriots when

Aurangzeb, the Mughal king captured and imprisoned him he easily

escaped. He loved and cared all his soldiers and the people. He was a king

father also.

(i) Anusha respected the villagers because they had many innovations
to conserve and recycle soil and land. they also planted numerous
trees along their terrace.

(ii) Any unpleasant sound is noise. Sound is measured is decibel. The
desirable range is between 45 to 75 decibels. Sound above the range
of 85 decibel is damaging for the ears.

(i) His books and teaching won him admires.

(iv)  India is among five nations in the world in terms of GDP.
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Subject: ENGLISH

Time: 03 Hours Maximum Marks: 100

Note :- (i) All questions are compulsory.
(ii) The question paper has four sections - A, B, C, D.
SECTION-A

Q.1 Read the following passage carefully and answer the questions given

below -

People believe that poverty is a bad thing but a middle class man lives
more happily and satisfactorily in life than any rich man. Rich people always
depend on servants and therefore have no independent outlook. But a
middle class man is free from helplessness of jealousy which the rich have

to face. Most of the great men were born in poor families -

Questions:

(@) What do people believe? [1]
(b) Why do rich people have no independent outlook? [1]
(¢) How does a middle class man live? [1]
(d)  Write the antonym of ‘poor’ from the passage. [1]
(e) Most of the great men were bornin ............... families. (poor/rich) [1]

[202] 0O-10 Page 1 of 8



Q.2 Read the following passage and answer the questions given below -

A market is a place bustling with all kinds of activities. Our local
vegetables market where we go every evening to buy vegetables is really
difficult to describe. It is extremely congested because of the various stalls,
push carts and vendors selling vegetables even sitting on the ground. The
sight of fresh fruits and vegetables is most attractive and appealing to the
eyes. Despite the dirty and narrow lanes, the lure of getting fresh fruits and
vegetables gives one the incentive to go there every day. During the
evenings, this market is very crowded and chaotic and vendors can be

heard selling their products in the loudest and most noisy way possible.

Questions:
(a) What kind of place is a market? [1]
(b) Why the vegetable market is congested? [1]
(c) The sight of fresh fruits and vegetables is ................. (Fill up the blank) [1]
(d) When is the market very crowded? [1]
(e) Give the noun form of ‘Describe’ — [1]
(i)  Describing (i)  Description
(iii) Describement (iv) Discreation
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Q.3 Read the following passage carefully and answer the questions given
below -

Yoga is the ancient system to keep a person fit in body and mind. It is
basically a system of self-treatment. According to the ‘Yogic’ view,
diseases, disorders and ailments are the result of some faulty ways of
living, bad habits, lack of proper knowledge and unsuitable body system.
Since the root cause of a disease lies in the mistakes of the individual
himself. The Yoga expert shows only the path and works so more than a
counsellor. The ‘Yogic’ practice of treatment comprises three steps namely
diet, proper yogic practice and proper knowledge of things about the self.
Questions:

(a) The root cause of disease lies in ................. [1]

(i)  Mistakes of physician

(i)  Mistakes of the individuals

(i) Mistakes of others

(b) The word ‘prolonged’ means — [1]
(i)  New
(i)  Very old
(i)  None
(c) What are the main causes of diseases and disorders? [1]
(d) What does a yoga expert do? [1]
(e) Whatis Yoga? [1]
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Q.4

Q.5

Q.6

SECTION-B
You are Ravi Singh studying in class X Govt. Higher Secondary Schoal,

Manhad (Bhind). Write an application to your Principal requesting him to

[6]

grant you freeship.

OR
You are Sushil Sharma living in 14, Model Town, Jabalpur. Write a letter to
your father telling him about your studies.
Read the following passage carefully and answer the questions given
below -

Discipline is necessary in life. A man without discipline can achieve
nothing worthwhile in life. Discipline is the very condition of progress,
stability and strength. Discipline is necessary in all walks of human life.
without discipline there will be disorder and lawlessness in a civilised
society. We cannot live without having some regards for the welfare of
others. Respect for authority is the basis of discipline, otherwise education
will suffer. We find evidence of discipline all around us even in the world of
nature and the world of animal, discipline loses nothing but it wins a lot.

Discipline helps us to safeguard our interests and restrains us from missing

our liberty.

Questions:

(@) Make notes on the above passage and give a title also. [3+1=4]
(b) Prepare a summary of the passage. [3]
Write an essay on any one of the topics - [7]

(@) The Festival you like most
(b) Importance of Trees

(c) Science : A good servant but a bad master
(d) My Hobby
(e)

e) Any Great Indian Leader
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SECTION-C

Q.7  (A) Fillin the blanks by choosing the correct words from the brackets —
(Any five) [5]
(i) Hisfatheris ....cccccoovvveennnnnnnn. M.L.A. (a/an/the)
(i)  Work hard ................ you will fail.  (or/but/so)
(iii) He hasinvited ..........ccccceeeenne. to his birthday party. (they/them/their)
(iv) You are sitting ........cccuvvvveeeeeen. Seeta and Geeta. (between/among)
(v) Ihavetwopens ........ccce..... my pocket.  (in/on/at)
(vi) We .............. go to school in time.  (can/must/may)
(B) Fill in the blanks with the correct words given in the brackets -
(Any five) [5]
(i) Ravialways .............. to school. (go/goes)
(1) I is a good exercise. (Swimming/Swim)
(i) Namrata is going ............. a new mobile phone. (buy/to buy/bought)
(iv) Give me .............. water to drink. (some/any/many)
") - | come in sir? (May/ Can)
(vi) Rama wanted to know ............. she was doing. (what/where)
Q.8 Do as directed. (Any five) [5]
(i)  Ibelieve in God. (Make negative)
(i) Heistoo poor to pay the fees. (Rewrite the sentence using “So..that”)
(iii)  If you work hard, you will succeed. (Rewrite using ‘unless’)
(iv) My friend will help you. He is very kind. (Combine the sentences
using ‘because’)
(v) Ising a song. (Change into passive voice)
(vi) They ran very fast. (Make sentence interrogative)
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Q.9 Fillin the blanks choosing the correct word given in the brackets- (Any five) [5]

(i) Meera............. late every day. (come/comes)

(i) Mohan was very tired, so he ............ to bed early. (go/went)

(iii) She is thinking of .......... a car. (buying/bought)

(iv)  You should avoid ............ mistakes. (making/to make)

(v) The boxis very light. | ......... liftit.  (can/could)

(vi) The crowd ............. loud slogans. (was raising/ were raising)
SECTION-D

Q.10 Read the following extract carefully and answer the questions given below-
The following shots showed the sweet-seller walking through a

bamboo grave. Apu was right behind him, and then Durga, and behind

Durga was the dog. All were walking in single file. Nobody who saw the film
guessed that the dog was behaving like an experienced actor only because

Durga had clasped her hands behind her back and in those clasped hands

was a larger sweet to tempt him along.

Questions:

(i) Grave means a group of trees planted close together. (True/False) [1]
(i)  Behind Durga was ........... (Apu/the dog) [1]
(i) Same meaning of ‘attract’ from the passage is ............. [1]
(iv) Why did the dog behave like an experienced actor? [2]

Q.11 Read the following extract carefully and answer the questions below-

Anju Dua is one of the most well-known coaches in gymnastics in the
state of Haryana and a number of her students are winning awards today
in many gymnastic competitions in the state and outside. An excellent
gymnast, Anju’s achievements are far greater since she is a special person,
being both deaf and dumb. The story of Anju Dua (born in 1967) is the story
of a person who did not allow her handicap to come in the way of her
ambition. She competed in the national championships along with the rest
of the participants, asking for no favours and won ten gold, 23 Silver and
11 Bronze during the three years from 1987 to 1990.
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Questions:

(i)

(i)

(iv)

Anju Dua is one of the most well-known coaches in
(a) gymnastic

(b) wrestling

Anju’s achievements are far greater because Anju is

(@) A weak girl who cannot run fast.
(b) Both deaf and dumb.

Anju Dua was borniin .............

(a) 1947

(b) 1967

Why has Anju been called a special person?

Q.12 Answer any five questions from the following -

(i)
(ii)

Where did the mountain goat meet the tiger?

When had Kondiba learnt how to swim?

(iii) Who was Tenali Raman?

(iv)
(v)
(vi)

What was the small brown squirrel doing?
Why did the snake move quickly?

Who was called “The Gentleman in the white”?

Q.13 Answer any two of the following questions -

(i)
(i)
(i)

[202] o-10

Write some harmful effects of noise.
What are the advantages of recycling?

How did Nicky feel after the days incident?

Page 7 of 8

[1]

[1]

[1]

[2]
[5x2=10]

[2X3=6]



Q.14 Read the following extract carefully and answer the questions given below-
“Great wide, beautiful, wonderful world, with the wonderful water around
you carried and the wonderful grass upon your breast, world, you are
beautifully dressed.

The wonderful air is over me.
And the wonderful wind is shaking the tree. It walks on the water, and whirls

the mills, and talks to itself on the tops of the hills.”

Questions:
(i)  Whirl means .....ccccc........ [1]
(a) revolve
(b) flow
(1) I walks on the water. [1]
(i) Same meaning of ‘Chest’ from the extract is ...........cccceeeeen. [1]
(iv) Write three works of ‘air’ from the extract. [2]
Q.15 Answer the following question - [5]

(@) Write the qualities of Shivaji from the drama.
OR

Who was ‘Jijabai’? Write some qualities of ‘Jijabai’.
Q.16 Answer any three of the following questions. [3x3=9]
(i)  Why did Anusha respect the villagers?
(i)  What is noise?
(iii) How did Sen win admires?
(iv) What is India’s rank in the world in terms of GDP?
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> | ——
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e —_
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SEl
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Gl T DI G : 26 Hl JOI BT G © 16
Total No. of Questions: 26 Total No. of Pages: 16

B3 Whel e, faavaR—2021
211
fau : wforg
Subject: MATHEMATICS
(Hindi & English Versions)

|AA 1 03 HOC quries : 100
Time: 03 Hours Maximum Marks: 100
faser —

(i) & 7T o1 BT A &1

(i)  FAE J¥7 B FGEH G 96 /

(iii) FeT F 1 & 5 TF TGO JBR & J97 8 [MGFER 5 Borv/

(iv) T & 6 & 26 4 syaRk® fawey &4 14 &/

(v) F&P F¥7 & [of7 JGIcT Sid FaD THT 3T &/
Instructions :-

(i)  All questions are compulsory.

(ii)  Read each question carefully.

(iii) Q. Nos. 1 to 5 are objective type. Do as directed.
(iv) Internal options are given in Q. Nos. 6 to 26.

(v)  Marks allotted to each question are mentioned against each question.
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(i)

(i)

(iv)

(v)

[211]0-10

g1 el [dPed gaeR AU STRYRG®! 7 forlay —

T PI0T IO WYRD Bl IR T &, I8 PIOT & —

(a) 36°

(b) 108°

(c) 72°

(d) 144°

et & € a1 H, IH@ A1 gorell | AR fig FHEdardr 2 —
(a) T T

(b) 3id: B

(c) uRDd=

(d) D=

bt 15,11,13,11,15,12,15,18 &I dgeld NI —

(a) 18

(b) 15

(c) 13

(d) 11

& U1 U IR SBTal 4T, G 2 MM &1 Uifiddr —

ald R W N |-
& | o

(d)
=1 Sffpsl &1 ARTD BN —
3,19,17,15,8,5,9

(a
(b
(c
(d

) 3
) 9
) 15
) 19
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Choose the correct option and write it in your answer book -

(i)  An angle is 4 times of its supplement, the angle is -

(a) 36°
(b) 108°
(c) 72°
(d) 144°

(i) In the plane of a triangle, the point equidistant from the sides of the
triangle is called its -
(a) Centroid
(b) Incentre
(c) Circumcentre
(d) Orthocentre
(iii)  Mode of the following data —
15,11,13,11,15,12,15,18

(a) 18
(b) 15
(c) 13

(d) 11
(iv) A die is tossed once, find the probability of occurrence of 2 -

(v) Median of the following data -
3,19,17,15,8,5,9
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U2

U3

Rad =l a1 gfcd &= —

(i) TP fFaTd THHRT B ARND T AP oo T B 2 |
(i)  SITUT 5:4, SFFUART 100:80 BT ..ooocooeeeerereereseseerere 2l

(ill) TGS B oo TR g DI TOET B IR B |
D IREE: 5 + Thglg TS

(v) e o fig 9 90 R i 73 TRl il & Aagal BTl B |
Fill in the blanks -

(i) A quadratic equation can have maximum............ccccveriiieeeriiieeenne roots.
(i) The ratio 5:4 1S ..ueuiiieiiiiiiieeeeeeeeeee s of the ratio 100:80.
(iii) Discount is always calculated onthe ...........cccccvvviiiiieeennnen. of the goods.
(iv) Amount = ... + Compound Interest.

(v) The lengths of tangents from an external point to a circle are...................

fr=forRaad & v /srac forfaw —

() VP AFAGS B T JAd A Bl € |

(i) Vx®H Ed n 2|

(i) ArdeiaR BT U d gRT Fefua fdar S 2 |
(iv) r1st @ <fFF S0 T AT 360° BIAT 2 |

(V) x+y&E+y) =x*-y?

Write true/false in the following -

(i)  All sides of a rhombus are equal.

(i)  The order of Vxis ‘n’.

(i) The common difference is usually denoted by ‘d’.
(iv) The sum of the three angles of a triangle is 360°.

(v) Gx+y)E+y) =x*-y2
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U4  Fal oSl 99187 —

wT™T 3
(i) sec?d—1 (a)
(i) tan® (b)
(i) sin60° (c)
(iv) sin?30° + cos?30° (d)
(V) UM U UTdhd GEARI BT Al (e)

(f)

Match the correct column -

Column ‘A’
(i) sec’6—1 (a)
(i) tan® (b)
(i) sin60° (c)
(iv) sin?30° + cos?30° (d)

(v) Mean of first five natural number (e)
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U5

U.6

UAd BT U Teq /a1 H IR QISTQ —
(i) fdgeil (x4, y1) T (xe, y2) @ Aea fig & Fcera forar |
(i) e & e &1 g faRay |
(iii) Vel @7 =T ST fHA O @ AT Sl &, SH FIT Pl Il 5e
(iv) SR 9gU< &I °rd b+l gl 87
(v) 9 @ g a0 —
() =@’
Write the answer in one word/sentence of each -
i)  Write the co-ordinates of the midpoint of points (x1, y1) and (xz2, y2).
i)  Write the formula of volume of sphere?

(
(
(i)  What is the number of observations falling in a particular class called?
(iv) How many degree are there of a constant term?

(

v) Solve the following —
2\% _ (23
) <)
TRl BRI 3R IRV & Trdiara wy # forr |
5\8  /5\5
G) +G)
Simplify and express the result in the exponential form.
5\8  /5\5
G) +G)
3erar/ OR

g BN BT WRATH w0 H Fad I |
315
Express as a pure surd in the simplified form.

315
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U7  ORATH ©U H AU 1T BN | )
45 I BT 5 e

Find the ratio in the simplest form.

45cmto5cm

3TQJ_C|T£OR
%ﬁwqﬁmﬁzﬁwﬁ%@m

Convert the 13—0 fraction into percent.

98 g @ uRfY 1T R SEfD Bl\rmﬁﬁﬁr%\'l(n:%) (@

Find the circumference of a circle whose radius is 11 cm. (n = %)

3rerar / OR
fdg (3, -4) TAT (-2, 5) & &I BT g ST B |
Find the distance between (3, -4) and (-2, 5).

99 % 3P H sin C T cos C BT A ST & | )
A
13
5
H
B 12 C
Find the value of sin C and cos C in the following diagram.
A
13
5
H
B 12 C
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9.10

g1

.12

3erar/ OR

ﬂﬁcos@=%ﬁsin9=?ﬁtan9ﬁﬁﬁ§i’lﬁﬁl

If cos® = % & sinf® = \/2—5 then find the value of tan®.
7T aTidsl &1 ATRId =T B |
15,18,7,12,19, 25,17, 20
Find the median of following data.
15,18,7,12,19, 25,17, 20
srerar/ OR
7T aridsl | A S B |
3,6,9,12, 15,18, 19, 21
Find the mean of following data.
3,6,9,12, 15,18, 19, 21
x3—1® x—1 I 90T ST |
Divide x®> — 1 by x — 1.
3rerar/ OR
A AT BRI —
(2a + 3b)?
Find the product -
(2a + 3b)?
T ST @& PIvT 3:5:7 & U H &, PIVT AT B |
The angles of a triangle are in the ratio 3:5:7, find the angles.
3rerar/ OR
U Thel H 35% faenfial & wear asfeai o g1 afe gor el o1 e
1240 2, A1 ho H TSd] &I H=T FId B |

35% of students in a school are girls. If the total number of students is 1240.

Find the number of boys in the school.

[211]0-10 Page 8 of 16
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U13 TP GPHMER U I 320 ¥ &I WRIAT 8 3R 39 240% H Il &, IHBT a4 AT
B % ST BN |

A shopkeeper buys an article for ¥ 320 and sells it for ¥ 240. Find his gain or

loss percent.

3erar / OR

T PIC BT 3fdd oI 1200 2 Ifa 59 W 15% fSHPBISC f&ar Smar g, a1 g69a7

[apd Hed 91 BRI |

A coat is marked at ¥ 1200. Find its selling price if a discount of 15% is offered.
914 <1 fdgall (3, 4) 3R (5, 12) BT A arel WaRge &1 #eg fig = o7 |

Find the midpoint of the line segment joining two points (3, 4) and (5, 12).

3rerar/ OR
fo % PQ|| BC, x &1 A9 S &I |

A

35 Qﬁfﬁw
P Q
4@1%/ \
B C

In diagram PQ || BC. Find the value of x.

A

3.5 cNm
P Q
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.15

.16

U7

V3+y/5
o P B BT URAIER I |

V3+/5
V3-V5

3erar/ OR

Rationalise the denominator of

fgard FHeR0T 6x2 +x — 15 =03 o g0 GF & FEIdl ¥ d1d B |
Find the roots of quadratic equation 6x? + x — 15 = 0 using quadratic formula.

& UTEH BT U e 22400 I HT 9adH) U ATl Slelk 12% o™ HHIAT 7 | ATl

SIeR o wWheR fha d wliar or?
By selling a scooter to a customer for ¥ 22400 an auto dealer makes a profit

of 12%. Find the cost price of the scooter.

3erar/ OR

8% dTf¥es &gTel I &R 10,000% WR 2 Y BT dshgly TSl S DN |

Calculate the compound interest on X 10,000 for 2 years at 8% per annum.
P DI R[St 3§ FHBIOT & ATRT dTell Yollg 5 I, T 12 JHI. ofaTs B 5 |
HUT B FdIS S BN |

In a right triangle, the sides containing the right angle are of length 5 cm and

12 cm. Find the length of the hypotenuse.
3erar/ OR
T G D DIV 5:7:7:11 & AU H 2, YD BV Bl AU ST BRI |

The angles of a quadrilateral are in the ratio 5:7:7:11. Find the measure of

each angle.
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918 P BCPR T &I Yoliy 165 1., 143 H. AT 154 H. 2| 39 Wd BT &AB
T B
The sides of a triangular field are 165 m, 143 m and 154 m. Find the area of

the field.

serar/ OR
UEh §% A9 g Joi ot fBear 7 919 39 10 /1§ & AT 9 ol O
&5l I B |
Find the volume and the total surface area of a closed right cylinder whose
radius is 7 m and height is 10 m.
919 APQR H £Q U& |HSIUT By € Ife PR = 25 941, QR =7 941 3R ZRPQ =Q
I, Al tand, cosecd I secOd & A ST I |
R

25 I,
7 .

P Q

In triangle PQR, in figure right angled at Q, PR =25 cm. QR = 7 cm. and
/ZRPQ = Q. Find tan®, cosec6 and sec6.
R

25¢cm Zem

- O
Q
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3erar/ OR

tan260°. cosec?45° + sec245°.sin30° BT AT 1A BT |

Find the value of tan?60°. cosec?45° + sec?45°. sin30°

g20 T Tfipd enidsl & g omaa R 9 IRaRar 984l 9918y |

ElIEEEEID! 4-6 | 6-8 |8-10 [ 10-12 | 12-14 | 14-16 | 16-18 | 18-20
(10,0003 #)
gRIR @I \wr| 25 |20 | 15 | 15 13 7 3 2
Ud Albferc] |

Draw a histogram and a frequency polygon for the following grouped data.

Annual income | 4-6 | 6-8 | 8-10 | 10-12 | 12-14 | 14-16 | 16-18 | 18-20
in¥ 10,000
No. of familiesin | 25 | 20 | 15 15 13 7 3 2
a locality
3rerar / OR
=1 sl @ forg gve a1 918y |
IR (fpam. #) 71891011 12|15
Hdl B SIHRAT oI A=A (45|78 | 5| 4|3
Draw the bar graph for the following data.
Weight (in kg) 8 1011|1215
No. of basket of apples 57/ 8|5 | 4

[211]0-10
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.21

U.22

T el &1 AR ST N |
xi : 5 9 13 17 22 25
fi . 3512 8 7 5

Find the mean of the following data.
xi 5 9 13 17 22 25

fi . 3512 8 7 5
st/ OR

IfE 3 goY dor1 4 Rl U HemhR & forw S R dhael U 81 gcamel g
ST 8, A1 UTfddr ST d_l —
(i) TP YoY & gI S DI
(i) TH B D g A Bl
3 males and 4 females appear for an interview, of which one candidate is to
be selected. Find the probability of selection of a -

(i)  Male candidate

(i) Female candidate

fr IHexoT e &7 ufeemue gRT AR &7 faf ¥ g8 HIfTe |

X—2y=7

3x+y=2385

Solve the following system of equation by elimination by substitution.
X—2y=7

3x+y=235

[211]0-10 Page 13 of 16
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.23

U.24

3rerar / OR
T FHIAR S0 BT BT Ug I O GANT UK 4 T | G UIH g T Aaw<i
ST T |
The 6™ term of an A.P. is zero and the 2" term is 4. Find the first term and the
common difference.
Uh FHIR Iyl HI TEEl HIfog [ AB = 4 I AD = 3 9L dern
«DAB = 60°

To construct a parallelogram when AB = 4 cm, AD = 3 cm and ZDAB = 60°

3rerar / OR
T WIEGUE 5 I, FdT iy g9 2:3 & o7dRe Irurd H faqiiora eIt <=t
9RT T AUY | T=7 & =Ror A1 forlkag |

Draw a line segment 5 cm long. Divide it internally in the ratio 2:3. Measure

each part also write the steps of construction.

T AAAGHS! BT B S DI [TFdT U f[aH0l 12 7. qr 9o 10 T,
=

Find the area of a rhombus, one of whose diagonals is 12 cm and the side is
10 cm.

3rerar / OR
Qe el foaa! 3T 10.5 37, € BT IS &3hdl oM AT A BIfolg |

Find the surface area and the volume of a sphere of radius 10.5 cm.
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925 fyg PR 22 = (secA — tanA)?

1+sinA

Prove that

1-sinA
1+si

nA

(secA — tanA)?

3erar/ OR

U daad s9el AB U% &fid a1 W @l 8| U@ g P, ol sie & uig fdg &

200 e BT T W &, Y BT LAPB = 30° 91T B, Sigl fdg A 3 &1 €y fdg

2| S0 P Fale AB SId SBIfTY |

A vertical flagstaff AB stands on a horizontal plane. At a point P, which is

200 m away from its foot, the top of the flagstaff makes an angle APB = 30°,

where A is the top of the flagstaff. Find the length AB of the flagstaff.

g26 [ @i Nl &1 ARY ST DI —

it 0-10

10-20

20-30 | 30-40 | 40-50 | 50-60 | 60-70

Find the mean of the following grouped data.

Classes

0-10

10-20

20-30 | 30-40 | 40-50 | 50-60 | 60-70

Frequencies

[211]0-10
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3erar/ OR

forelt faemera &1 e IX & 30 faenfeial & 9R &1 dea o far 81 ordel &

forv ve g o 9918v |

T | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | AT

FRERAT 3 7 12 5 3 30

The following is the frequency distribution of weights of 30 students of class

IX of a school. Draw a histogram to represent the data.

Classes | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | Total

Frequency 3 7 12 5 3 30
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% Y& DI F=AT ¢ 10

TS whel TNieT, famR—2021

3eel SR
212
fawa : fasm=
Subject: SCIENCE

91 () DR (Kelvin)

(i) 3 (Three)

(i) smaRafda <&ar g |

(iv) e afe (Homo Sapiens)

(v) = (Two)
I2 el fddeu —

(i) (b) drs (Pond)

(i) (o) 10 (Ten)

(i) (o) 499 U A (499 light second)

(iv) (d) ABCD

(v) (a) & &R 21 (less)
I3 WE Sl —

(i) golag (d) v

(i) <19 (e) N/m?

(iii) SIS (a) werfhirat

(iv) wTgremitgar (b) Fuit TE

(v) STUE (c) omiwe

[212]-0-10
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3.4

3.5

3.5

3.6

3.6

U g H IR —

() 1000 cm?

(iy T — A IR gRT SHIS AT H TI /U T8 DI AT P & |

(i) — 40 (Minus 40)

(iv) S TPR (TR, STERE)

(v) Tl 8 & aRi 3R U MREa el § gHar gor Wielid fUs SUUg dEardn
=

Bl A1 &1 AU g3 98 IS §F 8l & Sl Udd dcd & URATIRT B

3MUETh HRT BT FRATH ITUTT TSR BT & |

RURES AT ¥
H20 H20
C2Hs CHs

31erar

RIS — U @ & ORATY] 5@ qRATY] RTa IRHTY] |&m §91 URg URAT]

IR I BId & THRATS FHead ¢ |

Sal —  H @ssoF) & o9 wwenfie @ 2 1H @femw) 2H (sgeRam)
1H (rERrm)

Arre o # ugaa et = 52—

(i) =T BT URR (HfcxrE dEe CaCos)
(i) gRre QegfET Al0s + faferaT Sioz)

(i) = (CaSOs.2H20)
SIZEI
WRER AT UR™ BT IUANT —
(i) <21 sl B ST B oy WReR RS 99 H |
(i) AR, TP TRy o T F

[212]-0-10 Page 2 of 10
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3.7

3.7

3.8

3.8

3.9

3.9

3.10

ARAed H U= @ H&AT MG 7 S 39 UBR 7, g8, Y, Yedl, He, gewfa, o,
P, TG |
SIEI

THTe Y — g8 g8 W & Sl I BT YBRT U g9 § TF BRI © YD g9 Hyardl
g |
g8 IS a1 T4 AT & o1 Ul Ay Reafd & QM1 SR a9 Wiy &1 faen

@ F9ad HUT BRI B | ITIURT TR Byl B |
3Fera
A @fad & forg ster IR 20Hz | 20,000Hz Xft 7|
gl —v=0,u=25ms', t=20sec. = a="?
FAGRO H A @ W v= U+at
0=25+2.0 X a.

or =-2.0 = 25a.
a= i—s = 12.5ms™?
Ans. a=-125ms?
SREI

JAd ] 301 FIRTATERRIT J1erdT ERel N1 H UHHAN (A B (el § a9 ddb a+1
JEdl § 919 T Dls SAGIOIT dc1 SU IAD] AT H gRIdT & folg areg 9 |

e BT A BT 9UH F9H e 2|

oS & MR A= TR R @M IR ORI & Gdell &I Tah sael & w9

ST STl & | O W1 #j%ell HEd € | WE HWdl Sed A odhr SUHIE db
el FHoll [Qemrt o1 yfesl € |

ol HAd

I ST

fgcias SuHTaT
(@ siEer |
ol JadTe)
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3.10

3.1

3.1

3.12

3.12

SAAdT

Ue BT A G CoHensz BT & TAH N Ued Y] H I URATRAT Bl H=T
g Yo T el H-

n=1 —  CHas (/ieF)

n=2 —  CoHe (@2M)

(1) PVC — urelifaigel deRiss (P.V.C) &1 fa9gd deiRige CH2 = CH.Cl Udhad

A R ST 2 |
(2) dfcliefi — T dgad & R Ui (CH2 = CH2) & 991 ST 2
(3) ddersc — 9% S B BiATA (CeHsOH) a wfesggs (HCHO) &1 sifafshan

RECRICIRSISIES

SIEI
AR a9 & A JHTa—
(i) f&= il /RRRI &1 fUgeET 3R 998 &I |dg & HUR 3o |

(i) AEE-Ufawdl @ U | 9fI=arh 7w qh |

(i) 3% AR ® ATIEY 19 gl & i &3l BT ST 8 T |
THel () & g foa—

SR
%. | faer™= | & | I &7
(1) | A ey AT G 3R A 8 Sl © |
(2)| D Raed A &1 9reR Mder, faed efgat
(3) | B1 R — & | FaAD H oI dA IRR H TA BT YhS BT
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3.13

3.13

3.14

YD 3Te] A — “dqcdl & RIS TAT Al 0T I YA SHHidh & IMIT
B BId © |
frereaTs —
(1) UZT 3 W BICT JATa< 8IAT & IR 399 dadd 2 & dd 8 3 |
(H 3R He)
(2) TR R FRR AT BT BIS 3T HEd 2 AR YAP § 8 T &8I & |
(3) = 3R U afext @id aact B € IR U—AF H 18 I B T |

3rerar

AEAASID 98 — 98 ARG 99 S T AT QT 3 37D UWRAT] & A Soldg ™ D
AEERT A §907 & Aol 98 el ¢ |

I & oy BISSISA Y] BT g1

” .H%H ’
Luqom Teddiold 99

77 &fo7 TIferefiel PR BT 3977 48 HR od & S &1 A BR DI (A 4 B Tl
g IId § PR Pl [T T 961 & HRT G4 8 ST 2 O/ 99 HEd © | I8 a9
S I aegelt B IEd Ade & S A BT ¥ S URER U g | 9Tsd
gl

YU & AT

(1) I8 BRI qAT G S T H FSTIAT DRAT ¢ |

(2) I8 g™ H BARI HERIAT ST § |

(3) YU & BRI Bl & A I Tl UK © AT HRTST 1a] TS W forg Ul
=l
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SZEL
MBS BT RIgid — "9 DIy Uvs fBAl 5a ¥ AifRp wU ¥ Aqar Yoia: gar
ST 7, Al S9d IR H AR 41 8 9Kl 2, S 99 9% §RT Refd g9 & 9R
% IR BT B |
ST —
(i) TG BT ARAT — A9 AT A avg &1 R W B | dor1 axq g7 favenfid ga

3.14

AT TRA BT AR W © dd I8 AP 3frar qoia: gdl axg il | 5/d W = w 37eran

W<w &l
(i) e a%g @71 UfAE B S B B fofy |
315 O] Qd T H JelAT—
Ed a1 e
(1) ara=en gr] § WM AoEE TR Y A SRl 3, 9 3R I
31 BIdl & URT 379dla # B oA 7 Y GG AIHH W
I a7 il aRd B 2 |
(2) = Y T B B Y T T8l B B
(3) oifarse I gRIIY IifdAge 91 & I iy SifaIgs 991 § |
@ UBT S Ad D T &R <d 2
(4) TESES Y EESIOF B AR By Y ETSSOE > AT ReR Iffass
Affs & e a1 R 99 2
IR gsSIgS a9 2 |
SREI
F15 ol Bl HEA—
e
m)//: ;6 i:f\«;@ ‘(, ‘-C‘ )
a% qoan T
[212]-0-10 Page 6 of 10



F16  UIGY ST & QRO TH & cleTu—
(i) I g 9y B 2, fH 99 g9 & wall & 3fex 98 B 2
(i) el Tw v fafdre oFT B e =R SR H1ST ST UTg T 2 |

(i) T & NR TH Yor & AI—A1T NYUHR SEGH B 9] S E |
(iv) TP 9197 arel SR TH BT U dIofUsl dad © ofd 91, AddT 3R a1ad |

SAAdT

846 SIw DIRNBT BT ATHifba e —

847 (1) BRa wifd — eRa HIfT v I=a I[oreh arel dio1, RIS SdRe T T8
farg JmeTRd S Ired &1 g 7419 ufshar off e gRT RA™ iy 4

TRATHS TRIAT ™ &1 WA fhar T |

() SN =i, G, IRGT TAT BISHAN DI IH Tl ISRT B |

(i) 99 R 9 IR Afdd ueE oxd @ fory =g wd wifda aRaremait & |

(i) A AR TART B 5 I, BIsdh, URET IR I ISR arell fdhi

& U @ oy orgau iR fawmra weemsit @ |

(2) ugued — A= @1 g8 WA S UTelq ugsl B AR gonforl iR Sy

JBCR JUTE TAT A ofF & YT W He T[T © U e © | g
o grel Uy, W9 AT €T o drel Uy |

SAAdT
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3.17

3.18

3.18

I B IUTE I~ BIA &b Wb —

(1) qa1 @ [T — I8 te Fecgel i § S 98T &1 g 991 | 788 Bl ©
3R 3% QUSRS IR argAy gl 2|

(2) 99 SUAR — I W Ged SIIAl gRT BHT MM 9§ 8 91T & IE diell |
SIS ST aTell Baet Y A0 81 81fT | saforv fham el &1 R a1 vaeH
S IR ST BT SYARIA R § |

(3) 9 TN H TINT SR ARG BT @I |

g — B9 94 & fb BRAgSe dmuhd O°F &Y 3uer 32°F & 3R 81 & A il &)

fgdi® & S <M1 AMUspAl & AO—fawg HAer 100°F T 212°F ©) 81 2 |

9 UBR — F AMSHH & 180 3797 ¢ AMUHHA & 100 3id & AAGST o | 31 F AMhA

BT 1 3% = 100/180 ¢ A1UHH & 37 Ifq F AMYHA R ursAqia! F & a1 f{Hid & HW

3T @1 AT = F — 32
F-32 C

AN = —— = —
180 100

F-32 C
Or =

9

5
JEI F AT A ¢ AT9hH & Uredid! & folg
F=100
c =§ (100 — 32) = 2 = 37.78°C &1l &
Or 37.8°C

SIEI
BT BT WA — “fhedl Fdg R IS drell YoTel fdoll & a9« dles &1 ufha
BT BT BT RGP & |
(i) YD BT IR BT Yo 9 — aafcrd fdh=or uRrafda fB=or qe smuas fag
R G T ifield I Ud & 9 H B g
(i) ORTEAT @7 fgdg 98 — 3ud ®IvT UG URTadT HIv §_ER 8 & |
Ifa Li= zr

. T
arafer ! wRTafd
fopvoT faer

Zi| Zr
| |
IR gYIT
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319  yfaadt a1t @ fanfaf— TRk # U= 9ga A Ay gkl @ S dawrd B 7 QiR (5)
ITIHT BT ARTSD & AEgH I Te] BIdT & | AT gfeharail 1 ufdad! fhar #ed € |
gfcraci! fehamatl @1 R0 H¥RSY] §RT BIAT © Sal. & oY D A UR TSl I
ST W B9 Uid 31Ud ofd © IS H gs gH S UR 3l T &g I B, O R
BRI BT FCH 9 WY GiF od B
d: gadladr fohar SEuT & ufd dis W U dicpifold WO o Ud Aif3d
arforar Bt 8 fraT Fgavr #ovos] 9 81T € 49 & aRaw grr|

SAAdT

319 fE—

IR T idT egzmv;?ﬂ‘%

WG] AT AT
froT /]\

'H_s‘ouﬁ H\__ )
&4, 7 /

ey ' 5 S L/

| é‘
ITE - ( S e G
FTEeE I, 5

N gty T
S )

pos

.20 AhTHEG AT SEAL G (5)
(1) T ST Ghfad Afdd (1) Ud dopHd Aafdd F §aRl ddb a8l
d TR H BoAd 7 heral
(2) fawry Shaw] ®waw, (2) A MY ST TE BT 2|
PA, UICSiRT e
@ HPHHUT H BT 2 |
(3) F{B Sal T "ARA (3) I IT AER MG F B FHd @
GART g qAURD ]9, BMIMI 3ger, Ueloll amfe @
PRI & Fohd ©
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SIEI
S20 B — M & RIeT® (TS TAT §97d) INR BT g9 DI ARING AT BT TfoReT

(EpT) PEd B |
SrepT &M fhy 7T IFTT0] B | 99 F TR | Ja9 - § df 0 & Raars qNiR®

gfeRre fIsRia wx o 2 feg T et 7 o 7 |
A &l & M gd iR G-

g CiEal BINNERIEIEIN]
2-6 8w .+ S RRICED
3-12 78 oA A ' @ | fefiRar, @en @,
EEal IEERARERN
8-24 778 N A () | iR, @l @Rk,
giferar (X San) | feeaw |
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HA T DI HE=T : 20 HA TSI B =T : 08
Total No. of Questions: 20 Total No. of Pages: 08

I 1 03 HUS
Time: 03 Hours

BIS Whol e, faawar—2021
212
favg : fagm=
Subject : SCIENCE

(Hindi & English Versions)
quiies : 075

Maximum Marks: 075

e —

(i)
(ii)

(iii)
(iv)
(v)

(vi)
(vii)

& goT ifart &/

Fo7 HH 1 H 4 TF GEGTO FIT &/ FAB HET P [0 5X1=5 &
fRiRa & o 3% 5x4=20 &/

J7 FHIB 5 & 20 TPB IRF fAHeq -7 T3 &/

T&T HHH 5 F 8 GF T TG FANT HIT & T HHT FATHT 20 < &/

Jo7 FHE 9 W 12 T% T FANT F97 & Tk HH TTHT 50 I &/

F7 FHIF 13 & 17 TF T1H FT0T J97 & 7 HAAT ATHT 75 7 &/

T FHHIE 18 F 20 TF f7 N ST g7 & 7 G TTHT 120 T &/

(vii)) FRF F97 & o7 S19IeT 3d G7% g JHiFd &/

(ix)

SITHITIFIIN w20 q Al 7 7157/

Instructions :-

[212]0-10

(i)
(i)

(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

All question are compulsory.

Questions Nos. 1 to 4 are objective type. Each question carries 5x1=5 marks. Total
marks are 5x4=20.

Internal options are given in question Nos. 5 to 20.

Question Nos. 5 to 8 are very short answer question. Word limit about 20 words each.
Question Nos. 9 to 12 are short answer question. Word limit 50 words.

Question Nos. 13 to 17 are long answer question. Word limit about 75 words.
Question Nos. 18 to 20 are long answer question. Word limits about 120 words each.
Mark of each question are indicated against it.

Draw neat and clean labelled diagram wherever required.
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g1 Raa = o gid sy —

() TTT BT Sl ATTD oo =l

(i) H2O T H oo TRHAT] B |

(i) 0°C WR B % Bl TH B TR SHBT AT .ooo BICT T |
(iv) AT BT TSADB AT e =

(V) B TR oo UHR B BT 3 |

Fill in the blanks -

i) S.l.unit of temperatureis .........cocociiiiiiiiiiii

i)  H20 molecule have .......................... numbers of atom.

iv) Scientific name of Humanis .....................

(
(
(iii)  When at 0°C solid ice is heated then the temperature is
(
(

v) Mechanical waves are of .................. types.

g2 w8 fdeoey gy —
() f=faRea § 9 @9 @1 S.I. 9=6 &l 87

(@) #rex (b) dis
(c) faeirm (d) Wavg
(i) AR Rpa geragte &2
(@) 9 (b) 10
© 11 d) 12
(i) 1 weFAed sb1E (AU) 81l @ —
(@) 489 UBI ADHUS (b) 499 UBII HADHUS
(c) 500 UH ADBUS (d) 501 UHR ADBUS

(iv) a9 & F=faRaa 9RT &1 FE—dal ¥ HHF—aT 57
(A) g9% (B) el (C) W (D) AN

(a) BACD (b) DCBA
(c) ABCD (d) ABDC
(V) W1 &1 gorT ¥ fUar @ Sarst @l Mefd (I dR@) § —
(a) @9 Bl (b) 3Tt B
(c) o} B ® (d) oIy ercw BN 2

[212]0-10 Page 2 of 8

(5X1=5)

(5%1=5)



Choose the correct alternative -
(i)  Which of the following is not Sl unit?
(@) Meter (b) Pound
(c) Kilogram (d) Second
(i)  APP* have electrons -
@ 9 (b) 10
(c) 11 (d) 12
(iii) 1 Astronomical Unit (AU) is -
(a) 489 light second (b) 499 light second
(c) 500 light second (d) 501 light second
(iv) The correct sequence of parts of excretory system will be out of
following -
(A) Kidney
(B) Urinary tract
(C) Urethra
(D) Urinary bladder
(@) BACD (b) DCBA
(c) ABCD (d) ABDC
(v) The frequency of tone of father comparable to mother is -
(@) Less (b) More

(c) Equal (d) Very less

[212]0-10 Page 3 of 8



U3 8l Siiel 9918y — (5x1=5)

(3 @)
(i) et (@) wTfRfTal
(i) <& (b) oI UE
(HIERLS (c) oming
(iv) *rgcTaiftgar (d) oT 3w
(v) Suus (e) N/m?
(f) DI
Match the column —
(A) (B)
(i)  Electron (a) Galaxy’s
(i) Pressure (b) Power House
(iii)  Universe (c) Aryabhatta
(iv) Mitochondria (d) Negative charge
(v) Satellite (e) N/m?
(f) Cell
U4 D &/ H IR gy — (5x1=5)

(i) TP ofiex # fbay cm?d 81 &7

(i) =1 @Y gRurr ARTT |

(i) frw I R AT T BRI TT BT 7 Th BT 87

(iv) BB H BIfRET f9oH fhdd TeR & B 2? S = iRay |
(v) SUUE T e 27

Answer in one word/ sentence -
()  How many cm? are in one litre?
i) Define Speed.
i) At what temperature the value of Celsius and Fahrenheit is same.

(
(
(iv) How many types of cell division takes place in cell? Name them.
(

v) What are Satellite?
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U5

U6

7

us

U9

=T & Fargurdl g3 feiag HzO a CaHe.

Write the empirical formula of the following H20 and CzHe.
3rerar/ OR

AT BT gRHATST fRay Td Teh Semevor iy |

Define isotopes and give one example.

A & i § uygad 819 dTel ygE varell & A oIy |

Name the main substances used in manufacturing of cement.
3rerar/ OR

ISR A URA & PIg a1 SuANT oIl |

Write any 2 uses of Plaster of Paris.

AR 7Usd & U8l b A faRau |

Write the names of planets of solar system.

3erar/ OR

gTer ay &1 R faRag |
Define light year.

IR T b FEd 2°
What are transverse waves?

3erar/ OR
A Afdd @ forg s/er o= R’ By 27
What is the audible range in human?
TH SR BN YRS T 25ms™ | 9% o R &7 2.0 H 36 IR 8| BR &
TRT fheAT &7
A car has an initial velocity of 25ms™'. The brakes are applied and the car
stop in 2.0s. What is the acceleration of the car?

3rerar/ OR
=ge1 &1 Tf BT uger ¥ fofau |

Write the Newton’s first Law of Motion.

[212]0-10 Page 5 of 8
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9.10

.11

U.12

.13

U.14

e Ed B HEd 8?7 T $RaaT § ol YdIg b1 X@Mes g8 |

What is food chain? Draw a line diagram of energy flow of food chain.

3rerar / OR
Teb BT A A foIRay g g9 g 1 e Al &1 7 9 g3 feifay |

Write General formula of Alkane and write the name and formula of its first

two compounds.

P.V.C., Uiferei9 9 ddbollse & Udbddi & -9 forfRkau |

Write the name of monomers of the following P.V.C., Polythene and Bakelite.
3rerar/ OR

THEAT A9 & A g forRag |

Write three effects of Global Warming.

I (W) BT AT BT Aifha o 991y |
Draw a labelled diagram of structure of stomata.
3rerar / OR
faeiff= A, D, B1 @1 &I 9§ B9 dTel U INT &1 19 9 U vl forfRey |
Write the name and one symptom of disease caused due to deficiency of
vitamin A, D, Bs.
S ande fre ey od Swe <1 fRvarg ffag |
Write Modern Periodic Law and give its two characteristics.
3rerar / OR
HeAdroTe q8 @l g fafay 7 ve Sarever i |
Define covalent bond and give its one example.
TY0T 1 gRATYT Ry Ue 19 o/ SuanT fefag |
What is Friction and write its three advantages/uses?
3rerar / OR
eIt o1 g foiRay g ge JrguanT <y |

State Archimedes Principle and give its one application.
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.15

U.16

U7

T famgall WR T @ T @ ol BIfTY —
)
i)

iii)  3ifeATgS DI Upfd

iv) gBlggss

Compare the metal and non-metal on the following point -
(i) State

(i)  Ductility

(iii) Nature of Oxide

(iv) Hydride

(
(
(
(

3erar/ OR

HoRIA Bl GYET 9915¢ |

Draw the structure of Fullerene.

ey ST & URTIRYH ST & Uredl & aR ofeTor foTRau |

Write the four characteristic of Angiosperm of Plantae Kingdom.

grar/ OR
Teh YTofUeh ST PIABT BT AHifcbel o a1V |

Draw a labelled diagram of typical animal cell.

=1 T THsISy —
(i) gRa wifa
(i) agUTeTd

Explain the following -

(i)  Green revolution (i) Animal husbandry
3rerar/ OR

I HiY IATEH B & ADbl & =RON & A4 folfRay |

Write the names of steps for raising improved agricultural Production.
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.18

.19

Y.20

T gFHIe] H ¥l T &9 &7 urgdid 100°F oI 2, 39 a9 &1 Afedqad § &
UT3ATH BITT?
A thermometer have 100°F of a hot liquid, convert this temperature in
Celsius.

3erar / OR
THTY BT WG 6 ded 87 39 UM g fgara frm a1 fafeag |
What is the reflection of light? State st and 11" rule of Law of Reflection.
yftracdt amg @1 forenfafey foRag |
Write the mechanism of reflex action/arc.

3rerar/ OR
ATq AIGT ST 3T G5 &1 Afed 9oiF #Ifvrg |

Describe the female human reproductive system with diagram.

Hh™EH G IR—FHHH I H PIg A R forkay |
Write any three differences between communicable and non-communicable

diseases.

3rerar / OR
E 1 5? d=di H A dlel DIs A9 bl & AW 9 399 FfoRfed SHRT &1
1 feifg |

What are vaccine? Write the names of any three child vaccine and also name
the disease for which they are protected.
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T JBI DI FE=AT 11

Blg ¥ho Te, faareR—2021

TS IR
213
vy : aEfte fasm™
Subject: SOCIAL SCIENCE

S e fdeed —
(31) 3MoIE® =
@) Hfeferar
(@) e
(%) @ma
(8) ~ryuTe
T2  Rad o —
@) @i
(@ =D AR G
(|) drell
(@) e Pearerd
(8) uPRI HEeAr
93 E SIS —
&) @)
(1) T *g (1) &< do
() WTRW () dceH
(3) e 3R g (3) SERIER
(4) oSIRIEY wifq g gRem @ wiasT (4) ORI Rigid
(5) enfdfe famra & fa= (5) rBaAA IR T
[213]-0-10 Page 1 of 11
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3.4

3.5

3.6

3.6
3.7

3.7

3.8

3.8

/T — (5X1=5)

U Beq /dqTHT — (5X1=5)

)
) e @)
)

SRE
UTEMaH 98 dS T |
e — WA @1 ffcedl # s9Rl |l | I9d! 81 I 2| T & uRumHRasy
fafecal & ST Tedl o <& | Bl &) SdRar & "ged BT & g hEd 2 | @
SREI
SE W 99 9@l @ g7 ST A 2
(1) aRa
(2) ®IE TAT =T S MR \HE
1857 & JMMale & <l =al 7+ g | @)
(1) T ATRe
(2) <t cEsaTE
S2EIE
31 R 9T & AW A 2

(1) IR fad®

(2) AT ITSud g
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3.9

3.9

3.10

3.10

3.1

311

3.12

3.12

T UAP q¥ AFaeR daw 10 AR &1 791 7 |
3rerar
MERT AFATRAGR TART & 3fedel a1 fgfad gufa owar £ |
STl UGNl & HIROT B dTell dHRT —
(1) go
() BUersfew
TITGRUT — YATEROT TTeq W AU BHAN JTAUTH HIo[e 4T dcal, Ulhamall iR gemaii
T I SR el ¥ 2| gAfeR I AR ART AR U S el I b ol
AT & U H gIRAINT fhar o7 Haar 2|
FSWT AWl P fagedg e 2 |
(1) "R AT
2) AT IR eref agawen
(3) & 3R Ewpf
(@i #RA WR i ueH fHy )

2EI
Jfddbdie & &l By —
(1) < & 3fER ARGl IMddBATal BrIdTE!

(2) WYES W Iddhdiq

I Sdl T TRV IR ¢ |

(1) Tl yeiy o eRER 2 |

(2) UP[ H Sigdd g a9 @ H
(38) g USTIfa & Shal @1 GRem & forg
SRE]
HaT A MMM — Ha&T TSl & Ce—he IRIG U F Il & 1T & | gufay
3R Sfig—Tvgail & S el e 1 gad el 81 2|
HaT T AEwd —
(1) AT B Ao, a6 R A Hed MIeIHar @l gif JaT | Bl 2|
(2) ¥ P Bl & TE SUNN BT W IR ¢ |
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3.13

3.13

3.14

3.14

3.15

3.15

SIS ATHT DI ARA H TR B BT IRV S9! Uersll I f[dedkel faudid o |
S99 UR=T @& fo v Rasal @i < fad A o, Isdn, gigars den
FAMAT & ¢ IR 3¢ | Uep IR RIferd 89 IR AR 7 3710 ANBRI & R H
AT Twer foram |

3rerar
STAEANT 3fQTed Bl fHAMI BT ATah FHIT U<l 83lT | ®IF R bl 3 e
gig & RIe® 3f&la by | O BoR fhaml § AR dART A6 I W faRma
geeH | fbar oR el = @ Als S<fora €1 T | S e | gfer
o A o o1 | fH 22 gferd wHl a1 STt MY | $9 "eA | i S 7 12
WREN] 1922 DI JFSANT 3falerd a4 o fora |
AT IMfIBRI BT Few —
(1) w9 PR fdaa & ot faen § 98 2 |
(2) wHT B TR AR Ut B v 3mavI® 2 |
(3) wErl # got e @) MU H AErd ¥ |

e
wifere PR Hewaqul Il — Hiferd AR W e b1 aggwl faer i 2 |
A JHEBR AR DI e @ 3R Gl Siae SiiF & Y 91 2 | I SADR AR
@ 9= wifT &R Aat ghRea oxd 2| Aifad Af¥eR T, Al der '\ &
T BHGR I & Bl BT ST DR © |
Jediapxor o) fagward —
JeIHROT AR AR AT & SRRl &I eavd R dm Yol IR 19 &l 1f®
Ticrefierar ueM aR fawa srRferdwe & IARIAR USSR URhaT & | 39®I e H1d,
JaT, M, Yo &R a1 & fory U iR qoiR ot fmfor aver 2 | dediansor, &l
T g @ <Rl W ORI I BRIGH B W H U AT | R
e 7 59 TSI YT TS 2

e
T g @ Sw — U Qo SRR § fUgs gV o Sl SufdeEe &
RIR o | 3R afdie w5 9 fUss 2| I Rl g1 & <1 A4MT ST & |
T J — AR G & < AT AR R R ARG U =Iraqu i
T BT AN B 8 & | FoTey b 91 deen o &feror & fqeprasiier < wntHr
& A @ | AR e o= 99 | fodl & 1 & o3 9 Fw9s1 oy |
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T.16 RIATS I AMAYHAT — BAA! Bl da & ¢ fARdR F9 &1 Maeghdr 8l & |
AR o DI STTd1g W Bicaey © | gl DR Al &1 agd Al T4 919 g7
I Sl & | o7 3redl Susl & forw Rias &1 smaggear gidl 2 |

(1)
(2)
(3)
4)

aut &1 i

Il BT IRIAT IR0
ST gl

Iyt P 1Y 3rafy & BT

(@l B W 3fd U fhy o)

SAAdT

.16 UREET Ud WER & AEE — [l W <2 B e [ & forg uReasd & Al
&1 fder T8 7| URaed & ARAl & WId, 9, aig uRded & w9 ¥ afiga
fpaT ST 2 | AR & Sl Hetaier e ok @muiRes fhareaml & foy war
& AR SN B MY 7 | IR W IR & REl BT 9gd [9et 8ol 7 | Rl o
Y @) dTARRAT BT FA™ B foy uRaed vd AR & A AgAqU & |

BA7 RGN Gpid o IRy —

(1)
(2)

IRA & Th T9g AHiT 2 |

& AERPIAAT ARG WIHIT AR eRIER BT fAfderdr 3R Wiy gs™ Hral
g

IRA G gRad=eid 2 |

IRa H e wror, wifec, G, Eid Sl WU, Wi 3R g4l § R
& Y& BT & |

SAAdT

TA7 B g YT GREAT H IR —

(1)

[213]-0-10

g H B ST & SNT & © | § Al BT Teb AR & A1Rf Gag g | Al H
UeIRTd fIRIosiar & dad @l U R R R 8d 2| Ma | 9™ g9
gl & |

TERT | FAS B WRURIETE] AET FA Bl off R8T 8 | A & IJAR I8
BT BT DT GG AR TAT I B T 2T & | IgT ANl & Hael o
3R AT 31 81 2 | ¥Rl H ARpla, V&fvres aifiies 9 ARG & S
SARTH BT MY T & TR A ¢ |
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3.18

3.18

3.19

3.19

3.20

3.20

19 41 Trdred] # AfZeTell | AafRd M qRIgdl — 19 91 wdle] b ARd H
Afgerall @ Refd agd <=y o | a1dl fdare 3R ggfdare e waferd o | fawg
ST Aferell ® FHfa &R faRraa &1 IR 8 o1 | Rier # 96 Arfier)
T8 & WER oAt | 25 AT § A SFA sl H |l eI ydferd off | uRaT
g W) Tl H oY |

SI2EIN
AiScded Aol — AT 1947 H YRA & aRRRM d996% Y TS ArSeded o Hid
IR R T & Aamil § ardiex ITdd: Yo Aol a-Ts | < Bl el <1 T3
Afh Ublpd wU H 81 | YR Ae 3R I § Q2 DI g1 &bl AT ULl
DI IS | AR RATFAT BT U AA BT BAA G BRI B ATHR AT 7147 |
AAT AR AR B Bl A9 <7 T8 |
gy fRUeT — o fARUeT g W QIRM © | fiedt o <ur § fafg o9 8fk dor & &
BT a9 BRAT| &F A9d & T wRT U o fRUeT <91 81 I8t 318 WY g Ty
gH T8 B A& 7 | AfduE e i afdd @ et 9 fRd iy a1 e W
IR G TAT IUTFAT B BT JMABGR Y& HRaAl & | IR B Gl IAdH
ARR® & oy anfife wad=ar & gRRed &=ar = |

Jrern
3! ARTR&AT @1 I8 § Y e 2 |
(1) ST B! ARTREGT &I I8 BT YHE a1 & |
(2) TR &7 v TH UHE ORI B |
(3) e & IvE & HRUT G gy iR Sfufavamd ff 99 | 2|
(4) T SRl AMTRGAT & O & FHIOT H TP THE 9T 2 |
TETTHA — TETHA SR &I aRdfad JeT 8l 2 | S9! Fgfad rgafa sean
2| a8 #RURyg &1 AdT BIdT 8| O #RFHed @ dodi &I TSIl Bal 2| I8
WRHR B Nt o iR &xar 21 9o Ieufd & §9 st &1 drd HRal 2 |
T8 Do AHR B Hsidg Bl 2 |

S2EIN
I TR &1 WA — T AR & 9ed U™ 941 §RT g S 2 | ST U
T SR Ud UG BT & | U @ U # SUmens wrf aRar 2 3 uf
A & oY g OIT 2 | Fol Aieh § H 33% Wi Aferail & ol IRIER 8l 7 |
SR ST SR SIenfa & forg +ff WSl & SMReT @) aer 7 |
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3.21

3.21

3.22

3.22

Sl YUY & BRI — IAISd garAdl B STl § s+l 3ffd A H Hel S b

S A WO 3R STelid Sidl & oy 81Me RS 81 SY ST UgNYl HEAN & |

Tl G FS! el |feordi, I IR A7 1 R U$ g ScaTal 3R Al
& fsor ¥ ugfid B 21 O SfEife |, U IR TR Gy — deR | M
USfd BIaT 2 |

SZEI

T ThdT — AP ANTRG § I & Ui Tebdl &1 91T U7 81 | J&T 9ra-7 85
ISR ThaT &Y R of ST | 31a: 8 B8 Fdhd & fh IS Uhal 98 ufdhar g

RrEH 89 ARl H TSR U &1 [ddr 3R MgRer wRd 2| 9Rd U agamdl
JgUTMe 3R Ig9IIT S8 & | 89X Q9 H ISR Tahdl BRI dI 89 89N a1 d
g Ahd T |

AT U — HRIER, HaFAE R Se¥e o §aR UEifia! &) 991 99|

STl 21 39 o Ureifiiel menRa URadw UHiaRor # Aqg @I | < @ 3R

grenfirel = faaRi, R iR ATl der [aretl & 7 a9 &1 8 | AR &1 i H

3EYT ol AT &1 2| 39 YR o1 U] Hifder) aRadi &1 g7 © |

SAAdT

gd Ifed FTa — g4 ARE el a1 THGRT Fadg ¥ et 21 gl ks T ur

g1 Silaq I dRd | D! ffael T YU WX MR oY |

HIRATSA STSIIehT DT R AR AT | ST aga Taall |1 &l Sl off | Sinfer g

Te1 il | Bdlel BT GRIAT ST HEATIT oA | B <dl aadiAl Yol BT STl o | 5=

5% 999 UqQ off |
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F.23 U U BT SR HAHRGT H AT TAT & —
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3.24

3.24

3.25

3.25

AP IIH ERIEX DI RO @ & JI 89 AU WPpIa & URkT FIgTeld © |
U o IR YRIAd Faeqol {7 16+ fam o1 | YR AT 2 |AdeToT
BT AT TS AT | $9 A& §RT R ¥ fAf¥s F9el & 44 iR 3R IR Awpial
@ IR H HEAYU SHSHIRAT SHed! DI T8 | Ball g Fid Whal 14 W G d &
qRIR® WUT BT geTdT SaT | LR WR TR AbIeH RAfud feu 17|

Jeran
STAEIT FAE & WU H — SN 30 Silad bl gEe §94 & A GHR Bl
gfaami &1 faasfia axd & | I, S9R, Geres, drer, nfe T giawmd €
faepfee <ot & A GfGemg yoraar gkl € | 39 gl ®1 f[deRa a9 # urplae
GATIAT BT SUIRT {HAT ST © | A9 AR S 31T H §N GARH $H STAN
e ST & | STEET SR, IUAIT Ud [J@ @ ol &1 qAdT ¥Rt 2 |
SHIfIY I < HT FarH HHEA HFT ST 7 |
R BIST 3MaTed — 1942 &1 (ST 3NaTed 1921 TR 1930 & IMalad o 3MH
qrdl H e o | SHGT &g QU H IR SH HRAT AT| 9 ANT Sl wresdl 9o
Rl & 1 9 B o 9 83T ¥ W T PIAT AT| 1942 B QAT BA
arer @1 I we o fb I SAleiem freiel & forg sff<m wu™ & 3R gafay 9
3O I B Yl & foly 99 B Ifere™ R & folg IR o |

SREIN
firedl & JaR e 8

(1) Sieiig fAed (@) el fed
(3) et faedt (4) eievige facd
(6) udda facdh (6) FoRereiy et

STolig el — Sdlie et &1 fAmio afear grr @18 18 e 9 81 7 | 98 el
BRI, ITRUSY, IR, 1A, IS 3R ToRId # 41§ Wl & | Sfelle fieer #
araet g, T, HUN AR fAdsd o $aa 8rll 2|
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T26 TR UIfTHme & BRI - TR M & bR & R dRal © | AR 3R Ve |
3¢ IfaRad g9 gRT fAararcde &l WY fhy S 2 | 92™ ot & 9a+ f=Hior &1
gy, wren iR fafdhear waell 1 o 81 g o § Ug STt Myfll, AT,
WSl 3R TGN Bl G HIAT| RIFG FShi BT AT BRI HRAT| TRG RITH
HeIT3l §RT TRl IFe SR 7fde e dron ¥ Hefd s fby o & |

SZEL

J26 AT MMM — 9RA H AT G BRI DI IR R Faf=d SRt &-ar
21 39 W Wdd AR e /g HRA BT SR BIAT & | 39H Ub J& g
JRIFT TAT HB AT YA IFAT gRT g by S & | aq 9 H AR
fafem SmarT # e I 9T JMgad I QT Sgad § | AT &l A8 ool o
HRT 2 |
fafe smarT & a1l —

wd=, et iR enf~aquel ga1d Hu= HRIAT |

R fafes d3 @1 firen, fdes ok s e

)
)
(3) RISIHIRI® Tl DI ARIAT ST AT I g g amafed & |
)
)

gA1d & SRM AT, SFIGRT 3R &l &l Ribrgd g |
frafes siraiRal @1 Fgfea & |
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HA T DI G : 26 HA TSI B =T : 08
Total No. of Questions: 26 Total No. of Pages: 08

BIS Thol e, faamar—2021
213
fowa : wmfoe fasm=

Subject: SOCIAL SCIENCE
(Hindi & English Versions)

HAY : 03 HUC quries : 100
Time: 03 Hours Maximum Marks: 100
fader —
(i) & o7 sfard &/
(i) FT797 4 @4 T4 7 B GETAGEE GeHY Fe P FY [y /
(iii) F97 FHE 1 & 5 T TGe 07 A & §AF g7 5 dF F 8/ FoT
5X6=25 3& &/
(iv) o7 HHI% 6 & 26 TF Il [Qeeq 23 T4 &/
(v) T¥7 HHI® 6 & 10 TF T TGITIT F97 &/ SOv B TT A1 30 =7 &/
R Jo7 qv 2 3 Jraied &/
(Vi) F¥7 FHHE 11 @ 14 TF TYIFAIT F99 &/ FAF Fo7 ¥ 3 3F Iaicd &/
IV P TsT AT 75 TT 8/
(vii) Fo7 FHHIF 15 & 21 TF JEGTIT J97 & JAF 97 GV 4 3% 3aied &/ gV
P FIsT T 120 IIT &/
(vii) Fo7 FHHIF 22 & 26 TF FIEHGTIT J97 &/ JAF F97 G¥ 5 3% Jaicd 8/ Jv
P TsT AT 150 TIT &/
(ix) Fo7 HHH 23 BT FY 339 T4 [AREFER 9°a & ¥@T FHE7 ¢ 9157/
Instructions :-
(i)  All questions are compulsory.
(ii) Read the instructions of question paper carefully and write their answers.
(iii) Questions from 1 to 5 are objective type and compulsory. Each question
carries 5 marks. Total marks are 5x5 = 25.
(iv) Questions from 6 to 26 are given internal options.
(v) Questions from 6 to 10 are very short answer type questions. Word limit is 30
words. Each question carries 2 marks.
(vi) Questions from 11 to 14 are short answer type questions. Word limit is 75
words. Each question carries 3 marks.
(vii) Questions from 15 to 21 are long answer type questions. Word limit is 120
words. Each question carries 4 marks.
(viii) Questions from 22 to 26 are long answer type questions. Word limit is 150
words. Each question carries 5 marks.
(ix) Question 23 should be indicated on the outline map of India as directed.

[213]o-10
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91 el fdbey gaex fofgu —

)

@)

)

THTHYYT & 7 &1 yfured fhee fhar?

(i) sMgod =g (i) DUeR
(i) PTRFEE (iv) wadew
A &1 faw™ feae fear?

() DUeR (i) Aerfera
(i) =g (iv) =
IR 9RT & FI ofdl T g —

(i) oo (i) @
iii) T (iv) Tirera
HR SR Bal BT d1d a7?

() T (i) domg
(iii)  <TTe (iv) =R
THEA BT YA DI Har 2?

(i) <rgufa (i) foeITTa™T BT 3rege

(ill) ST TSI BT G FRTE  (iv)  oguTed

Choose the correct option and write -

(@)

(b)

[213]o-10

Who formulated the law of gravitation?

(i) Isaac Newton (i) Kepler
(iii) Copernicus (iv) Servetus
Who developed the Telescope?

(i) Kepler (i)  Galileo
(i)  Newton (iv) Harvey
Which is the longest river of peninsular India?

(i)  Krishna (i)  Kaveri
(i) Narmada (iv) Godavari
Mir Jafar was the Nawab of -

(i)  Mysore (i)  Punjab
(i) Bengal (iv) Berar

Who appoints the Chief Minister of a state?
i) President

i) Speaker of the Legislative Assembly
i) Chief Justice of the High Court

iv) Governor

~ A~~~
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Uz

U3

Raa et @1 gfitf g —

(& I B R e K B 2 S L R H oo o |
() I <31 A 7'M fafecas o |
G NI L= LTI A 19T # forar |
ORI IC ARSI L1 L A SRT U9 BT T8 |
(€ VS W o &1 ufbar 9 G Rpeot § e Ry Sott At e ¥
Fill in the blanks -

(a) Society in Bronze age civilizations was divided into..........cccccccevvveeeennnnn.
(D) AN L. were great physicians.
(c) Buddhist literature was written in........c.cccccoeeiiiiniiiniiiie language.
(d) Permanent settlement was introduced by..............ccooeeiiiiiiiiiiie
(e) Plants produce their own energy by the process of.........ccceeeieiiiiiiienn.

from the sun rays.

RESISECRIFIGES

3 q
(1) ¥ g (1) SRR
(2) TR (2) SRR Rigid
(3) <rET iR ¥ (3) &= U=
(4) SIS wifd g Jrewm &l Uiedred (4)  SAihdd R 7
(5) onfdid fawm & fo=r (5) TccH
Match the following -

A B

(1) Cold weather season (1) Jamshedpur
(2) Marble (2) International principles
(3) Iron and steel (3) Basant Panchami
(4) Promotion of international (4) Democracy will be incomplete

peace and security
(5) Without economic equality (5) Rock

[213]0-10 Page 3 of 8
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g4 frEfaRad § 9@ /e9@ 9a”y — (5x1=5)
(31) ToRErEN qui H W SARHIe 7 YefRue I BT gred fhar o
@ S faene fem @1 i Al & srEawrel W ger 7 |

(@) @R TaFE @ favard o 6 gvar &1 uifd @ foy qRifgdl @1 Hegwerdr
3NID 2 |

() dIfS ArScded 1947 W YRd & qIIERI §4 |

(3) UIhldd HARMl T HER M & |

State true/false in the following -

(@) Most of the newly independent countries followed the policy of
non-alignment.

(b) The northern great plain has been formed due to materials brought by
rivers.

(c) Swami Dayanand believed in the importance of priests in having access
to god.

(d) Lord Mountbatten became the Viceroy of India in 1947.

(e) The stock of natural resources is unlimited.

U5 U ¥ IT I H IR S — (5X1=5)
(@) I 1 [ ugd (H arg b1 WA fear?

(@) orveAM 3R MR gy |9E Fal Rerd &7

(d) 3FUS B ARGRY YT 6 91T TAT?
(@) YRd H MRS 7 AdYH AAIE BT WANT Hal fhar?
(3) oMud AR § R fager N BT vHAE T ded 31 27

Write the answer in one word/sentence -

a) Which was the first metal used by human beings?

(

(b)  Where do Andaman and Nicobar islands situated?

(¢) When was English made the Official Language?

(d)  Where did Gandhiji first experimented with Satyagraha in India?

(e) What in your view is the single most important goal of India’s foreign

policy?
[213]0-10 Page 4 of 8



U6

ur

us

.9

.10

Y11

12

IRT H Y AR IRl & a1 Wl & 99 qarsy |

Name two sites of the Harappan civilization in India.

3rerar / OR
YA 98 HIar 87
Which is the earliest Veda?
e fhd ®ed §7
What is soil exhaustion?
3rerar / OR

S 9 91 99 @ Pl &l SYANT Jarsy |
Name any two uses of Jute textile.

1857 @ 3Malad & &I =Rl & A9 ddrsy |

Mention names of any two leaders of the revolt of 1857.

STQTCHZOR
TRGAT T Adeh & A forar |

Name two extremist leaders.
B9 JAh IY AFdIOAR fead be d91d 27
When do we celebrate Human Rights Day every year?

STQTCHZOR
M AFATIGR IMRANT & 37edel &1 Fgfdq o aoxar &7

Who appoints the Chairman of the National Human Rights Commission?
STl UGNl & HIRYI B dTell dig &l dHEMRAl & M faRag |

Write the names of any two diseases caused by water pollution.

gerar/ OR

TgTaRoT T 27

What is Environment?

TSW FRIAT & G faRivyarg @ ofi?

What were the important features of Harappan Civilization?
3erar/ OR

NMAHATE & |1 w4l BT 7@l DI |

Discuss two forms of terrorism.

I Sl BT ARETT FAl AATAD 27

Why is conservation of wildlife important?
3erar/ OR

7T fd @ed €2 799 @ folv g9 I #egwd 9amsy |

What is soil? State its two importance for humans.
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.13

U.14

.15

.16

17

U.18

U/ greared et ° IR AqHT S § S FerIdl bI?

How did Western education help in generating National consciousness?

3rerar / OR

5 g & 918 TN STl a9 o foram Tr?

Which event led to the withdrawal of the Non-cooperation Movement?
AG ABRI BT Hewg I8 |

Explain the importance of Human Rights.

3erar/ OR
Ao iR TR g @ Tecaget £
Why are Fundamental Rights important for us?
JediepRor @ g faRdrelt @1 Herg # auie iR |

Briefly describe the major characteristics of Globalization.

3erar/ OR
Al g & QT fhe T T 27 S g AR a1 © 7
Who are referred to as the Third World countries? What are their main
demands?
RiTTs &l 3Mdea® 8?2 9Rd d Riars & b5l IR BRON BT 9o BT |
Why is irrigation necessary? Describe any four causes of irrigation in India.

gerar/ OR

gRaE IR HaR & fAf= ARl BF S B R BF S @1 Tl Hel STl
2?

Why has the means of transport and communication been called the lifelines
of the economy of the country?

IR WPl &) e faRvarg @ 8?

What are the main characteristics of Indian culture?

3rerar / OR
IS G THIOT AREAT # 3R o |
Differentiate between Rural and Urban social structure.
1941 wrared] H ARl W GO qwd AMIfoie qRIgal B ARAT DN |

Explain the major social evils related to women in the 19" century.

3rerar / OR

qracded IrotAr T ofi?
What was the Mountbatten Plan?

[213]0-10 Page 6 of 8
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.19

Y.20

.21

U.22

U.23

gHRYET IS ¥ SMYBT RIT T 82 &1 3T AMd & b IRT Udh & fARUet I
=

What do you mean by a secular state? Do you think that India is a secular
state?

3erar/ OR
3T ANTREGAT BT (8 B DA UHE a1y 272
What are the major hindrances in the way of good citizenship?
TETTHAT B YT Bl 87 S (Bl &l BT DI ARAT BT |

How is Prime Minister appointed? Explain any two functions of a Prime
Minister.

3rerar / OR

U GATId DI T TR YHTI SIfeTv |

Throw light on the composition of Gram Panchayat.
ol UGHUT & FIT HIRT 52

What are the causes of water pollution?

3rerar / OR
MR UHdT B9IRT =& e Tl 57

Why is National Integration one of our important goals?

AT WD = IIHR01 Bl Ufhar & by dRE A di?

How information technology helped the process of Globalization?

3erar/ OR
qq dfes mal & AT, d1fie iR 3Mfefe S T 9o o |

Describe the social, religious and economic life of the early Vedic people.

U v yRd & ISR qHfad § A=faRad &1 geisy —

(i) T AT (i) &= werrR (i) oIS
(iv) e s (V) ST D G

Show the following on the outline map of India -

(1) The Ganga River  (2) Indian Ocean (3) Chennai
(4) Chilika Lake (5) Bay of Bengal

[213]0-10 Page 7 of 8
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U.24

.25

.26

3rerar / OR
feT U 4R & WHrGR At § FAEfefad @ quigy -
(1) #erTg (2) foeeh (3) @ ¥
(4) <& @I UoR (5) f2HTe™ udd

Show the following on the outline map of India -
(1) Maharashtra (2) Delhi (3) Tropic of Cancer

(4) Deccan Plateau (5) The Himalaya Mountain
ART WRBR §RT HpIAd ERIER BT GRIET W& & foly I3 TY HaAl bl <=

PN |

Discuss the steps taken by the Government of India to promote and preserve

the rich cultural heritage in India.

gerar / OR

ST BT < BT T g8 GAT R Hal Sl 27

Why population is called the biggest resource of the country?

YR BISl Al BT I BT |
Explain the ‘Quit India’ Movement.
3rerar / OR
YRA H U5 ST dTell ©: UhR &I a1l & M Jarsy | TA1 599 9 fH T JhR
BT fagd faaRor BIfSTy |
Name six types of soils found in India. Describe any one of these in detalil.
TRUIfIRT & sl UTa BT BT Sooid HIFY |
Discuss any five functions of Municipalities.

AT / OR
IRA H A T BRE D IR 6 G R 8| §9& 769 AR Bl BT

faavor fSTT |

Which authority in India is responsible for conducting Elections? Describe its

composition and functions.
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G Y B F=AT : 08

B3 ¥hd Te, faavaR—2021

eI TR

214
Qg : e

Subject: ECONOMICS

3.1 Tl ¥ ¥R —

3.2 a9 /3 ferRaw —

I3 WA ISl 9918 —

S4 el fabey geex forfay —

(1) 2

@) SwRIad 9
(|) WRdR

(%) SieRIS SR
(3) omicet 1988

Page 1 of 8
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3.5

3.6

3.6

3.7

3.7

3.8

3.8

3.9

3.9

3.10

T eq /Ueh g H TR —

sreferaver a8 UgfT &, fTad SR &g oISl 37U+ TSN IdT HHIT & |
SELl

CNE)

(|) 1947
(@) ¥9d 9% WK BT G e AN Bl gad B 3fad R 3 |
Q) Rt = S
ST
I1F famar & ueR —
() SE® Ad fama (i) weuadt ofid fasmar

Sl

e afad a1 =faaal &1 |qg a1 G 8l 8, o1 fodl M W) a*gy wd
HaATY U BRI ¢ |
a1 GfAEreR! vd e ad avgell & Tm —
ISR U Zenfas
Jeran

ol AAIHARN & A — I, I8 3R AN |

ITEA BT 31 5— (Bl a%g BT g9 @1 ufhar H§ IGH IUIINAT I~ HRAT |
Jrerar

IS UM & IENT A TART A9y 39 AN ¥ 7, o9 /e Yol faer ¢ 99

R fHar ST 7 |

FHTSTaTS] Jifegawer &1 e —

() @R R (i) fwEamt ® o9

Jrerar
Uoiaral sreferawer &1 faemang —

(i) i Hufr (i) BEM DI TG
YTeishIehROT —

BB T UfhaT 2, FoTdd gRT SUANT fhy &1 g& Y G &l 3Fdh IR
STANT AT ST FHhdT 2 | SIMERY — FAMR U3 9T Ble die SeT J YA 8

Tl BTG YAdshldd BT B |
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3.10

311

3.1

3.12

312

3.13

3.13

3.14

3.14

31
ST I —
STl UguU &1 3 Ul H VH Sl BT O BT 8, O SEa wifdd der
RIS AeToll H gRad 8 3R g+l U s | <8 |
ATERAT —
U Ffqa, ST foesl W w7 # ug a7 forg Adhar €, AeR SHEdn ¢ |
Jrerar

gfd aafdd s &1 31t —
gfe SAfad M BT ATAF I BT ISR 3T BT ol STRRAT H HRT IR IR
ST 2 |

IRIET FaRAT b T —
(i) vde uRasa (i) STl uRasA (i) arg aReed
Jerar
faaRor @1 gfshar &1 g9Ifdd &= aTel HRB —
() g wfda (i) dOIR B GG (i) ¥SR IR IAqBT U&eH

ol &R Aresie awqu —
et w@rficg ol 81 v 52 Se @Ml €1 W@ AN BRd 8, S 84 ol
XU PEd © | O TSI, U
Frerar
e IUART IR SEMART aw/gu —
Uehel SYARTT ¥y ¥ €, ST 89 U & IR SN &R Fhd 8 | ORI DIed],
diot anfe |
A difoR & 9™ —
() Fifear dmr drom
(i) <rgaErde ufavem T
(i) <A e I — AHIRTS GRET AToTT
Ferar

T | I —
AT BT B UThIAd AT AR HRDI H FHIAT BN BT 4RUTS B & ARIH D
® # aRWIT R Fhd 2|
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3.15

3.15

3.16

3.16

317

317

apraeiel <o @1 fawrang — (3%1=3)

(i) 37 <= A IfyHIY AN B A 98T HA BN 2|

(i) SUANT QIR Sfad W 9gd 7= 8T 2 |

(i) P T ISR 2, SARIAR 319 AT §899 o1l 8l & |
Jeran

famRra <91 @t fagmany —

(i) T B AT AP BN B

(i) AFTR® ST &R Sia U= & Sod WIRT BT IS ofd 2 |
(i) TI=TH dEnfrer BT TEET BT §

RECINESHINIRCANENERIYES (3x1=3)
(i) WRo® o
(i) el FEwIdn
(i) ATHAIHB T R AAMTDBR B FHAT |
Jrerar
ARG 3fefergwer & faemarng —

(i) SN e sreferaRen

(i) G- BT <41

(i) wENfTeT &1 7 wwR

oY SN BT AT — )
(i) ISR BT ARH

(i) fafa § areE

(i) SmITd W HH fRar

(iv) <=1 @1 anfdfes ERa & forg faery Suar |
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3.18

3.18

3.19

3.19

3.20

3.20

SEL

() onffe ud IR anfefe smasamant

(i) <afdra iR AHfed maTadhan

(iii)  erfrard, graaw iR faeryar @ srawaean
Jerar

raTgdHarRt @ faereany —
(i) 3maTHAN AT Bl 2 |
(i) TPH AMITIHAT B Afe AT B |
(i) EB AR TR—IR IFTH B T |
(iv) Smasadmansi o fafderdarget ueh |
RIHR doTR —
ST IIoR BT &3 Yeb I i AT 2R BT 7, A 39 IR qIoiR HEd & |
e gIoTR —
9 ol SR fashar U IoiR & H fhareie 81§, s ofavia 9gd 9 7ia &8
I A MM E, A S & oIk FEd & |

SREI
I IR — 9 {6l 9% &1 Ha—fasma R <2 7 far ofar &, @ 39 I
IR HEd 2| 39 iR H Gy AHmIa: ofd § 92t ot 2 |
RTERT FOTR — 79 dI9TR BT &3 <9 dT Wil WHT & 918X 8IdT ©, df 39
FIRTET IIOTR hed 8 | 37 dIIRI Bl MW dR R I R 3R T 9ok
HEd 3 |
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3.21

3.21

3.22

3.22

fOpN & TR & MR WR AfTaReqT —

(i) faofad sreferasen — fAafid <ol # I 3 iR ufq afdd omy & wR
ST B 2| sal AHaE ol ot fifdra g 21 =gt o= gfawme,
ffdher, Tares, aeadl 98’ Bl | IR 99 &%, R 9y <= =1 et
2 |

(i) fawraeia srfaaer — femEla <9 faerd & A W) BT A 8 2 |
S $3 IR JAfAFHRIa, o a1 W9 <o A $e e Sy 21 39 < H
I @R ufd @fad o wF Bl 7| 399 $iY &k e fUss 81 B

SIZEI

faf3ra srefaaver —

3rf — fAf3ra srferaxen # Aol vd AdoG &= BT AR BT 2 |
feyamy —

) rdSife g ol eEl BT AgeiiRad

) dafddd WAl

) emfide fare

(iv) @ gomeh

ST &7 ga+ —

faff=T w1g fpamell =¥ o=t TeT 9T 991 BT AT BRI B | a9 AT BT 3rf S
DI B T | Id g9 SHTA BT AT B (G997 Ui & Areeied YA § 9ea faa
SITAT ®, A7 99 Ufehar ®r a9 AT dEd ¥ |

STl & Od9 & U9 —

(i) o 1 erT

(i) 9% ¥ swsar o ATe

(i)  YHSA IWIC]

(iv) Sifdw fafaear o1 Arer

(i
(i
(i

S
eafT UguUl — ¥R 98 TSl Aar 1T marst Bl B, foraw g ergfder grch
g | EMd B S TR H IO W & UguT 7 | af uguer & S —
(i) X T AT
(i)  SewT
(i) P HRf
(iv) fSSTell 9 37T USRI
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3.23

3.23

3.24

3.24

3.25

[214]o-10

it o P
) W™ ERT 9IS s O]

[
ii)  PRIGEEAr i e # gfg H B |

iv) Uil IS a1 TerE o A § |

(
(
(iii)  rfereer |meE
(
(v) fAfSpa iR 3R arE

(i) S1A® & e T8l fHar S dhar
(i) TTRree

(i) wTeaR

(iv) <fa

(v) SIfH® 3o A a9 B |

T WhIfa IR AT & Sur —

) Hifas U™

AR ffTaw & Hch &F —
(i) vrIfHE &3 — HN, A UTeld, T
(iy fadas &= — famtor, fafemior anfe

(i) JAIE & — uRded, FER, IO i

faera @1 garfad &7 a1l FRG —
) UTpfdd HRD

(

(i) UfaERye dR®
(i) SHPHT HRS
(

iv) onfdfe wR®

Page 7 of 8
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3.26

3.26

i)y frges e iR anfie dan

iii) ST IV SR UG IIU

V) Udhel SYART 9y qT SraradriT awqy
vi) ol gy derm Arhsiie gy

(
(
(
(iv) STET HaTy iR SUHTGT HaTy
(
(

SIZEI
Xt SR Warelt # g —
T —
(i) I 32T A B, 5% I@ ST Fahal © |
(i) STd IR AR ST H FB THI BT AR BT 2|

(i) s FHTADR @I S Ahall ? |
(iv) 32 Ud WM 9 S R Ugardm o 96T 2 |
Hamy —

(i) <arg arged Bl ¥

(i) d SATET R STHNT H FHT BT AR &1 BIdT |
(iii) TR BT WeRUT 9T FEl BIaT |
(

iv) Jareil &1 gRdiaRer | el erar |
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G T DI G : 26 HA TSI B =T : 08
Total No. of Questions: 26 Total No. of Pages: 08

gag : 03 gue
Time : 03 Hours

BIS Thol e, faamar—2021
214
fawg : areieme

Subject: ECONOMICS
(Hindi & English Versions)

quifd : 100

Maximum Marks:100

e —
(1)
@)
(3)
(4)
()
&)
(7)
()
@)

Instructions :

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
)

[214] 0-10

7o BV dfaard &

geTt & [T di# 87 G Jidd &/

g7 HHIH 1 @ 5 GF qegiTo F97 8 JA® & [ord 5 b [FRT &/
¥ HHIE 6 @ 26 TF 3led AFeT &/

geT HHIE 6 @ 11 GF b ford 2 3F &

qoT FHIE 12 F 16 GF & [o/d 3 & &/

o FHE 17 F 20 TF & [o/d 4 37F &/

goT FHIE 21 § 24 GF & [e/d 5 3F &/

o HHE 25 V9 26 & o) 6 3F &/

All the questions are compulsory.

Marks has been given in front of the questions.

Question No. 1 to 5 are objective type questions. Each carries 5 marks.
Question No. 6 to 26 are having internal options.

Question No. 6 to 11 carries 2 marks each.

Question No. 12 to 16 carries 3 marks each.

Question No. 17 to 20 carries 4 marks each.

Question No. 21 to 24 carries 5 marks each.

Question No. 25 and 26 carries 6 marks each.
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R CICIR IR I NI (6X1=5)

() I CEAR G I £ BT G ol [ L) 2
(@)  FTTART SMATTDTTV......oosoeeeeeee oo seeese e seeeseseeesesseeeesseeeesseeeessseeessseeeessseeessseeee e =
() AT B AR TR TR FATT BT I 99T Q9 T |
TS L1 Bl €, S° ST AT BRI T2l ol | |
(3) ATl BT ARETV B B oIy & MU JMagTHATS B ... BT MY |
Fill in the blanks -

(@) A carfor abusy doctor in MUmMbai iS.........ceevuremeeniiiiiiee e
(D) HUMAN WANTS @re.......ueeiiiiiiiiiieiiieeeee e e e e e e e e
(c) On the basis of population India is...........cccceeeeinnneee. largest in the World.
(d) Servicesare.......cceeeuurrrrnnnnnnn. , they can neither be seen nor be touched.
(€) To save resources, We MuUSt........coeeveeiiviiiiiiis i e e eeeeeeeeeeeanenns our needs.

g2 A /39 fordr — (6X1=5)

@) SEIE®H U IUEH B IR BT UiedTed ®xd & oIy fasmu=i &1 S8Rt o
=

oY TN 59 TEE B g |

)
(@) omoidme a1 faf sy &1 |arE 7|
)

() <ollBH, TTd, Fc3ic AT FaR & ISIERT & |

) Yol & Wl & fiyell am, ATyl deamn 2 |

Write True/False -

(a) Advertising is used by producers to promote their products.

(b) Small scale industries are labour intensive industries.

(c) These days money is the medium of exchange.

(d) Telephone, postal services and internet are the example of

communication.

(e) The income received by the owner of capital is called wage.
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Match the columns -

(A)
a) Developed country
b

(@) (
(b) Important for life (
(c) Type of unemployment (i
(d) (
(e) (

d
e) Developing country

U4 el fdbey g fafay —
@n faspdr fbdw UYeR @ B0 ® —

(i) 2

Characteristic of land

=)

aroll gal
Upia BT SUBR
AR

ST
Gl SRISHTRI

(B)

Fresh air

Gift of nature

India

Japan

Open unemployment

(i) 4 (iv) 5
@) &9 F1 e ® —
() <l vd gga & oy (i) W <9 & oy
(i) gRem & fog (iv) SWRad a9
@) wHdH BHd dF [f¥ed $Rar 87
() STEr (i) Fram
(i) o =TT (iv) TRPR
(@) 9 IR BT & 3 B Hmiferd W & 9rex ol 8Ia7 8, O 39 Ped & —
(i) &3 IR (i) I 9oIR
(i) TSI IR (iv) SRR qroTR
) fHam faera 1= IS B9 TRY & 137
(i)  orieT 1988 (i) arieT 1989
(i)  arieT 1990 (iv) onie 1991
[214] 0-10 Page 3 of 8
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Choose the correct options -
(a) How many types of sellers are there?
iy 2 (i) 3
(i) 4 (iv) 5
(b) Importance of Insurance is -
(i)  for the individual and business
(i) for the country as a whole
(iii)  for security
(iv) All of the above
(c) Support prices are fixed by the -
(i)  Farmers (i)  Consumers
(iii) The Government (iv) Wholesaler
(d) When the market area of a good or a service is extended beyond the
frontiers of a country, it is called as -
(i)  Local Market (i) Regional Market
(iii) National Market (iv) International Market
(e) When was the Kisan Vikas Patra Scheme started?

()  April 1988 (i) April 1989
(iii)  April 1990 (iv) April 1991
U5 UdH I /I H IR ST — (6X1=5)

(@) ereferaRe T 87
@) ™ B9 HHCT -7

e |Heild IR BWER e gu?

)
(@) ¥°d d& @ BT I ST 4T 27?
(8) i <afdd oMy &1 g3 falay |
Answer in one word/sentence -
a) Whatis economy?

(

(b)  Who earns profit?

(c) When was the GATT agreement signed?

(d) What is the main purpose of Saving Bank account?
(e) Write the formula of Per Capita Income.
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U6 % fashdl & YHR Iy |
Explain the types of Wholesaler.
3rerar / OR
fashar T a1t forRay |

Write the meaning of Seller.
g7 (&=l 1 gRueRT vd e goue axgsi & I falay |

Write any two examples of comfort and luxury goods.

3erar/ OR

qd Saeadhdre & M Ry |
Write the names of basic wants.
U8  Idred &I 3ef |y 2?

What is the meaning of Production?

3erar/ OR

IS UM & SENT B FHSY |
Explain the Large Scale Industries.
9  HTSIaTe drfayavery &l g1 favvand faRay |
Write any two characteristics of socialistic economy.
3rerar / OR
goTardl sreferawen &1 a1 faeman faRay |

Write any two characteristics of capitalist economy.

U140 YAADIDHROT DI HASTSY |
Explain Recycling.

st/ OR
STATGHT Bl FHSTLY |
Explain Water Pollution.
U141 ARRAr &7 37 forRag |
Write the meaning of Literacy.
3erar / OR

ufd afed S &1 99y |

Explain Per Capita Income.

[214] 0O-10 Page 5 of 8
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12

.13

U.14

.15

.16

17

IR FaRe & Y foIRau |

Write the types of Transport system.

3erar/ OR

faavor ufshar &Y uvTfad &xA drel fbhal i dRbT & =19 forRau |

Write the names of any three factors affecting distribution process.

Aol iR AT gl B FHssy |

Explain Private and Public goods.
3rerar/ OR

el SUIRT AR STEanfl gegall &l qHsisy |

Explain single use and durable use goods.

fo=el = dmr diferR @& = forRav |

Write the names of any three insurance policies.
3erar / OR

T | RIT 3MI &7

What is meant by Insurance?

fgeprasiic <21 1 BIg i faRIyamy foRay |

Write any three features of developing countries.
3erar/ OR

@i <o & ®I3 I deror forRag |

Write any three features of developed countries.

AEHRI IeMl & fIemany faRay |

Write the features of Co-operative undertakings.
3rerar / OR

IR fefegarell o1 Blg o faevar faRay |

Write any three characteristics of Indian Economy.

ofg SEN & He<d Bl FHsigy |
Explain the importance of Small Scale Industries.

AYdT / OR
IdTed & A= 9T Bl A9sI=U |

Explain the different scales of production unit.
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U.18

.19

9.20

.21

Y22

STl U9 & ST Gy |

Explain the sources of Water Pollution.

3erar / OR

arg Yol & I ga1sy |

Explain the sources of Air Pollution.

AR AT b ThR ATV |

Explain types of wants.

3rerar / OR
araggHaret &) IR faRvard fafay |
Write the four characteristics of wants.
IR U4 &A1 IR HT FASTSY |

Explain Local market and Regional market.
3rerar/ OR
RTERT Td ARSI FTGIR Bl HHSISY |

Explain National and International market.

fIpN & TR & MR WR AJTaRAT BT FHSMSY |

Explain the economy on the basis of level of development.

3TQJ_C|T{0R
faf3rd arefeuaven &1 312l g favyany faRay |

Write the meaning and characteristics of Mixed Economy.

STl & Ud- &1 YT 9 $9P J9Td A9 |

Explain the meaning and effects of degradation of forests.

3rerar / OR
eaf~ Tguel &1 31ef Ud sHG qed S aHsisy |

Explain the meaning and main sources of Noise-Pollution.
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.23

U.24

U.25

.26

Uott @l faerwany fofay |
Write the characteristics of Capital.

3erar / OR
59 B faeyand faRay |

Write the characteristics of Labour.

o1 Wi R R & IUR 9418y |

Explain the measures to check Inflation.
3rerar/ OR

IR IFfael & &3] HI FH3MSY |

Explain the sectors of the Indian Economy.
faprT @1 wIfad A arel HRG Iarsy |

Explain the factors affecting Development.

3erar/ OR

fpfya ud faerTeiier <o & =™ forRau |

Write the names of developed and developing countries.

qRI3TT 3R Haral & IThRoT Bl FHSTSY |

Explain the classification of Goods and Services.

3erar/ OR

Jegall IR Harel ¥ Wg |ASISY |

(5)

(6)

©)

Explain the distribution between Goods and Services.
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Gl YOI DI AT : 06

TS whel TNieT, faamR—2021

3.1

3.2

3.3

[216]

Y SR
216
fawg : T8 fa=m
Subject: HOME SCIENCE

el f[ddhey —

@) 9 BN

(@) TghIag

(@) wd

(%) Tde TRAR

() fAermae

U g H IR —
(@) HAATEAT BT YA e RIS B

@ < uerRl Bl SHS! (B TR1E gU AT dd W 96 GRISM RS Wl

TRETT B |
) TIR®, ARG 7 AMINTG wU A TR 3TaReIT ¥R T |
(@) qTcaTaReMT R WIGaveT & Heg &I Javel fhNRTaRer ¢ |

(3) 98 fdd O 9OIR ¥ AMM HI HRAT 9 ISADT START HRAT 7, STATGT

FHEAT ¢ |
Rad =i @1 gfid —
@) "=
C)IIRSERIRIED
@ @

() facmae
&
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3.4

3.5

3.6

3.7

3.8

3.9

[216]

el et —

@  TROTR (i) DS & AT
@) Tl (i) urcH

@) T, A (iii) ST N

@) iEnfe ufine (iv) STt Ugyol

() faga U@ (v) 1S @3y
ocH & &Rl —

() T Hadi &1 AT

(i) YRM, ARRRT SHID! B TR
(i) =9 =T | FERdH
(
(

iv) ad TsH iR B a9 H Iaedd

V) BRI BHRA DI SHoll T BRA]

(@1F TR B fora R Vat+Vatla+la=02 3id)

EHROT — AR T8 UfshdT 2 fSTAH 3FTST AT qTed bl oA Uil H e & S|
BIC—BIC JHR Her I 2|

IS N — 9 R 1 6 g A= te—uil ¥ U 8 8 S areaiid
T FHEd 2| IO —d, ueH anfe

wrfie fafdhe —Sfae oM & gd gmd /0 @ ot fafear & ot & S
g fafhe wed & |

fa®r & R —

)  IRIR® fem

i)  \mITe e

iii) TS fwra

IEIRICRCCAR

V) YNNG fddTa

(
(
(
(
(
(vi) e fawra
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3.10

3.1

3.12

3.13

3.14

[216]

AT A Afdd @) emdid g fa9iedrd gl 8 | Serexone —Soll, B,

ST, AFIAIY, 99y |

A BT wlfeads a1 a2 | Ul Aol fode! dHd 81, Fuikl & w9 4 &l S

A | oI Siad ®I J AFIAN § s Afdd Siiad 9 ASIdH? I8 2 |

3ITER ATSTHT PI YA B ATl HRP —
(i) omy

(i) fofT

(iif)  ofetary

(vi) FadTT (319)

(v) onffe Reifdy

(iv) <afFTTa gDl

(fr=gl O &1 fdaror foRae W 1+1+1=03 3ih)

g P UEAM —

() =T

(i) i

(iif) et

(@ & fIaRTT W 1+1+1=03 3(P)

Y fa9y T BT YR B &Y IRR BT Ifdd B IR (immunity) B8d & |

39 T UBR B |

() wrPpfa®
(i) <suifa
@ @1 faazon)
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3.15

3.17

[216]

R H Ryl dUsi & ™ —
) R qaTferd] &1 GnT, 92 MM BT SYART

i)  TEe BT feomEA

i) gofl @ fa I arel Uy &1 99q

v) Rierg | AIfSH Blie @ad 8, STHRd & 9Hd 981 R Fhd © |
vi) 99 g | ST A7 3 AR 99 Al 2

(i) o AfFT T | Fuer Jad ©

(i) fosm @ forr w1

(i) o wHE @ Bl & ford wHa Mdd oar
(iv) ™ BT ToTa e BT B
(
(

v) 3f® drf HH aHa H

vi) TFE 9 I I gl

ST & AHR —

(i)  gRam &1 AfTBR

(i) =TT BT IARBR

(i) TSR T ARFR

(iv) &R &1 R

(v) SoTaT REoT &7 ffaR
(fp=gl 3 & fdaRor W 1+1+1=03 3ieh)
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3.18

3.19

3.20

[216]

YOI BT YATIT HRA dTel BRI —

(i)  #maT B HGE

(i) T BT SAER

(i) AT B 3y

(iv) cargdt

(v) g

(wferer faaon)

Fad b I —

(i) uRaR @I a2y smaegdHami &g

(i) o Rerferar &g

(i) Far FgRI gd ggTaRer § HERI

(iv) wfasg &1 gRet

(fagsi @1 faawon)

faema & e —

() faor # geara (@Rads) g & |

(iiy - oMy TRl W e o <) =7 8Kt 2
(i) faerT P MR =aRerd 8ar 2 |

(iv) faorT RR 9 R &1 iR 8IaT 2|

(v) faom @ & 9% 3 IR B 2|

(vi) =1 afeqal 7 e & < &A= 8 2
(vii) faerT Wee @R gRugaar &1 gRem R |
(fp=gl TR 1 fdeRor forg™ WR 1+1+1+1=04 3ih)
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3.21

3.22

3.23

[216]

YR — I &7 31ef 8 IRR &1 Fd AUl & 93T | oFr 599 4

TR 9 fepareier <2 |

ol —

)  HedT B e

iy 9Te 9 e e gars g € |

i) AR YR g9 B

(
(
(
(iv) Yaa AaTe 18T BT § |
(
(
(

V)RR afte B aear 2 |

vi) 31t SHortar e aRd ¥ |

vii) srcAfIZarT gedr 2 |

Ao Uh & o —

) UB H A Gured 8 ST g |

iy <, ®U, WE T G 96 WK B |
iii)  fA=TaT el 2?1

iv) ST FHg a% GRfed <& © |
V) e IRY 99T § |

vi) R 9 fhero] IRd a9t £ |
WD PR —

(
(
(
(
(
(

(i) ~em

(i) omRiE B

(ili) e @t

(iv) Sl s
(v) IS i
(
(
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G T DI HE=T : 23 HA TBI B =T : 08
Total No. of Questions: 23 Total No. of Pages: 08

9 : 03 U

Time :03 Hours

B3 Whel Niet, faaseaR—2021
216
fawa : g fa=m
Subject: HOME SCIENCE

(Hindi & English Versions)
quiie : 075

Maximum Marks: 075

fA3er —

Instructions :

[216] o-10

(i)

(ii)

(iii)

(iv)

(v)

(i)

(i)
(iif)
(iv)
(v)

7o ST &/

e HHIE 1 § 4 TF JegIT0 H97 8/ FAD F97 05 idl &7 &/

Jo7 HHE 5 11 7% JAPB HI7 2 bl HT & FO¥ S TTHT 30 I< |
o7 HHIH 12 § 18 TH FAH F97 3 3idH] & & GOV WH TTHT 60
T |

T97 % 19 & 23 TF FAB F97 4 3Bl BT 8/ STV HEFT 7797 100 I3/

All questions are compulsory.

Question nos. 1 to 4 are objective type questions. Each question carries 5 marks.
Question nos. 5 to 11 carries 2 marks each. Answer limit approx. 30 words.
Question nos. 12 to 18 carries 3 marks each. Answer limit approx. 60 words.

Question nos. 19 to 23 carries 4 marks each. Answer limit approx. 100 words.
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w1 wE feen g —

@) TS UTH 9T ST & —
() 4 B
() 6 daArd

(1) 9 By
(IV) 11 DN

@) fOega g a1 gRT | USRI Sl & —
() HeR HHR H
() #rgsprad o
() < N
(IV) &rex
() YD H UHidd S & —
() faEa g
Iy <=
()
(IV) wraeh
@) g uRar S Ara—fdr 9 S9! fdarfRa Al | §99dT1 &, dealal & —
() ArgaR gRar
() fgeeia aRar
() THa gRAR
(IV) wigae aRawR
(3) SUHIE & TR FEfaRad § —
() Heu
(1) go
(1) FuURETSIR
(IV) fHemae
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Correct option —
(@) One gram of fat gives -
() 4 calories
(1) 6 calories
(1) 9 calories
(IV) 11 calories
(b) Food is cooked by electromagnetic rays in -
(I)  Solar cooker
(1)  Microwave
(1) Stove
(IV) Heater
(c) Natural source of light is -
(I)  Electric bulb
(1) Torch
(1) Sun
(IV) Candle
(d) Family which consists of mother, father & their unmarried children is
called -
()  Matrilineal family
(1)  Patrilineal family
(1)  Nuclear family
(1IV) Joint family
(e) Following is the problem of consumer -
() Price
(1) Shop
(1)  Super market
(IV) Adulteration
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Uz

U3

THh Iy § IR forRau —

(@) Tz e &1 T 3t 77

@) @rer |ReTvT Bl gRHANT forlRay?
(@) Ry &1 v 3ref 87

(@) foruRmaRen o wed 87

(3) SUHIGT BT GRHTST FT 87

Write the answer in one sentence —

(@) What is the meaning of Home Science?

(b) Write the definition of food preservation?

() What is the meaning of health?

(d) What is adolescence?

(e) What is the definition of consumer?

Rac et @ gfef s —

(B) E @ YT T T Bl PR T AIRY |
@) W, PIET AR UH TTAD Do fAeTT &7 <wfar 2 |
G5 TR TS JHR & B % |
AT L 2L B FHIGHT HH & ST & |
SR SIS IR 3 T T[OTeRTT aTel B & |
Fill in the blanks —

(@) Before washing.......coooooieeeirieeeeecece e of torn cloth.
(b) Fear, anger & love indicates..........ccccceeeevriineeennnn. development of a child.
(€)  Teeth @re Of......eeeeeiieeiieeeeeee e types.
(d) Packaging reduces the changes of.........ccccoimiiiiiiiiiiiie s
(e) Adulterated particles are..........ooovveeiiiiiiiiiiiiiiieeeee e quality food.
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U4

Match the correct pair -

0

(a) Self-employment

(b) Pulses (Dal)

(c) Silk, Wool

(d) Industrial waste

(e) Electric appliances

[216] o-10

()
() e g
(I g

() S &1 Aferd

(IV) emEgaamg

(1
()  Water pollution

(1)  Animal fiber

(1)  Owner of the canteen

(IV) 1.S.I.

(V) Fat

(VIl) Protein

Page 5 of 8
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U5

.6

U7

us

U9

U.10

Y11

12

UEH & IR a1 foTfRau |
Write four functions of Protein.
3RO A FAT M 2°

What is meant by germination?

grfad N fHd ded 87

What are vegetable fiber?

g1l Rifeedr or aRYid ST |

Define First Aid.

fapra & faf= voR & | folau |

Write the name of different types of development.

HEIR AT BT 3712 IS8Rl Afed AHesy |

Explain the meaning of Human Resources with example.

I BT F7 31 8°

What is the meaning of Value?

JMER TSI Bl JITIAT HRT a1l bl O dRBI & faug § fTRau |

Write about any three factors that affect meal planning.

[21 6] 0O-10 Page 6 of 8
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.13

.14

.15

.16

U7

.18

.19

U.20

T W T ged B TS D DI ST 87

How is the stain of clothes identified?

ufeReT a7 27 ufaxelr fhds UdR &) Bl &?

What is Immunity? How many types of Immunity are there?

R ¥ e 7= & B o faRau |

Write any six benefits of home stitched clothes.

Y Ao & o forRau |

Write the benefits of time planning.

ST & Dls diF AHR foRau |

Write any three rights of consumer.

YOI Bl JAIAT B ATl HRE DIA—DBI A 87

What are the factors that affect foetus?

g9 D T ST 27

What are the aims of saving?

g & fhsl oR gl &1 o HIfTT |

Describe any four Principles of development.

[21 6] 0O-10 Page 7 of 8
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.21

Y22

.23

YT BT AT 31T 87 AR & A RT—T 87

What is the meaning of Exercise? What are the benefits of Exercise?

ATSTT YT BT T AT 87

What is the advantages of cooking food?

(l' O N

TN B Bl BT U HIFTT |
Describe the functions of Home.
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Total No. of Questions: 11 Total No. of Pages: 08
Higher Secondary Exam., December - 2021

302
Subject: ENGLISH

Time: 03 Hours Maximum Marks: 100

Instructions :-
(i)  Attempt all questions.
(ii) ESP set has a choice.

(iii) Write in a neat and clean hand writing.

Q.1 Read the following extract carefully and answer the questions given
below : -

Nationalism, of course, is a curious phenomenon which at a certain
stage in a country’s history gives life, growth, strength and unity, but at
the same time, it has a tendency, to limit one, because one thinks of
one’s own country as something different from the rest of the world.
One’s perspective changes and one is continuously thinking of one’s
own struggles and virtues and failings to the exclusion of other thoughts.
The result is that the same nationalism, which is the symbol of growth
for a people becomes a symbol of the cessation of that growth in mind.
Nationalism, when it becomes successful, sometimes goes on spreading
in an aggressive way and become a danger internationally. Whatever
line of thought you follow, you arrive at the conclusion that some kind of
balance must be found. Otherwise, something that was good can turn
into evil. Culture, which is essentially good become not only static but
aggressive and something that breeds conflict and hatred when looked
at from a wrong point of view. How are you to find a balance, | don’t
know. Apart from political and economic problems of the age, perhaps
that is the greatest problem, today because behind it there is a
tremendous conflict in the spirit of man and a tremendous search for
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something it cannot find. We turn to economic theories because they
have an undoubted importance.
It is folly to talk of culture or even of God. When human being starve

and die. Before one can talk about anything else one must provide the
normal essentials of life to human beings. That is where economics
comes in. Human beings today are not in the mood to tolerate this
suffering and starvation and inequality when they see that the burden is
not equally shared. Others profit while they only bear the burden.
Questions : -
(1) Nationalism is a symbol of -

(@) pride (b) growth

(c) culture (d) humbleness
(2) Culture is essentially good but becomes -

(@) dynamic (b) static

(c) worse (d) rotten

(3) We can find balance when we turn to -

(@) economics (b) history
(c) culture (d) geography
(4) The word ‘starve’ in the passage means -
(@) hunger (b) poverty
(c) lack of strength (d) diseases
(5) According to Nehru, Nationalismis a ......... phenomenon -
(@) natural (b) cultural
(c) curious (d) ethical

(6) What is the verb form of ‘conclusion’?
(@) include (b) conclude

(c) conclusive (d) concludable
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(7) Itis folly to talk of culture when: [1]

(@) human beings starve and die
(b) the burden is not equally shared
(c) culture becomes aggressive

(d) nationalism becomes successful

(8) The noun form of tolerate is - [1]
(a) tolerance (b) tolerable
(c) tolerably (d) toleration
(9) When does a society become static? [2]
(10) According to Nehru when it is folly to talk about culture or God? [2]

Q.2 Read the following passage carefully and answer the questions given
below :-

Cycling survives as a popular past time because it yields pleasure
and benefits. First of all, cycling provides exercise. Of cycling, many
people hastily say that it is ‘hard work’, but a fit and practised rider does
not agree with this verdict. The art of easy cycling must be cultivated but
once it has been acquired, a long day’s run should not unduly tire any
normal rider. Nobody has better described the exercise of cycling than
the late Twells Brex, who said “you move along by your own grand
efforts”. Many of us wish to use our legs and lungs as well as our eyes.
An active and healthy person ought not to be contented to travel always
as a mere passenger- “like an image pushed from behind”, as Stevenson
says, that is not life. It is often said that the cyclist cannot travel as fast
as the motorist. Admitting this, the cyclist may be permitted to ask if it is
always desirable that travel should involve modern motoring speeds (or
accidents). It is the enjoyment of a traveller in search of pleasure to be

measured merely in miles, or what is worse in miles-per-hour?
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Surely the cyclist pedalling calmly along at a modest twelve miles
an hour is able to assimilate scenery more easily, more completely and
with more enjoyment, than the hurrying occupant of a car! If bicycles
were unobtainable, most keen cyclists would become trampers rather
than motorists.

Questions : -

(@) Read the above passage carefully, make notes on it using

acceptable abbreviations and add a suitable title. [5]
(b) Prepare a summary of the above passage. [3]
Q.3 Write an essay on any one of the following topic - [7]

(i)  Importance of games and sports.
(i)  Science and its wonders.
(iii) The book I like most.
(iv) Power of press in democracy.
(v) An Indian Festival.
Q.4  Write an application to the secretary Board of Secondary Education,

M.P. Bhopal to issue you a duplicate copy of your mark sheet. [6]
OR

Write a letter to your friend inviting him to spend his vacation with you.

Q.5 (a) Edit the following passage for mistakes in spelling, punctuation
and grammar. [5]
Doctor Benson moved his hand very slowly and very carefully
below the seat until he fell the leather holster, in which he always
carried with him, his automatic pistol. He draw out the pistol slow
and held it in the darkness at his side. Doctor Benson stopped the

car quick and pushed the nose of his gun into Evan’s Side.
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(b)

Q6 (a)

[302] 0-12

Fill in the blanks with suitable words given in the brackets -
(i)  Tthinkit ... rain today. (may, can’t, might)
(i) Thetallestof these boys ........ccvviiininnnie next door to me.

(have lived, have living, lives)

(iii) My grandfatherishard ............c.c.cceennee hearing. (of, on, to)
(1) I he was late, he was fined. (As, though, due to)
(v) Hedidnothave ............cocooviiiiinis milk. (some, little, few)

Do as directed : (Any five)
i)  We did it. (Change into negative)
i) He said, “we all are here”. (Change into indirect narration)

(

(

(i)  We pray in the evening. (Make Emphatic )

(iv) He did not break his leg. (Change into question)
(

v) | /had /exam /a lot of / during /time. (Rearrange the words to
make a meaningful sentence)

(vi) The fan was high. | could not touch it. (Combine with too ...to)

Read the following extract and answer the questions given below -

Tembu and his sister and mother were plunged in grief for two

whole days, but life had to go on, and a living to be made, and all

the responsibility now fell on Tembu. Three nights later, he was at

the cutting, lighting the signal- lamp for the overland mail.

Questions : -

i)  Who were plunged in grief?

i)  How many days were they plunged for?

(
(
(iif)  On whom did the responsibility fall after Baldeo’s death?
(iv) When was Tembu at work?

(

v) What Job was he doing?
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(b) Read the poem carefully and answer the questions given below it - [5]
No time to wait till her mouth can
Enrich that smile her eyes began
A poor life this if, full of care,
We have no time to stand and stare.
Questions : -
(i)  Name the poem.
(i)  What according to the poet is the poor life?
(iii)  What does the poet mean by the word care?
(iv) Who is ‘we’ referred to?
(v)  Which word rhymes with ‘care’?

Q.7  Answer the following questions - (Any five) [2x5=10]
(i)  What difference does the writer see in his mother’s nature and his
grandmother’s?
(i)  What would we gain if we were to melt the polar ice?
(i) How did the doctor realise that he was not looking at his own
watch?
(iv) What did the writer miss, when he lost his sight?

(v)  Why was Tembu not afraid of anything?

(vi) Why do you think, Aradhana was late in coming to the stage?

Q.8  What does Nehru wish for India’s future? [4]
OR

Why had the intruder come to Gerrard’s house?
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Q.9

Answer the following questions - (Any four)
Why had the scorpion entered the hut?
Which road did the poet take? Why?
What is “Dead habit” contrasted with?
How can the beauties of nature dance?

Why was the poetess not able to read the books?

ESP Science

Q.10 Match the items in column ‘A’ and their description given in column ‘B’

Qi1 (i)
(ii)
(i)
(iv)

[302] 0-12

Column ‘A°
Solar cooker (@)
Nucleus (b)

Cockscomb, Lily, poppy (c)

and marigold require

Isotopes (d)

Petunia, Pansy, phlox (e)

What is chain reaction?

Column ‘B’
The central part of an atom.
Require partial shade
the same

Atoms having

number of protons but
different number of neutrons.
Full sun

A simple technological device

that can exploit solar energy.

Why is it not advisable to water the plants after sunset?

What is emotional stress? How does it affect the body?

What are the basic constituents of our diet?

Page 7 of 8
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OR

ESP Receptionist

Q.10 (i) What are the special skills required for managing a telephone? [10]
(i) List some of the material that may help a receptionist in her work?

Q.11 Rewrite the following first as request and then write out replies to each [10]
request.
(i)  Shut the door.
(i)  Type the memo.
(i)  Let me start first.
(iv) Sit down.

(v) Don’t worry.
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A1
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(10)

Growth

Worse

Economics

Hunger

Curious

Conclude

Human being starve and die

Tolerance

The culture is essentially good but become static when looked from
a wrong paint of view.

According to Nehru, it is folly to talk about culture or God when
human beings starve and die.

A2 Passage -

(@)

[802]o-12

Title : cycling : Good exercise —

(i) Cycling : A popular past time.

ii)  Provides experience, pleasure and exercise.
iii) Itis not a hard work.

iv) In cycling we move along by own glad offers.

vi) Cycling is not a motoring speed.
i

(
(
(
(v) Cycling gives move pleasure than motorist.
(
(vii) Itis desirable speed.

(

viii) Cycling is enjoyable motoring is thrill.
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(b) Summary -
Cycling is a popular past time. It yields pleasure and benefits. It

gives exercise it is not a hard work. It is a desirable work. No doubt
its speed is not faster than motor speed but it is safe enjoyable and
desirable. In cycling we use our legs and lungs as well as our eyes.
It bicycles were obtainable, must keen cyclist would become
tempers rather than motorist.

A3 Introduction

Body
Conclusion
A4 Format
Body
Subscription
A5 (a) Spelling, Punctuation And Grammar-
Doctor Benson moved his hand very slowly and very carefully below
the seat until he Felt the leather holster, in which he always carried
with him, his automatic pistol. He drew out the pistol slowly and held
it in the darkness at his side. Doctor Benson stopped the car quickly

and pushed the nose of his gun into Evan’s side.
(b) Fill'in the blanks -

() May
(i) Lives
(i) Of
(iv) As
(v) little

(c) Do as directed -
i)  Wedid not do it.

i) He said that they all were there.

iv) Did he not break his leg.

(

(

(ili)  We do pray in the evening.

(

(v) I'had a lot of time during examination.
(

vi) The fan was too high for me to touch it.
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A.6

A7

A8

(a)

(b)

Extract And Answer -

i)  Tembu and his sister and mother were plunged in grief.
i)  They were plunged in grief for two whole days.

(

(

(i)  The responsibility fell on Tembu after Baldeo’s death.

(iv) Tembu was at work after there nights.

(v) He was at the cutting, lightening the signal lamp for the
overland mail.

Poem carefully and answer the questions

(D Name of poem is “Leisure”.

(i)  According to poet a life which is full of cares and worries and
we have no time to stand and stare is a poor life.

(iiiy ‘Care’ means ‘worries’

(iv) ‘We’ means ‘human beings’.

(v) ‘Care’ rhymes with ‘stare’.

Answer the following -

(i)

(i)

(iv)

(v)

(vi)

His grand mother is peaceful and relaxed, but his mother is highly
strung, tense and nervous.

We will get another continent, the Antarctica with its wealth of
minerals.

The doctor realised that, because the crystal was cracked and the
top was broken.

He missed the colours of butterflies and birds. He also missed to
recognize the faces of his mother and father.

Tembu was not of raid of anything because his father had killed the
tiger, he had the axe with him, and he knew how to use it.

She was late, because having learnt that she was an adopted child
she was mentally dis furled.

Nehru wishes for India’s future that India should advance on the material

plane and a classless and casteless society is built where every individual

has full opportunity to grow according to his worth and ability.

[802]o-12
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OR

A8 He had come to Gerrard’s house to see and speak to him, to know
Gerrard’s style of dressing, talking etc. and then kill him. He had planned
to live a free and comfortable life as Gerrard.

A9 Answer the following -

(i)  Ten hours of heavy rain had driven him inside the hut.

(i)  The one which was less travelled by, because it was grassy and in
a very good condition.

(i)  The words Dead habit are contrasted with “Heaven of freedom”.

(iv) The dance of the beauties of nature would be trees swaging in the
breeze, waves leaping up, bees dancing etc.

(v) The poetess was unable to read the books, because she was too

young at that time.

ESP Science
A.10 Column A Column B
(i)  Solar cooker (@) A simple technological device

that can exploit solar energy.
(i) Nucleus (b) The central part of an atom
(iii) Cockscomb, Lily, poppy (c) Full sun
and marigold require
(iv) Isotopes (d) Atoms having same number
of Protons but different number
of Neutrons.

(v) Petunia, Pansy, phlox (e) Require partial shade
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A1l (i)

(ii)

(i)

(iv)

A10 ()

(ii)

[802]o-12

It is not advisable to water the plants after sunset because the soil
becomes too wet and plants may become diseased.

Emotional stress means emotional responses caused by fear. It
affects the body by causing actual physical damage or even death
through serious diseases.

‘Chain reaction’ is a self propagating process of disintegration of the
uranium uncles.

The basic constituents of our diet are proteins, fats and

carbohydrates.

OR

ESP Receptionist

For managing a telephone, one require both skill and tact besides
of course a little bit of training and practice. You must be a good
speaker. Be able to speak clearly and distinctly in a polite and
courteous words. Be brief and keep to the point without seeming
abrupt or rude. You must be a good listener too, listen carefully and
attentively as you will have to take quick decision, and give replies
according to what you hear.

A receptionist has to be familiar with a great deal of information. She
is generally called upon to do various types of services, like booking
an accommodation in Hotel, reserving a seat on a flight or in a train,
or even to call an emergency service of ambulance and so on. A
receptionist therefore has to keep handy large number of leaflets,
guides, brochures and other print material of various hotels, travel
agents, Airlines, besides the telephone directories of various states

Railway time tables and timings of important buses etc.
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A11 (i) “Please shut the door.”
“Yes, | have shut the door.”
Thank you. (2)
(i) “Please, Type the memo”
“Yes, | will type it”
Thanks. (2)
(iii) “Please, let me start first”

“Sure, | don’t mind”

Thank you very much (2)
(vi) Please, sit down

“Thank you” (2)
(v) Please, don’t worry. (2)

Thank you very much.
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312
fava : Aifdemere
Subject: PHYSICS
(Hindi & English Versions)

FHI 1 03 T quiies : 075
Time: 03 Hours Maximum Marks: 075
fader —

(i) 7o797 & Gusl ‘I @our ‘T H T &/

(i) Gvs "3 P G go7 &7 FHT T &/

(i) @vE “§° & HIT V& [dBq & THI J97 8T HY/

(iv) SITEIHAFER TE T FHIFT [T 75/

(v) TR&F F97 Y¥ JEICT 3d o7 & T 3id &/

(Vi) FoT HHE 5 T 17 TF FAF g97 § A [Aeeq fF 17 &/

Instructions :-
(i) Question paper is divided into two parts “A” and “B”.
(ii) All questions of part “A” are compulsory to attempt.
(iii) Attempt all questions of only one option of part “B”.
(iv) Draw neat and labelled diagram wherever required.
(v) Marks allotted on each question are mentioned in front of the question.

(vi) Internal options are given in each question from question No. 5 to 17.
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U1

(&)

@)

¥ug — ‘3’ / Section — ‘A’

A% TR # Ry MU feent § | 98 fawen gitg —
I & Sfogell & IIf Bl & —
() U™ (i) fafaira
(iii) e (iv) Dadt SR T A
JMS~AC BT SIH FHoll FHIBIT & —
() E=mc? (i) E=m/c?
(i) E= 2 mc? (iv) E =mgh

(2)

SHTA fved @ p — <Y Sfgardd 99 & forv ga9¥ Has o= arelt
3TYfE B FAIDRAT BT & —

i 3 (i) 4

(i) 5 (iv) 6

g & 45 # AfaRaw <19 gar & —

M = iy =
(i) o= iv) =
SHARHY FAY S & —

i =& (i) o B
(i) G (iv) o

Select the correct alternative in each of the following questions -

(a)

(b)

(e)

The motion of molecules of a gas is -
(i)  one dimensional (i) two dimensional

(iii)  three dimensional (iv) only up and down
The Einstein’s mass — energy equation is -

() E=mc? (i) E=m/c?

(i) E=—-mc? (iv) E =mgh

In order to form a P-type semiconductor the valency of the impurity added
to pure germanium crystal should be -
(i) 3 (i) 4

(i) 5 (iv) 6

The Excess pressure inside a drop of liquid is -
T L 4T

i) = (i) =

LT L o2T

(i) 5= (iv) =
Colorimeter are made up of -

(i)  Silver (i) Zinc

(iii) Brass (iv) Copper
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g2 Rad =i o gid $ifg —
(B1) TR G oo @ Rigid o= 3menRa g |
IR 15 B K S H T A8 BR Fdhd] |
([) TP MG ACTHICT BT TFIRIET oo, BIAT T |
(@) AR URMERN & BROT AT ol BT & o & w9 | BIAT B |
(3) OB B el TS T BT BIRIT oo =
Fill in the blanks -
(@) Meter Bridge is based on the Principle of.........cccccooiiiiiiiiiiiiinieenn.
(b)  Sound waves cannot travel iN...........oceiiiiiii e
(c) The resistance of an ideal voltmeter is...........cccvviviiiiiiiiiiee e,
(d) Due to eddy currents, the loss of electrical energy is in form of............
(e) Blue colour of sky iS dUE 10......oueeeiiiiiiie e
U3 |el SISl 918y —
S. No Pl A S. No PicH ‘g
(@) | TR BT Rieet (i) | TRAHATDR
(b) | TfT BT gH FHIHROT (i) | IF® St BT fdgga Hoil J gRad=
(c) |ves &1 g (i) |v=u+at
(d) | S==AT (iv) | IR
(e) | Td &1 "D (v) |
Make the correct pair -
S. No Column “A” S. No Column “B”
(a) Signal of Danger (i) Parabolic
(b) First equation of motion (i) | Conversion of  mechanical
energy into electrical energy
(c) Path of projectile (ii) |[v=u+at
(d) Dynamo (iv) | Pascal
(e) Unit of pressure (v) | Red
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U4

U5

U6

7

=1 Ul & SR Uh Ird H QIR —
) gd W gedl 9@ o fhe Ay & ug=h 27

i)  TIURGT BT AHD AT 27

(
(
(i) fa=Id &= @il dun wafava g & 1 divr faar g 27
(
(

iv) SR SIS &1 ®I3 Udh SuAnT folRay |

v) f&a e o1 3R dEd 2°

Give the answer of the following questions in one sentence -

(i)  In what way does the heat reaches from sun to earth?

(i) What is the unit of self-inductance?

(iii)  What is the angle between the equipotential surface and the electric field
lines?

(iv) Write any one use of Zener Diode.

(v)  Which gate is known as Inverter?

ST # SaR 9T 319+ e RIdre ofd €, aai?

In winter animals usually curl themselves, why?

3erar/ OR

ATHICY BT ded TTel I DI IO oldl TAT del-IhR ST SIIel % qq7?

Why is the bulb of thermometer made long and cylindrical instead of making it
spherical?

sSey fod Fed 27
What is rainbow?
3rerar / OR
T I TUI DI BIbd X 10 FH. & | U Bl Fehall a1 18y |

The focal length of a convex mirror is 10 cm. Find the radius of curvature of the
mirror.

feAgfdeadr & Fed 87
What is Radioactivity?
3rerar / OR

URHATY] BT WFgH RIS BIAT B, HTP

The atomic spectrum is line spectrum, why?
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us

.9

U.10

Y11

THATHY UshH 3R TGS UshH H BIs o 3fax fofRay | 3)
Write any three differences between isothermal process and adiabatic process.

3rerar/ OR
HNIT ddigl —
(i) ove @ Al H Sha—vig 31fde @M @rd 2 | Fi?
(i) TR #, |ame qen SRl # SiF dus U d § | e
Give reasons -
(i)  In winter, animals eat more. Why?
(i) In summer, we wear white coloured clothes while in winter the dark
coloured clothes. Why?

faws fod wed 27 fods a9 & foly smawas &g ]1 o oIy | (3)
What are beats? Write any two conditions for beats formation.
3rerar / OR

IR 3ad A Hed 87 ITIBRT ThY TSV |

What is simple harmonic motion? Explain with example.

() Yof SriaRe oRTac & FaT e 87 (1V4)
(i) ol offdRe WRTad @l Wt foIRay | (115)
(i)  What do you mean by total internal reflection?

(i)  Write the conditions of total internal reflection.

GTWTZOR
Iel o B oy A g @ e PRty —

Y u f
Establish the relatlon— - 1 = - for convex lens.
(a) Wavw%?qﬁﬁﬁvg$wava€rﬂgwaﬁm| )
(o) TS W ArgHAYSS TRl T | RIN7 )

(@) What is escape velocity? Obtain expression for the escape velocity of a
body from the Earth.
(b) There is no atmosphere on the Moon. Why?

3rerar/ OR
T 9] 6 m/sec & T H TAT 1.5 m/sec? & @RUT H AT URH Bl & | e
HHY LA SABI 9T 15 m/sec B SIIAMT? 60 GHI H 9K g1 9 DI Tg g A1
PR |

An object starts moving with a velocity 6 ms™ and an acceleration 1.5 ms=.
After what time will its acquire the velocity 15 ms™'? Find the distance travelled
by the object in this time.
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U412 TG IR YARAAT Bl aR9INa SITg | Rig @IvTe {6 19 & SgI smaad
TRl — Es=yP (4)
Define adiabatic elasticity. Prove that adiabatic elasticity of a gas.

Es=yP
3rerar / OR
PHIRUT 98¢ —
(i) W, IR A AP AR & | FII?
(i) O H SReN STeM WR SNell W Wl € Sfafd IR H I[ell STelH R BT
ATt | i
Give reason -

(i)  Steel is more elastic than rubber. Why?

(i) A finger wets in water, but it does not wet in mercury. Why?
713 < | & 9 ¥ @Icwe dg B Mg Gasigy dol @R 3g &

wiget A wd £ = o Frfa @i @

Explain the principle of wheatstone Bridge with the help of Kirchhoff’'s Law and

P

R .
3 for its balance.

S
3rerar/ OR

SO § IS U WETRAT @1 Jod gIRar & oy &ioid Ui HIoTg | Jare &l

Arifea fera A 918V |

Obtain expression for the equivalent capacity of condensers connected in

derive the necessary condition

series. Draw a labelled diagram of the combination.
U14 IR & GRHIY HiSd DI AR UHE AfHeIAN faRay | (@)
Write any four main postulates of Bohr’s atomic model.
3rerar / OR
TSI e iR TR fagrss # s IR ofar fafay |

State any four differences between nuclear fission and nuclear fusion.
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715 AND 3R NOR 9Ic &1 guiq fA=feiRad efivsi § @iy |

(i) Udiid (i) T AR
Describe AND and NOR gate under the following headings -
(i)  Symbol (i)  Truth Table

3rerar / OR

fA=TARoT | 31T T FHSI &7 YT ORW fAedHRI & wU H P-N |fY SIS &1 aui
ffoRad ofivet # Fivmg —
() uRUT &1 TMifha vaErad |

(i) e fawa g fofa fawa &1 o9 & e gRad IR |

What do you understand by rectification? Describe the use of P-N junction

diode as a full wave rectifier under the following headings —
(i)  Labelled circuit diagram.
(i)  Graph between input and output potential with the variation of time.

.16 YU T 27 <fd Silad § °¥ § & o g |F SIfAl 9d18V | Ty &l 9 UeR
JSIIT ST FHhdT © 3R b UbR &H fHar S Fadr 27

What is friction? State two advantages and two disadvantages of friction in
daily life. How can the friction be increased and how can it be reduced?

3rerar/ OR
Stecd el Adefl orad 3t v foRay vd Rig AR |
State and prove the theorem of perpendicular axis of moment of inertia.
U7 SRBER R 87 gD Rigid q9emsy | SRIBHAR H &Holl 81+ fba—fba drRol 4
B § 77 5% {9 UdR & fhar Sirar 87

What is transformer? Explain its principle. What are the causes of loss of

energy in a transformer and how are they minimised.

arerar/ OR
| ywg foRkay va g ifoTg |

State and prove Gauss’ Law.
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U.18

.19

U.20

U.18

.19

9.20

¥gug — ‘¥’ /Section — ‘B’
Jpfous Aredd — | / Optional Module — |

AT TN BT AGRT URAR FIT 27 6T Bl U SUANT oIy |

What is frequency range of radio waves? State its anyone use.
TATART Rver iR fefoiea Riat | &g O &iak forlRay |
State any three differences between analog signal and digital signal.

YIRS g DT aui difory e eel d Py —

(i)
(i)

Rrgid (i)  UHE W
raifed (iv) ST (@ 7))

Describe optical fibre under the following heads —

(i)
(i)

Principle (i)  Main parts
Labelled diagram (iv) Uses (Any two)
d®feqs Aisga — Il / Optional Module — I
HIF—AT HFRT ThIdd BIST & Ahdl 2°
DR © DI A AN IS g H YIY HIA arel GH1 DI AR BT R
P B?

Which Camera can gives instant photo?

Which parts of the Camera controls the amount of light entering in the box
of Camera?

& @ Q. g @ g A o I |

State any three advantages of D. V. D. device.

(i)

Jed UG dTell JaDbII Ul IR FHRIT: YA fhY ST aret &1 UgTeif & 9M
ERIM
QST H¥T B FGeT TAT [EREE F FfRd TR |qraentrar a1 ey |

Write the name of any two chemicals generally used in high quality
magnetic tapes.

Write any four precautions for the safety and maintenance of video
cassette.
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yvs — 3
34 el @i —
@) i) P
@ () E = mc?
@ 0 3
@ (v) 2TR
® (v de®
I2 Raa @i —
@) EewH 9y
(@  fafa
(9) 3
@) g Sl
()  wE Ubre BT uBvi)
33 | S. No. DIcTH 3 S. No. P §
@) | @R BT R (v) |t
@) | I BT UAH FHIDRT (i) |v=u+at
) | v BT U (i) | RITTTHR
@) | s (iy | =i Hoi &1 faga Sor |
gRacH
®) |T@ &1 "A=w (iv) | arepat
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3.4

3.5

3.5

3.6

3.6

3.7

3.7

3.8

3.8

()  fafe=or

(i) T

(i) 90°

(iv) dreest fisor #
(v)  NOT e

[N

Rigre | IHT AR ¥ [0S &A% 6C Ol § O S9d IRR A HH
IS BT SR TS AN & TAT I IMAF ST BT a 8l B 2 |

3rerar
Tl U8 BT VAT JoIhR U &I eahel e Brar g, 3iia, gmfHer s

JITET & STl 2 |
SSUY — 99 I BT T UHNY IRAM DI &l W TSdl &, d dH—dd g

oo faem # aweprer H g7 @9 & wU # QAR [ @1 ued] fawrg ol B O
THEY FEd 2 |

AqT
fear g -f=10c. m.
R=2f=2x10=20c. m.
A vfdeadr — o ugref @ 1fae | @ & falker ScIfia 8 89 &) ge
®I AT gfdeaar &&d & |

SI2EI
TRATY] & SHoll W fdvad B0 8 Weld: Slagi # b SHoll AT I TAY ol
JARIT H HHAU B WR [P MR SHoll IR & g dl fafexor I«fsia ar
AT BIaT & 99 S9aT WaeH IRaeT 81 o dr 2
FAAT UshH 3R SEI™ UshA 9§ U el 3R IR 1 37 | el i AR |
39T
() |l & AN A Ul & IRR & 3SR VT ITS d18% qKITEaRT HI 19 984
B BT § | 31 YRR BT A9 FHH §91¢ Y& b BRI I8 AfSh T 1T
g |
(i) T®He HIS U HUR AT B fAfHRor ST B Rafad HR <d &
IR IRl % & o1 T Hegd 21 Bl | 39a faukid SiE $us 81
SR 3mufera rferaier fafdwor A1 &1 raenfd &R ofd € 3R & oI & o=t
# I <@ 2

[312]0—12 Page 2 of 9
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)

)

)
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3.9

3.9

3.10

3.10

311

fovde — o9 99 ™ @) |1 ey o), et smafral # eofreT | SfaR BT ©,
T B e H Ferdl € A1 S IR F U & fdg R q9y & A1 HAGAR
e @ Hledl Fedl @ Ul 2| U 8 fdg R el &1 dgdr & $9 YHR "ed g
95+ &I fawis wEd T
I — YD Fel TA W Y2 3FH/ FHel 2 ¥ |

SRE

| 3 I —

(1)  aRsmw

(2)  TTERvl Hied AR

gof offaRe wRrad

Ry

e

()  UBR foxor g Argq A foRe ArgH # ST 902w |

(i)  FEF "EIH § UBT fBReT BT MUaH BIVT Hifd BT ST T ARy |

3ferdn
e e e L= L Ly f
(i) fo=
(i) g @1 A

(@) USRI I 98 YATH 9 & oy fBAT fUve Bl gedl ddt | W B W
a8 e gofl & T[odig &5 W R Mad o 2
gedl Il ¥ 9T I &l G —

Z_GMm
- = —

I ve=,/2jR, HF W W
ve = 11.2 km/sec.
(b)  FEH W YA T BT A AT 2.4 km/sec ST AT & (AT BT it
A o A9 AT 2.4 km/sec IT I ARG BT B, I TSAT I Aag o

Had @ oY I &R O 2 | 3fd: 95HT R aigavsd Hel 8l © |

[312]0—12 Page 3 of 9
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SRZEI
3811 U =6 m/sec v =15 m/sec a =1.5m/sec?
() v=u+atd15=6+15t .. t=6sec.
(i) S=ut+; at?AS=6x6+5x15x6% .. S =63z
D12 BEIY AT JARAAT — by i @1 aRRefet & srd @7 9y @ a7 S SgI™
3T URIRET Fhed & | Al varw uRRIfY # arest i & ffdad gav ™ &1 <19
P (P+P) fbar Sirar gy 9 &1 S geax (V —v) 8 ST & o SgI™

A B W
PV
— = VP
a7 E,= VP
SIEI
9.12 5 _ &
(i) YR 4
b AN YR o< W
lr> (s
s Ys>Yr 3T N, YR A I1F YR € |
(i) O SR IN[ell & A RIS Il SATQT BT & Sdid UR d el & #ed
3FSIh deT HH BT © |
T.13  dg URuy ABDA H

w9

PV' = (P +P) (V—v)"

|1P+|gG'|zR=0
g uRuer BCDD #
(HP-lg)Q=(l2+15) S-13G =0

T el BT Fa=eAT H
lg =0
LP =R ...(1)
LQ=1S ... (2)
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S43  FERAT &1 Aol TR —
(V- Vy)= 031 .......... (1)

c |
|
(vz-v3)=032 .......... 2) q/ |
Q \Y) Vo Vg
V- V)= — . 3 '
(V3- Vy) C, (3)
afe g9 Ao &1 ged aiikar C &1 a
Vi- V= 25 (4)
. (1), (2) @ (3) BT e W
Q Q Q Q
e tC e T
ar

ol=
o

o

N

o
w

T4 dER URHIY] HiSA Bl YD HEl AfWHUAT W (1) b ol IR AfFHIA |

B

JA4  TAST Fela AR AfHT AEred ¥ Udd el R W (1) 376 | Hol IR AR |

915 () AND e | AR
E— 0 0 0
\he
0 1 0
1 0 0
1 1 1
(ii) NOR T
o’ I AR
N N = A+D —
= o T A B Y =A+B
5 & 0 0 1
0 1 0
1 0 0
1 1 0
[312]0—12 Page 5 of 9
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3dT
315 iRl —gamadt fava &1 fawe foqg & gRafia &= &1 ufshar fisiiaor dgar
= (1)

(1)  uRuY &1 AHifhd @

(172)
“1—% I —
_ T RS V, OUTPUT
meutT é‘ ggz = l?.r { POTENTIAL
AC. L L3E< - °
POTENTIAL | M c D, | N
B P@N
) ol fova g fefa fava &1 aw7a @ A aRadd e —
. 1
-V 1 - o (1%2)
\% = - ‘l\ ,J;if .7 F o —
o . 7T !\ /,‘:27t 3n " ) ;’2471
iNPUT A.C. ‘POTENTIAL' E
v NN NN
o - TT 27 37 47
@t —_—
OUTPUT POTENTIAL
.16 TYUT BT gRYTT (1)
oy I & o™ (1)
gyoT a1 81 (1)
Y] 93 B SUN (1)
a7 FH I P SUN (1)
SIRZEI
T16  STecd YU Hael &9 e UHT —
1) ®ed (1)
2) IR ®U I+ ly=1, (1)

[312]0—12 Page 6 of 9



JA7  CIRABER — I8 U U1 JfHKT 8 S GG fa9aiaR &l geM a1 9gM & oy ugad

2= x24 y2

emrl=emx?+ emy?

=+,

Bl 2|
CIABTR &1 Rigid — 3. gaara UReT (@I=T URo)
ol BT —
(1) ™ 8 g & A BT U
(2) <iE BN T BH BT BT U
@)  fered BN 9 HH B © U™
(4) GBI TIAT &RV G HH B BT U
AT
SA7 (1) TN URg B

2) IO wu

¢=J' E.dS = L eqziO

S € 0

(3 fo=

[312]0-12

f‘g 7\(//‘1
.4

S
/ )
N
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(1)

)

(/2)
(/2)
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(1)
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(1)
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3.18

3.19

3.20

_41'[80 r2
d¢=E.dS = — 3 ds
1 Q 1 Q 2
= = ds = = x4
\ '”4'”80 2 5 Tame, 2
Q
¢=;
Yus — §
Ipfeqs dAtega — |
Rf$AT T BT AR WA

30 KHz ¥ 300 MHz

SN — HaR TR U4 Cellfdod #§ | (9@ MfaRad Y e/ TuanT #)
TATANT e g fSioiea Rreat 3y 81 Stk WR U 3i | el i 3a |
UhIRID dg —

()  Fig@ — gof idRe uwRradd

(i) UYgEUT - (a) B DS
(b)  uRfE

(c) TIRTH & Side

(i)

(iv) STIRT — ()  gBET Rl & R 9AR |

(iy T D IR B ARG I BT qReT07 B ¥ | fe

[312]0—12 Page 8 of 9
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Jwfous dAtsga —

S48 (i) UIORIZS HE (1)
(i) BRPb qAT X (1)
J19 S AL S I b DIs AT AM— (3x1=3)

(i) U BT B AT H SHD IG—AG AT FUBYT JITSTD © |
(iy I g gIm qn fF R, 9 SR o) Fadl 2

(i) STW agwY e arelt e e gfad 2 |

(iv) faaxor aftre e B €1 anfe

T20 () oIAIH Sy Alaass, VEHH (1)
(iiy ST HAT BT GReT TAT IERWT A G YAP FEaEE R 1 37 | HA

IR 3ih | IR TGt (@)
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HA Tl DI H=AT : 20 HA TOI BT GAT © 08
Total No. of Questions: 20 Total No. of Pages: 08

ERR AHUSY WRIeT, feawaR—2021

313
fawg : @™ e
Subject: CHEMISTRY
(Hindi & English Versions)

FHI 1 03 T quiid : 075
Time: 03 Hours Maximum Marks: 075
fader —

(i) 797 97 5 gusl & @or ‘9 d [@yaT &

(i) 3 GUS P G goT &7 BT AT & §IT B 5 @ FIT F. 16 TF FAB T
# saR® fawey 4 14 &/

(i) ' GUS B a7 V& [3BcT H G J97 81 Bl &/

(iv) 9% 7e7 8g FEiRT 3% 797 & T sifdd &/

(v) STTeIHAFER e U THlHd [T 759 |

Instructions :-

(i) Question paper is divided into two parts ‘A’ and ‘B’.

(ii) All questions of part ‘A’ are compulsory to attempt. Internal options are
given in each question from 5 to 16.

(iii) Attempt all the questions of only one option of part ‘B’.

(iv) Marks for each question are written in brackets.

(v) Draw well labelled diagram, if required.

[31 3] 0O-12 Page 1 of 8



U1

(1)

(4)

(5)

¥ug — 31 /Section — A

|l fdwed gy —

ggref @1 AET & S| 7D 7 —
(a) HrdA

(c) foHam |3

CeH1206 T AU G —

(a) CHO (b)
() CHsO (d)
S TADBT & Yo 99 & IR —
(@) AE=q-W

(c) AE=q+W

TE Al 3T BT SSTET © —
(@) ERr

(c) dmar

T 18 & ddl P HeEd & —

(a) rfora

(c) ¥ O & aa

(b)
(d)

Choose the correct option -

(1)

(@)

[313] 0-12

Sl unit of amount of substance is -
(@) mole

(c) kgem® (d)
The empirical formula of CsH120s is -
(@) CHO

() CHsO

According to first law of thermodynamics -

(a) AE=q-W

(c) AE=q+W

Example of covalent compound is -
(@) diamond

(c) copper

Elements of 18 groups are called -
(@) inert gases

(c) elements of zero group

Page 2 of 8

(5%1=5)

fo.om.
I |3

CH20
CH4O

W=AE-q
AE =q + pv

NaCl
CO2

g I
SRIGT F)

kg
gram cm-3

CH20
CH40O

W =AE-q
AE =q + pv

NaCl
CO2

rare gases
Above all



g2 Rad e 4Ry — (5x1=5)

T eq /IR H SR ARG —
faE[d smerTacy @ T IaTeRvl faRey |

Tl AT 8

(1) (C¥ @ 12 I ¥ URATRN B FET o BT 7 |

(2) GF TP =

(3) ReRrR ST Hha & FH o SRS

(4) B fATIT Hooo sraRafia &ar 21

(5) BCls#, B-Clamae @& €= @& I BT AT ..o BT B |

Fill in the blanks -

(1)  Number of atoms in 12 grams ,C* are......................

(2) Mikisa....ccocreeeunen..

(3) The law of constant heat of summation was given by...............

(4) In Buffer solution .............cceo... remains unchanged.

(5) In BCls, measurement of B - Cl bond angle is.................

U3 el SISl 918y — (5X1=5)

(31) @

(1) ®HPRA URG

(2) gt CuS04.5H20

(3) ST W+ fafey P4

(4) REar Ca(OH)2

(5) IR &1 A AAPISS

Match the column -
(A) (B)

(1) Phosphorus Mercury

(2) Slaked lime CuS04.5H20

(8) Froth flotation method P4

(4) Cinnabar Ca(OH)2

(5) Blue coloured compound Sulphide

AR IR BT 1] A forfay |

(1)
(2)
(3) dRTS 3R AR B -8R Ao FT &7
(4)
(5)

fireq gad o1l &1 59 UdR Fad Hd 52

Page 3 of 8



Write answers in one word/sentence -
(1) Write two examples of nonelectrolyte.
(2) What is enthalpy?
(3) What is acid-base concept of Bronsted and Lowry?
(4) Write the molecular formula of potassium permanganate.
(5) How to express Gibbs free energy?
U5 UM 9 FgiE H a1 R 87
What is the differences between proton and neutron?

3erar/ OR
SITAd ol ol HEd 57
What of Lattice energy?
g6 R sifieHe @ g7
What is Grignard Reagent?
3rerar / OR

S fhd wsd 87
Define Catenation.
U7  ORAT] G 19, 20 dTel I Bl Sedgie = forfay |
Write electronic configuration of the element which have 19, 20 Atomic
numbers.

gerar/ OR

IS4 3 9 39 &R b FEd 2?

What are Lewis acid and Lewis bases concept called?
U8  HpHu grqy Wi AiffTe @i g 87

Why do transition elements form coloured compounds?

GTWTKOR
e 3% URY &1 991 &1 faf g 9o Sy forRkay |

Write the method of preparation of Plaster of Paris and its uses.
99 &S UhH UG FHATY! UhH HI FHSNEY |
Explain Adiabatic process and Isothermal process.
31qd1 / or
T BT T T HHIT HEAT BT FASTSY |
Explain the enthalpy of fusion and heat formation.
U010 ShAYR Ud SahAYIT JAMfhAT B IaTerer |fgd oy |

Write reversible and irreversible reactions with examples.

[31 3] 0O-12 Page 4 of 8
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GT?J_ClTZOR
TS ATITERIT | 31T T eI 8¢ 39 T1fdd d-+1 a1l dRab foRau |

What do you mean by chemical equilibrium? Write the factor affecting it.

911 = diffrel o e it faRay —
() ST & TR B TITd AT & ATRT AfAfHAT |
(i) T Asfed et B ARH & vy AfHfha |
Write chemical reaction of following compounds -
(i)  Reaction of ammonia with sufficient amount of chlorine.
(i)  Reaction of dilute nitric acid with magnesium.
3erar/ OR
fr=feRaa ATt & q1—<r SyanT forRey —
(i) faferer (i) foremerge
Write two uses of the following compounds —
(i)  Silicon (i) Zeolite
12 9 B Bied—haed sruforar ey |
Write Friedel-Crafts reaction of Benzene.
3erar/ OR
=1 aRade faRay —
(i) TR TemrEla | geliE (i) Ufrar SMES ¥ QR
Convert the following —
(i)  Ethene from Ethyl alcohol (i)  Butane from Ethyl bromide
g.13 fferRaa sraforami o1 fafRaw —
() ISR—<H fAfshan (i) Prfde THA TRleTor
Write the following reactions —
(i)  Reimer-Tiemann Reaction (i)  Carbylamine test
31erar / OR
fr=faRaa &1 \wsmsy —
() g&d IAFHH (i) wefelT fAere
Explain the following —
(i)  Lucas Reagent (i)  Fehling’s solution
14 3MMEI G TG BT ol QAT BIRTY |

Derive expression of ideal gas equation.

[31 3] 0O-12 Page 5 of 8

(4)

(4)

(4)

()



U.15

iv) FIIID

v) 99 qrd

Define following -

i)  Molarity

i)  Molality

i) Normality

iv) Boiling Point

(v)  Vapour Pressure

A9 fAfia uig a@t & 9 fofag |

Write the name of five man—made elements.

srerar/OR
frferRaa wieRoT 1 got BT —

i) S+ 6HNO3 — H2SO4 + H20 +.....oceene.
i)  Zn + HNO3 — Zn (NO3)2.5H20+..................

iv) 4H;PO, ——3H,PO, +..........

v) H,0,+NO——H,0+..........
Complete the following equation -

(
(
(i)  4NH, +50, —"L SANO+.........
(
(

(i) S+ 6HNO3 — H2SO4 + H20 +..................
(i) Zn + HNOs — Zn (NO3)2.5H20+..................
(i

(

iii)  4NH, +50, — " 4ANO+.........
iv) 4H,PO, —>3H,PO, +.........
(v)  H,0, +NO—H,0+.........

()

U416 WJW UfIhied BIgsidied & Forrdid 8ol & UM Ui el & 9 9 93 falay | (5)

[313] 0-12

Write the name and formula of the first five members of saturated aliphatic

hydrocarbons of homologous series.

3rerar / OR

AqTddT o ded 27 I fhdd TR Pl Bidl 27 SSIENU Thy forfRgu |
What is called isomerism? How many types of it's? Write with example.

Page 6 of 8



U7

U.18

.19

U.20

17

U.18

¥ug — ¥ /Section — B

(31) & == /(A) Agricultural Chemistry
Sa By fHd Fed 287

What is organic farming?

3rerar / OR
TT 3HIATH SReb & AW 9 g foalay |

Write the names and formula of two ammonium fertilizers.

M. UL.uA. & ufRvmr faRau |
Write definition of IPM.

3rerar / OR

7T UIve fhd w'd 27

What is called a soil nutrients?

Qe 9 SdRd # 3fax forfay |

Write the difference between manure and fertilizer.

3rerar / OR

HHRT QTG M1 T IAD 87

Why it is necessary to make compost fertilizer?
TelleR Ul &1 ois s Suanfl €, Rig $IfvTg |

Prove that the roots of legumes are very important.

3rerar / OR
SIcRISe Hamsll &1 goiF By |

Describe laterite soil.
(@) 99 A /(B) Bio chemistry

FafEsse & M forfay | (@1 <)

Write the names of carbohydrate. (Any two)
3rerar / OR

T @ <1 Ul St @ = iy |

Write any two natural sources of protein.

AT 377 T &7

What are fatty acids?

3rerar / OR
TfTgH T 87
What are enzymes?

[31 3] 0O-12 Page 7 of 8
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.19

U.20

U7

U.18

.19

U.20

I @ B foRay | (@18 )

Write the functions of protein. (Any three)

3rerar / OR
TIDIGT BT 3T TH Sooll STH ST & | N7

Why fats are known as better source of energy than glucose?
qTel 3R Hoft Rigra &I 27
What is Lock and Key Principle?

3erar/ OR
THAT 3Fel @) AT e forRag |
Write general structure of Amino acids.

() YRl AR/

(C) Environment Chemistry
STl & "B Wiae arer o & 9 foIfaw |

Write the names of plant which absorb mercury from water.

3rerar / OR

AT ufdea wiaemse w1 87

What is radioactive fallout?

3R ANl B3 dTell &1 31 & A foRay |

Write name of two gases which are responsible for acid rain.
3rerar / OR

UITIRU] & TSdh bIF H 27
What are the constituent of environment?
T Breg T S Toligel aifiT S~ HRdl 87

How do greenhouse gases responsible for global warming?

3erar / OR
STl UGN T 8?7 $AD HIAH AT b F 57
What is water pollution? Which are its artificial sources?

arg UguYT ¥ B dTel A9 T U4 P Yq¥dh b A Ry |

Write name of three diseases caused by Air pollution and their pollutants.

GTQTCHZOR
fommaTer WR wferg fewoh faRaw |

Write short note on Minamata.

[31 3] 0O-12 Page 8 of 8
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Gl YOI DI HE=AT : 10
ERR AhUS UeT, feamaR—2021
e TR

313
foyg : = E I
Subject: CHEMISTRY

yYvs — A

S W e g (6x1=5)
3.2 R worm 9Ry— (6X1=5)

3.3 SERSISEERIE (5X1=5)

(1)

(2)  g=m —  Ca(OH)2
(3) = SUared fafr - Howige
(4) RErR -  URE

5) A FMH AF  —  CuSOs

[313]o-12 Page 1 of 10



3.4

3.5

3.5

3.6

3.6

3.7

3.7

(1) Rar,  (2) @

(2) TAA TP AT Hed & | I8 YR DI FfRd AT QUT S B AY
2 |

(3) TF BIE A AR AR TH—gER & AT AMfhar F=a &, ar ureH (H)
@ JAMEF-USH §RT GIHT el &R 9 & |

(4) KMnOs  (UR[F) (Molecular formula)

(5) AG =AH-TAS
AIer eIl & 2 |
g ISR BT B |
rerar
ST Is fohece 1T srawen # S9® Mg+l & Mo W g9dT | al Hofl @l
=T w31 gad Bl © 1 39 oIl Bl SIeid SHoll had 2 |
gfesha WHIRRM gargs (RMgx) 31 RRTe afievie @ed ¢ |
AT

Pl T & URAIU[T BT IRER SR Al eMRId $RIST 1dT Iofd I Bl

T S HEATT 2 |
URHATY] H&T — 19 BT Soldgiie [a=amq
152, 252 2P, 352 3PS, 431, (2, 8, 8, 1)
URHATY] H&T — 20 BT Soldglid [ md
152, 252 2P6, 352 3PS, 432, (2, 8, 8, 2)

3eran
A A — 9 e S [ Iae Aififhar § udial selagia g
T8 BR Ahd © | 3 3T Pl o | HATd geldei JHIATE! Bl ged e
FEd © | oI BF3
JeA &R — v Sl {6l e siffhar # gelds= T N R
Ahd & Jed &R P © | AATT Solde J¥H AT DI Jed &R Ped & |
S NHs , BeClz

[313]o-12 Page 2 of 10

(5X1=5)

)

)

(3)



3.8

3.8

3.9

3.9

3.10

HHHIT GTq MR BT I Yof ®Y F WX (N — 1) d BEThl & HROT BT 2 |
HehHYT €T H 3G d Selagiv BId © | 39 Selagid Bl Uh d - Hefh A g
d - H THAY BT 2 | 3HH I J G UBRI & B [ABRON BT JGeTor Hel
g qorr Ay ffHRoN @1 ST yete & S § AT IR < 2 | gAferg HHAT
g F A a9 2 |

SIZEI
M @ fafer — f=aw (CaS04. 2H20) T S=a AU R TRA B IR 3Mh
IR g7aT © | T STt &1 A9 dieng W7 e oar g1 (CaSO0s . Y2 H20)

2Ca50, .2H,0 =X (Cas0,), H,0+3H O

SYART —

(1) wreafafeer #

(2) oA, Jfd g A

(i) S| T — VA UpA, s aRadd & 979 e iR 9189 ardraron
@ 9 SH SHoll BT M-S Tl &8Il 2 |

(i) A wHH — 9 faf ufbamet & g e o1 av Rer vEd g,
T 39 UhH BT FHATH UshH HEd 2 |

31

(i) T B TR — BT U @7 P Al 99 ST ¥ a I[a%T H gEardn
2 d9 Sl Tl gRad= BIaT & | S T &1 TS HEd o |
AHf = —

(iv) a9 &S — F[REd v 9 Rer <9 w® G 3ife @ sraadl dal |
SAHT 1 Al g9 | 7= Sofl aRac g1 8 S S e &1 Fwad
S HE T |
3al. — Hz2(g) + Cl2(g) — 2HCl(g) : AH = -184.1K cal

Sopaviig afafhar — g Iamafe sifwforar g srrfhen & Saare 8 uwafesar

@ JIMNPRD BT & | I I8 MAfhar S Sect g el <=1 fawme &\~

Bl 21

3al. — N2 + 3H2 = 2NH3

IR Jifafshar — I IfAfhag S dad Ue B e # o) B g

S fohaTdRae fohar axa fhamhel 991 & | offd g fauRa sififsrar &

Bl 2|

3ql. — CH4 + 202 — CO2 + 2H20

[313]o-12 Page 3 of 10
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3.10

311

311

312

AT
IrAfE AT B FrTaReT 9 gl 6l $heEd o, OaH 99T & 912l

BN BT Td ISl & Ig0 & Dig URId 8! 2idl 2 | Ig 37 dd 3Mdl
2 19 mfhar @ W iR uea fohar @ fq 9= Bl 2 )
S YA R dTel HRED —
(1) @
(2) SIRD
(3) <
RS Jffharg — @)
(i)  2NHs + 3Cl2 — N2+ 6HCI
(i) Mg+ 2HNO3 — Mg (NO3)2 + H2 *
3eran

(1) fifereE —

(i) Fafere Sia g9 #
(i) goaeIe &g e H°
(

(

2) fowierge -
i) ST g &N, ] AT B wY H |
(i) Rifores M a0 2|
WIS hIYC MIHAT — STd Uledhdl galigs &I AMAHAT I=iig & a1 Foid (4)
AICls @1 IuReIfa # o313 Il © df Ufedd doiiF UTa il & |
CH,

fiyster AICI
@+CH3CI > @+HCI

Morer ST (fgée)

TRIIHRYT AT — S8 TRISTA FeiRIgS @f ifAfdhar §9i9 @ e fAsiar
AICI; &7 SuRerfa & ®xd & dr THICIha a1 2 |
0=C-CH,
0]

I fAstat AICI
@+CH3—C—CI >y @+HCI
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Sl

312 = gRads —

(i)

313 (i)

813 (i)

[313]o-12

il Yedhigd | Qe —
ALO,
CH,-CH, —OH — ") CH, = CH, +H,0
19 (Ethene)

Tfret SRS | e —

TP R
C,H,Br+Na+C,H, -Br » C,H; -C,H, +2NaBr

gt 3
ISR S ARWHAT — FAIRBH &) Iv= NaOH 3R BIFTe & a1 (4)

60 - 70°C dd 9 &+ R i Aferrer vfeeers a9dr 2 |
OH OH

CHO
@+ CHCI, + 3NaoH -20=70°C +3NaCl +2H,0

PIfdeT THIH JAHAT — FARIBH BT UTdHd VHIF Tl Uehlgall BIRCD
UGSl & 91T T R WR A g Jad faver yared wive arsdl
AGATSS 9T & |

C,H, - NH, + CHCI, + 3KOH—> C,H, - N 2 C+3KCl +3H,0

BiTel g
SIERIES]

ST

RN AMHHS — F5ier ZnCle T2T |t HCI &1 fAs101 b e
BB © | 3D gRT URIHASG fgdiiad U e Uehlsd &I ggemd &bl
ST 2 | AR A9 WR UTIfe obled B Affhar 81 &_al | fgdias
Tehied A & 5 e qg deild dhe Ided UK Bl & | Jaidd
Uehledl ¥ JRA AMMHAT B SRl 8 3R Tl Fha 3f@ery U 8l & |
Bl faers — AIfSam Ui erdve & Aafoa ek CuSO4 &7

e wefeliT faca deardr 8| 99 Ufessss & s9d A1 TH Bd
g dI UfeegTss &l JMTRNBRIT & ST & 3R Cu20 &T Tl 3798ty e

2T 2 |
RCHO+Cu0 —4 Cu O+RCOOH

TS 38T
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3.14

3.14

Jfe fosft 1 @ v FfR¥Ea 9= & forv dfad, vantsr 9o ared e @ r
ANT PR R 396 7eF U el AT BT Sl & | 39 1 AHIDRUT Hed © |

IR & FIATER

Voo ReR AT W) (1)

I & AR

VT (ReR <19 W) (2)
TanTgl & AR

V xn (ReR AT TF QM WR) oo (3)
THIHIOT (1), (2) 3R (3) A

nT
Vo —
P

nRT
= V=—
P

= PV=nRT
STef Rt 19 ReRrisp 2|
g n=14ar

= PV=RT

PV
= —=R
T

SIZEIL

(i) AroRdr — “fIeET @ AleRdT I9S Ydh folex 3 gol Ao uaref & Arall
B E=T B 17 59 M gRT <2id 8 |

(i) Hrererar — “fHT fdere @1 drcterar g 1000 3 f[Aamas 4 geot fae
geref & Al Bl AT 817 39 m gRT YaRid &_d ¢ |

(i) -Metar — “fH faerms @ AT S9ad Ue forer faeraa # SuRerd
faer & w gouiel @ A 21 s N i 2

(iv) @Fie — "98 dY {59 W ¥9 &1 a9 q9 A4S argavsald a6
IR BT 8| 59 3BT CE |

(v) 9™ g — “fodll g9 &1 arsdieRor fhar Sy a armEse #oaryg @
33Tt §RT &9 &I WA W Ud <19 Nfid 81T 8 I <19 aTIGTd HEerd]
gl

g = a9

[313]o-12 Page 6 of 10

()



3.15

3.15

3.16

3.16

erar
FHHROT ot IR
(i) S+ 6HNO3 — H2SO4 + H20 + NO2
(i)  Zn + HNO3 — Zn (NO3)2.5H20 + N2O

(i) 4NH, +50, —PL54NO+H 0

(iv) 4H,PO,—>3H;PO, +PH,
(v)  H0,+NO——H,0+NO,

Fordr goft & &1 HARTT FERI & S0P BT 3R CH2 BT 7 |
9 9100 BT AW G CoHanin 8—
(i) W (CHa) (i) VI (CoHe) (i) WU (CsHs)
(iv) =9 (CaH10) (v) USH (CsHi2)
SZEL
THEIqar — 9 IS [ URE F9H 8 © offdhd Gl 93 o= fie=
B | U TP G & FAGIA! Bedld © | T $9 T[0T Bl FATGIId H8d ¢ |
J T YHR BT BN 2

(1) EREAHS FHAEITdT — I AURY & Ga GA H =11 & HROT Bl
2| 39H VA W B € | R AxeHT g3 e B g | ¥ ueR
®H BT B —

(i)  HEell FHEGIdI
(i) I FHEGIIAT

(i)  foparcHDdT A8

(

(

iv) FeTaadr
V)  TelTagadn

(2) Bxfam FwEgear — 31 a1 &1 9 A e RTH1 SR T AR
AAE BT 7| g Bfm # e @ egaRen e Bkl ® oS ffam
TG e & | I 9 YR B B 8-
() fo=ar=ft FHEgar

(i) ERUI AHTGI]
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317

3.17

3.18

3.18

3.19

3.20

3.20

yYvs — ¢q

g8 fafdr 98 Geoifdd SRl Ud Geifdd &1 wanT 81 fhar Srar 21 3R

BT TN fhar ST 2 |

ST
(i) emIf Aohe 7 — (NH4)2 SO4
(i) smIfaH AISge A — NHaNOs
TPhIpd Ured e U U Ughd 2 | orad died ST &1 smaral | 8 arel
aRacHl Tl IHA R qAieReT B &F H WA gU WM UG Ush
FEad ah-ID! ST AT FHG JATd SYART fHar Srar 2 | iR drgdT @ amard
B I WRI A AR @ A1 g S e afd S aRd 2|

ST
qIey &1 Y i vd e & foy sifverd I/mafe @ BT a1 Ul
I@ HEd 2| 987 e a — N, P, K @ o1 uiwe g — Ca, Mg @ S
3R g&A uIve I Fe, Zn, Cu, Mn &

T SEGT

(1) wEdt AT U RN § 94 = | | (1) I RS B ¢ |
(2) SO I UIYd dd UeH Rd | (2) g MRFd uve dw 8 use

g A 2 |
(3) #E 3Mfd®w B 9 wR gl 3R | (3) AT IMf¥@ & oM wR gl @ik
HEe IR R Y9G 81 ISl © | B TR gRT YN ISl 2 |

HellaR UIEl 1 STl H ISSaTd SIEIv] urdT Sl & Sl argHse &l Agg ol
BT RIHIUT AT B | I§ FEoNAdl BT ISIEN0T & | Hex, I+ 3nfe &1 el |
U7 ST ATl JISOITaTH STelfT—3TelTT & Sl S9! Ul H Ao &1 ReNIHRor
AT B | T WellaR Ul Bl Hhfid Te] dral & |
Sl

oiexige el &1 fAfvr auf & wror Riferdr & Ram@ | B1d1 21 70 U
qag # ol IR THAATH @ Aadrgs! @ Af¥awdr gl 2 | 7 JaRil &7 I
T H S B GHE ol BT 2| 399 dfedyd iR FIRRE & °E HH
Bl &, g guaTed iR &Y 8l € | PH A= 69 BIdT € | 39T Y4
qfereT @fst saiiferrge BT ¢ |
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3.17

3.17

3.18

3.18

3.19

3.19

3.20

3.20

@) 39 ERA

(i) vepret (i)
3ferdr
() o yBpR B T (i) TN
(i) = (iv) g d a0 axqy (@S <1 fore )

AT IR P IRATIRIT BT T STeAT §RT TS BlAAH 3 & oD T
RN R praifeaiers goe (-COOH) B & I8 [ a2l Fga alHl bR
@ B 2|

ST
I8 Sifdd IARS I Sial | e At w1 URT axd © 1 A U
B 2| Sg & IRR A B dTell B IrIfe sififdaret a1 fafafia s
g
(1) ¥INR @7 Ifg vd e H|
(2) T RIS &HdT ST~ B H |
(3) ad BT AFHI SHM H FERIS T |

Jrerar
JHTG ITH Holl T © | TG ORI & SATFAIHROT H SHoll Gadd eIl & | A Fpoll
B B ARG F qad SHolt F 31 Bl 2 |
e fheR 9 1890 H UwaisHl @1 faRmedr &1 wHSIM & folg e Aisd
TR BT 81 IR 3R Uwalrgd &1 fhar &l arelm foil &1 §<H Qi
FHASTAT | TollgH Pl SRS I W JATHIT 7 AR BT [T eIl g | df d
Uh S @ A1 o d © | Ife IF WA B ® f fhar wwia gl 21 afe
QM B JATpfa H ulkac sIar © dr fhar 8l 8l 2|

Jrerar
SRTAT o H P Blee URATY] AR I Wl 9 Sl g BT B | Sl
gssio (H) 3FHl |98, (-NH2) wraiaaferd g, (-COOH) derm arfaRead
sgett (R) (side chain) & | IMMT 37 H R I Hled URATY] IR 31

[

e IS B 2|
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SAé

3.17

3.18

3.18

3.19

3.19

3.20

3.20

() qgteRYT ERE
(1) faResm  (2) =Efger

SEL
TSI ARl & I aiIgHsd H Sfeid SAl Yfddsngs bl SAT
ufded hict ST FEd 2 |
) oWy SIS Sffadrgs (SO
) Arsfesd sifeargs (NO)

(1
2
Sl

gafeRer & QI HCh o
(1) <ifas gca
(2) snifd® gcd
argese § W9 88w 1 (CO2, NO2z, CH4,CFC) 31 &7 3gurd 9acl & Sl
AR fAfBRon BT Aebedl 2| fTHA gedl &1 qUAM QT AR TS I
(FereadTu=) BT | 9 SRR & HIRYT Ble-d Ut & Geroiidd F=IIdmRoT aof
1 SIYIT ST aRgFsd § CO2 3R CH4 @1 AT 9T <17 |
StdT
S BRI H B g Big 1 Wifde e a1 Sfaw aRads Rear shifad
STial R STars U9 Ul 8, STl UguoT HEelrdl 2 |
PO B —
(1) aifed aa
(2) 3iEnfire smfire
(3) P smfire
arg Ugyl | B dlel T —
(1)  TRhdIgHA, dhlgfcd — Ug¥dh CO2, SO2, PAN, Os
(2) BRI FHA I[T — THRITE, BT il
(3) RRad — SOz, PAN, O

Sl
AT AreT I araa # Sifaw uRT fAwradr 21 3 S ugwer URd 9T 71 S
gl # /Rerse |RAY & IoTg | BT 8 | SHD BRUT Sl A8l dI aolg A
BT 2| 59 UBR & I H UNTAUH, Tl § Hfe-rs 3nfe 7 81 I 2 |
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Gl Y| DI HE&AT : 08
BRR Ahvs TR, feamaR—2021
Y SR
314
fawg : o9 fagm=
Subject: BIOLOGY

g — 3"

31 w8 e —

32 R wmH —

I3 TP UK H W —
() <irgem
(i) 4
(i) urgU gEE
(iv) CO
(v) Sfell 7S
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3.4

3.5

3.6

3.7

3.8

3.9

3.10

e e — (5x1=5)

/- (5X1=5)
(i) <

(i) v

(iii) 3™

(v) o

(v) o

Sdh— DIRGRI BT THE S &1 9 B § 94 & Hdd e ¢ | @)
HIDT B IV~ ()
()  gaOSiidr 8 8 |

(iy PRE MR-—®ge @1 & 2

SaRada— I8 D.N.A. 3FIHH | B dTe 3feTdh URId = | 2)
AR — Sl § grm S grel a8 o7 R etor Jie fUdr & gRT SHad!

Fafr # S 21 naifia wEerh | )
IRRIRRN— I8 e Rifbcadia ufbar & R o & gof yor & R
SATHATRICTRN, HhHUT g folvT uieror fohar Sirar 2 | 2)
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311

3.12

3.13

3.14

R T (3)

&)
T =
(1) |JBgaR AT i gl | (1) | I8 WHR A Ia~ il o |
(2) TIH At 9 ScxAle Tel Ul | (2) TIH Ale 9 gexrs IR S
I 2 |
(3) UE FMCHD YDA 8 | (3) | I8 BFIcHD UbrRITgad! i
2 | 2 |

W WREV— Sd U g9 & WRETRYT Sl g & alqary W ARd & | a8 fhar
TIIRTTOT HEeTl B | (3)
T

() Y€ vl arell Fafa wred e 2 |

(i) gIT g HABIG DI AELIDBAT el B |
=7fy—

(i) famrm @ FwraEr T B

(i) FdfT HHOIR B B |
JaifRreT FifAa— (3)
(i) fveH

(i)  ofwferi #

(i) SER A

(iv) C’HTTETFﬁ H

Ae— SWIFT & AfIRET 37 B 3 WEl AN /R [@e foray W 3fd &
S |
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3.15

qIeY HIfRABT Sig DIRIDTI
(i) | ureT HRrET F Fogetst @ a9 | (i) | 3T BIRIET AR T 8 |
PIRTHT fART IR S R
(i) | wnRes suRed (i) | wRes =81 8l
(i) | Afgelel aruRerd (iii) | Afgaier SuRed
(iv) | Rfddsn <t gl 2| (iii) | Rfaqed srquRerd sierar s
Bl T
SRCIN
3.15
ITRRer LIRS
() |ge @SR BN 2 T el | (i) |98 el Bl 2
&l Bl © |
(i) | uE iiRcalcae g ofiReet | (i) | 98 dlogge & 9+ Bl 2|
ATge B 991 B B |
(iii) | erRer woom SuRerd a1 21| (i) | 3Rer #oaTT srguRerd il 2|
(iv) | zafGae d= 9mm S 2 | (iv) | zafas o 981 Uil I g |

S16 R b BRI—
() I DI TH A

(i) @O, FRTeM 9 WIE o H AGg dRAT
(i)  RFTIRAT BT T B T B gaq A & |
(iv) R ¥ SuRerd WIdH 9 fAmer qfdl & g8 9 &l &_d 2 |

SIEI
3.16
I EIGE

(i) |xad @l T BT BT 2 (i) | g STE9 BT '

(i) |ug g, BRT 9 g<9 & g1 | (i) | 98 forve dif¥ramen, afieT e @
gRRarfed giar & | <IRrepT arfeferal gRT yRarfed grar

g |

(i) | <ol Yad BB IR ST | (ifi) | o Yad BIOTHRIRN BT 1T Il
g | g |

(iv) | wRfeacE @& SuRed @ | (iv) | BIREFNH & BF ATFT & BRI
HRUT AFHT STedl a7 ¢ | ¥ orqhT 97T B |

[314]0—12 Page 4 of 8



ST 33 9 SwhR Pre—

@ & aE

[814]o-12

Page 5 of 8

(4)



3.18

3.18

STl UG & HRU—

() Ngar d TR e |

(iy S fFrsprE 98 e | AT e
(i) aienfe sl @1 Frem |

(iv) Rt srlne &1 fsr |

(V) SRS T HleArRIDl BT AT |

fARTeHRoT—

(i) STERel IAREL BT e T8 e | e

(i) ®we g fSeoi< BT SUANT fhar o |

(i) fafrcaer smfdre o1 freere T8 W I 8
(iv) -1 T ST Al dF FBTs | AGG B |

(v) diET | g7

B

=T YU RETI—

) IS TR d CO, @1 AT DI Ffeld Bl 2 |

(
(i) agHSS H ITEAT IR T B |

(i) fafr=T Sare Me, R, R T ¥ Sfe U B 7
(iv) 9% SdR®a A gfg d eI |

(v) St fafderdr &1 aRefor g 2 |

(vi) =1 STal &1 e 9 ¥iole Sude 8idl & |
(

(

(

(

vii) H&T SRS W EHAT 3@ o HahdT B |
viii) Sfeferdt urd Bl 2 |

ix) Sidl & 3T v |l AP |

X) 99 TG AaTID
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3.19

3.20

gvs — g
FHad HaT—H3T Tyd Jegd 7 Ui 7 BIRIGT A7 SHdd BT Sferd 3raRen # @+
R gui 4T SR BRA1 s Haee e § I8 S P A 7
SYINT—
() T O FH I H TR BT 2
(i) N Uy eif¥e W H S @Y ST Aol § |
(i) @rg fawmo] U9 M | qad BId 2
(iv) =9 wforar &1 99 R Aaferd fBar S A6bar © |

(i) <R —

el & gEaE B AR H STIANT BT T |
(i) rReE —

g Uil & g BT I D P AW 2 |

T8 I BIRGT G BT AARRIT BT & |
(v) W -
g ATl & AR § P AT 2 |
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3.19

3.20

faeeg — |l

ARE— ARG S A UTT B Tl Widhidd T 8, I8 Th DIc & gRI S

BIAT & | [T &Rg &1 P Pad © | I8 by YTl BT 8707 Bl © | FoTdHT |re
=T 5—

fST— 60 to 70%

I5Th— 210 10%

HAH— 5 to 6%

Gfsi— 5 to 6%

T ugRi— 5 to 10%

Slel— 210 3%

ARG © STANRT—

(i)  Smgoor &

(i) arfer 9 U @ AT A

(i) ver uiferer a Y A

(iv) 3me (gUur) &7 fUsel 9rT #

HOSl Ul & o—

() ¥Rd H 7S T 7Bl & IATE DI AW (AP B |

) ISR # I UG {ed T $d B |

ii
iii) TR STeary Awell ST & oy Sugad B
iv) ol ¥ gfg B arell A= fred Sueter @ o Sieal Resd <ar 2|

(

(

(

(v) ¥WRd H A8l UTeq SR BRIGHE J9dd B |
(Vi) ®¥ M H Aol |
(
(
(
(
(

vii) T ®H ITed SITql |

Vi) e S SN BT\ ST 7

ix) STHEAT B G99 gl IS & |

X) ddTaRYT BT JHAE Tel ugan |
xi) A AT 3 P 3 FT ¢ |
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Gl T DI H=AT : 20 HA TOI BT GAT © 08
Total No. of Questions: 20 Total No. of Pages: 08

ERR AHUSY WRIeT, feawaR—2021

314
fawy @ Shafasm=
Subject : BIOLOGY
(Hindi & English Versions)

FHI 1 03 T quiies : 075
Time: 03 Hours Maximum Marks: 075
faeer —

() T ge7 A &/

(i) o7 95 & g Gvs) & gicr 7yr & @vs I vq Gvs '/
(i) @US 3 & T goT T &/

(iv) Fo7 HFIFE 15 & 18 T& §94 § ialee Reey &9 13 &/
(v) @US “§° & HIcl VF [dbeT & T Fo7 8o1 &Y/

(Vi) STTIIHATTEN G2 THlIbd 37 759 |

(vii) F&F J¥7 8Y AT 3F J97 & TG HiHd &/

Instructions :-

[314] 0-12

(i) All questions are compulsory.

(ii) Question paper is divided into two sections. section “A” & section “B”.
(iii) All questions of part ‘A’ are compulsory.

(iv) Internal choice is given in question no. 15 to 18.

(v) Attempt all questions of only one option of part ‘B’.

(vi) Draw neat and labelled diagram wherever required.

(vii) Marks allotted on each question are mentioned in front of the question.
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yYls — A

SECTION - A

U1 93

(1)

(1)

(V)

faddheq Frax ferfay —
HARYT T BT IR § —

(@)  3rHYEr

@) et

(@) grefr

(@) SWIFd H A Pl &l
gaTer AT fahe W # 'l 87
@) U H

@

(@) BIRMGT Har |

(@) SWRrgd T H

3@ & S® g Od & —
@) #Hea

@ JRT=

)

(@) <fde F=A

(@) =wmfde Rig g

IR # Rig & enaror # e 87
@) R e

@ W ®fde

(|F) PI=l e U

(& @7 faEr

faeTi®™ D @& & | 8 arefl 9T 8 —
(@) diferar

@ -

(@) e

(@) Raocw

[31 4] 0O-12 Page 2 of 8

(5X1=5)



Choose the correct option -
()  Malaria disease parasite is -
(@) Amoeba
(b) Plasmodium
(c) Euglena
(d) None of the above

(1)  Light reaction occurs in which part?

QO

) Grana

b) Stromal

(
(b)

(c) Cell membrane

(d) All of the above

(Il1)  Father of genetics is -
(@) Mendel

(b) Kurian

(c) Robert Brown
(d)

d) Hargovind Khurana
(IV) Lions are found in which National Park in India?
a) Gir forest

b) Jim Corbett

(
(b)
(c) Kanha National Park
(d) Van Vihar

(V) Disease caused by deficiency of Vitamin D is -
(@) Jaundice

(o) Berry - Berry
(c) Night blindness
(d)

d) Rickets
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U3

Rt vt @1 it @ifore — (5%1=5)

()  WHAMC H TRATAD o T8 BraT 2 |

(i) OUFTT TSITEH oo H I ST B

(iil) BT B T TR IrIT ST 2 |

(iv) & B TIAT AIT oo # far Srar 2

(V)  UfISIA® BT I e 9 @ ol |

Fill in the blanks -

(i) Anactual..................... is not present in Prokaryotes.
(i)  Pepsin enzymeis found in .........cocoveiiiiiiiiinianes

() e is present on the top of the sperm.
(iv) Sound intensity is measured in ..........cocooiiiiiiiiiiiiia
(v)  Antibiotic was invented by ...

v e H I o — (5%1=5)

() O H ST BT Hagd fHd Has gRT BIAT 57
(iy AT BT g fha Fwell &1 g7 Brar 27
(iii) NI T B°

(iv) UP arg ugud &1 M ey |

(V) UM S dl BT A gargy |

Answer in one word -

1)  Which tissue conducts water in the plants?
2) How many chamber does the human heart have?

4

(1)

(2)

(3) What is Auxin?
(4) Write the name of one air pollutant.
(5)

5) Give the name of first animal clone.
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U4

U5

SRS ERIEN

) @)
(1) ¥ (1) wrgerRitgar
2) AT.P. 2) <+
(B) TR (8) <
4) D.P.T. (4) ufFmdleE
5) <= (5) <iaeraRie™
Match the column -

(A) (B)
(1) Frog (1) Mitochondria
(2) A.T.P. (2) Gene
(3) Chromosome (3) Vaccine
(4) D.P.T. (4) Amphibian
(5) Curd (5) Lactobacillus
g / 3racy fofay —

) AT IR BT I TR DIRDT, dBT IR B |

iy JIB B gRT Y9 Yg BT T

iv) TS I HIV gRT 8 2|
V) NS T Sfiar 2 |

True / false -

(
(
(i) =T 3IeySTd Wig F |
(
(

i)  Nerve cell is the largest cell of human body.

i) Blood is purified by kidney.

(

(

(i) Human is oviparous species.
(iv) AIDS disease is caused by HIV.
(

v) Bacteriophage’s is a bacteria.

[31 4] 0O-12 Page 5 of 8
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U6 Had T FAT AN B2
What do you understand by tissue?
U7  HAD & I A9 IA8Y |
Name two characteristics of fungi.
g8 IARadd &1 g?
What is mutation?
w9 ARt fed wed 22
What is heredity?
710 UFIRICIRG @RI 27
What is amniocentesis?
Y11 U<l BT e Ud AMifehd I 99184 |
Draw neat and labelled diagram of a leaf.
Y12 S Ud 9 H Pig O 3fax forRay |

)

)

)

)

)

(3)

(3)

Write any three differences between stems and roots.
U.13  TWURETOT 97 27 $96 o U4 g1 forfay |

What is self — pollination? Write its merits and demerits.
T4 STIAIRIGT AMIIS & STUANT IAT8T |

Write the applications of Genetic engineering.

U145 UIGY PIRIGT UG S PIRIGT H R foay | (15 4)

Write the difference between Plant cells and Animal cells. (Any four)
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.16

17

.18

3erar/ OR
JRer Td SutRer § w1 3R 87 (P18 4)
What is the difference between bones and cartilage? (Any four)
IR & B falay | (@15 4)
Give the functions of saliva. (Any four)

3erar / OR

R Td oRApT § 9T IR 27 (TS 4)

What is the difference between blood and lymph?

T P FWEER BIC B W U4 AHifbd oy 99187 |
Draw neat and labelled diagram of vertical section of eye.

3erar/ OR

Mg & Icdoid a3 BT e AMifhd I I918Q |

Draw a neat and labelled diagram of excretory system in human.

STl YU & HRYT g R forfey |

Write the causes and control measures of water pollution.
3rerar / OR

I Sia EReT0T B SUN 9a1sy |

Write the measures for wild life conservation.
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.19

U.20

.19

Y.20

yrs — 9

SECTION - B
fdped — |
OPTION — |

Hdd FaEH R 2?7 396 IuAnT forfay |

What is tissue culture? Write its uses.

AFRSTHT B AW T 9P SYANT g8V | (H1S 5)

Give the name of stain and its uses. (Any 5)
fawes — I
OPTION — I

TR FT 2° 3D IUANT faIRay |

What is Lac? Write its uses.

ABC! Ulele & o 9ad1st | (PIg 5)

Give the advantages of Fish Farming. (Any 5)
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G T DI G : 24 Gl TSI Bl GEAT : 08
Total No. of Questions: 24 Total No. of Pages: 08

I : 03 HUS
Time: 03 Hours

ERR ABUSY W, foaw=R 2021

315
favg : sfoe™
Subject: HISTORY

(Hindi & English Versions)
quries : 100

Maximum Marks: 100

e —

(1)

(ii)
(iii)
(iv)
(v)
(vi)

(vii)

T goT §e7 BT AT &/

7o HHIE 1 @ 5 aF T Iegie §e7 & §&E Je7 5 3F @7 &/

go7 HHIE 6 & 10 TF FAB F97 & forg 2 3% [T & va g @7 oov
ST 20 Tt T v/

go7 HHIE 11 & 15 TF J4F F97 & o7 3 3 R & va gdd g9 &7
IV TTHT 30 T=) 7 gy

JoT HIIE 16 20 TF JAF 97 & o7 4 3iF [RT 8 VT gdF F97 &
TV TTHT 40 FIgt d [y

o7 FHHIF 21 3V 22 FAF F97 @ o0 5 3% [FERT & v Fcdd F97 &1 G
75 I5) & [y

o7 HHH 23 3V 24 JAF 97 @ o0 10 3 [FIRT 8 TF Jdd J97 BT FTv
150 FIs5) & ferfdgy/

Instructions :-

[8315] 0-12

(0)

(ii)
(iii)
(iv)
(v)
(vi)

(vii)

All questions are compulsory.

Question Nos. 1 to 5 are objective types. Each question is allotted 5 marks.

Question Nos. 6 to 10 carry 2 marks each and answer should be written in about 20
words each.

Question Nos. 11 to 15 carry 3 marks each and answer should be written in about 30
words each.

Question Nos. 16 to 20 carry 4 marks each and answer should be written in about 40
words each.

Question Nos. 21 and 22 carry 5 marks each and answer should be written in about
75 words each.

Question Nos. 23 and 24 carry 10 marks each and answer should be written in about
150 words each.
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U1

o

el fddhey &1 T difoTy —

(i)

(ii)

(i)

(iv)

ITTOT YA B ISR B o —

@) «' @ @) UYeR D
@) & D @) @D
Y P AT BT AH AT —

@ @) IR
SIEGEIEE (®) urefeys
TET—U—dTHA BT 0T fhat dRmar ofr?

@n  IREME @) PR
(4) emETet (@) oiRTuE
TR 7 IRA R 6 3MhHIT fHar?

(1) 1388 E. @ 1398 E.
(A) 1414 3. (@) 1415 3.
ARA H 3¢ ST T DI RATIAT Hd BT TAT?
(31) 1600 E. @) 1601 g
(&) 1602 S. (@) 1603 %.

Choose the correct answer -

(i)

(i)

Stone Age tools were made up of -

(A) lron (B) Stone

(C) Copper (D) Bronze
The capital of Magadha was -

(A) Kannauj (B) Dharanagri
(C) Takshila (D) Pataliputra
Who built the Takht — e — Taus?

(A) Sher Shah (B) Akbar

(C) Shah Jahan (D) Aurangzeb
When did Timur attack India?

(A) 1388 A.D. (B) 1398 A.D.
(C) 1414 AD. (D) 1415 A.D.
When was the East India company established in India?
(A) 1600 A.D. (B) 1601 A.D.
(C) 1602 A.D. (D) 1603 A.D.
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U3

Ree vt @1 ofif B — ©)

(i) ST T B amsM e by |

(i) AT SRAT oo # Rerd 2|

(iii) SN & G o q did B G&T BT gaerd fHar |

(iv) TEID AR Al s o AN BT ol |

(V)  RTAPST A B HRRATTD oo |

Fill in the blanks -

(i)  Aryans built a total of..........ccccnmiiiiiiiiine. Ashrams.

(i) Buland Darwaza is located in...........coeeeviiiiiinnnnnes

(iii) Delhi Sultan................. established copper as a medium of currency.
(iv) Subsidiary Alliance was established by Lord.............cccceennnnnne.

(v) Founder of Ramakrishna Mission was...........ccccceeeeeene.

FE TSN gAY — ()
(e) @

(i) S BolA (a) sSHRMI

(i) < gpor (o) &Ter fawToT

(i) 8 o (C) SURTEATE =l

(iv) M 9+ (d) IIhid! ATRINE

(v) Tl dToidd (e) WEM IR

Match the following -

(A) (B)
(i)  Lord Curzon (@) Indonesia
(i)  Dr. Sukarno (b) Partition of Bengal
(i) Idi Amin (c) Extremists
(iv) Amartya Sen (d) African Tyrant
(v) Lala Lajpat Rai (e) Great Economist
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g4 f=faRad ol d 9@ /s filae —

(i)
(ii)

TY BT RANT BT qoTIeT o |

JreATSe Raeroll =1 <afiiR UR 3T farar o |

(iii) RIS & HeRITUd IRAT Seell 7 YEHOT B e |
(iv) YRR AL ST B RATGAT AT HT TGl o D |

(v)

ITATS! vl dfe faferam dfea =1 arp @1 ot |

State True or False -

(1)
(@)
(3)

(4)
(5)

The court poet of Harsha was Banbhatta.

Alauddin Khilji attacked Devgiri.

Shariyat Ulla, the founder of Fairaizi Movement, gave the teachings of
purification.

Indian National Congress was established by Gopal Krishna Gokhale.

Ryatwari was established by Lord William Bentinck.

g5 fEfaRad ueHl @ SR TP e AT Uh a1 H SIRTY —

(i)
(ii)

(
(

(v)

SR dfed drar | e yomel wr oN?
Il gAT BT 3T fhas foar?

iii) fgcia fava g o9 g gamm?

iv) W 1857 & HEY BT dlchlfeld HROT T AT?

9 I /T AU 87

Answer the following question in one word or one sentence -

(1)
(@)
(3)
(4)
()

[8315] 0-12

What was the education system in the post Vedic period?
Who ended Sati Custom?

When did the second world war started?

What was the immediate cause behind the struggle of 18577

What do you mean by Mansab?
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U.6

ur

U8

.9

U.10

AT USTfT & Faifers U ey fhd 397 & uref gy 27

In which country has the most number of ancient relics related to human

history found?
31fdr / OR
HTRI See fod B & forg ufrg &7
For which crop is the Kaveri delta famous for?
TSUT—IIRTAT & AT & A1 AR & Geel § fIRay |

Write about the commercial relations between the Harappans and the
Mesopotamian.

31041 / OR

I8 1 87 FIIS & N | 3MY FIT ST 57

What are Vedas? What do you know about Rigveda?

ERT IR & IR &I dwal & M foIfey |

Write the names of four major centres of Diamond production.
31041 / OR

SIS U fdy dgd o7

What do you mean by Jajmani system?

STERTR @ BTl § faadal § o1 gRad My?

What changes occurred in the field of artwork in the period of Jahangir?
3rerdar / OR

3B 7T TR B AT T HH DI?

Why did Akbar reduce the powers of Wajir?

v favagg H el i Rl & A4 forlag |

Name the allied countries involved in the first world war.
3rerdar / OR

ATRIATE] (ATRIATS]) ATErare @ 9R faReEl €, aai?

Why are Marxist people strong opponents of capitalism?

[31 5] 0O-12 Page 5 of 8
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.11

12

.13

.14

.15

UTE UTSTT AT & @ANT Sifddlarei & forg @ &_d 97

What did the people of the Ancient Stone Age do to earn their living?
31791 / OR

g HEHA & T BRI A?

What were the duties of Dhamma Mahamatras?

SIS 71 AT T AT AT SHBT RIT A AT?
What was Dandi March and what was its significance?

31e1dq1 / OR
Are ®oid o e &1 fawre i faar?
Why Lord Curzon did the Bengal partition?
I ARIT YO T A 27

What is meant by Dual Government system?
3rerdr / OR
e Uae, 1813 B J&I fAeyamg ar off?

What were the main features of Charter Act, 18137

Qe Ao & IR H JASSY |
Explain about the ‘Swadeshi Movement’.

3rerdr / OR
b fafre Hel uR SRISINT STala B YA §g?

What were the main reasons for Non-cooperation Movement?
M@ IEATE BT T A &7
What is the importance of economic nationalism?

3rar / OR
faerar fdae R &9 IRd guRs 7 9 far?

Which Indian Reformer stressed on widow remarriage?
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.16

u17

U.18

.19

U.20

YT IRA A8 & S99 & Arefcad Sdl & SHaRT ST |
Give information about the literary sources of information to understand the
ancient Indian history.
3rerdr / OR
U ST & Siiae § By BT a7 Jg<d o1?
What was the importance of agriculture in ancient Aryans?
Tl # REAl @1 Reafdr wR yaprer SIfem |

Throw light on the conditions of women in Gupta Period.

31dar / OR

T GHTST @ U & T HROT 97
What were the reasons behind the decline of the Gupta empire?
T T B wU H T Ahe TRl gs e
Why did Razia fail as a ruler?
3rerdr / OR
qeRIe qHetd Bl fbol &l ARl B DRI I |
Give information about any two schemes of Muhammad Tughlag.
WA & g g &1 aui= DIy |
Explain the Second Battle of Tarain.

31edr / OR

BN B U YIRIT & IR H AHSV |

Explain about the regional administration of Akbar.

T gg &1 1ef sy | gHA RIGTd &1 T SEe a1?

What is the meaning of cold war? What was the purpose behind the Truman

Doctrine?

3edar / OR

STle T AT? SHABT STHB DI oqT?

What was Detente? Who was its founder?

[31 5] 0O-12 Page 7 of 8
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.21

Y22

U.23

U.24

G UV BT BT faRward forfay |

Describe the characteristics of Neolithic age.
3rdr / OR

JuIis & &1 AR N |

Explain Varnashrama Dharma.

S & S STl bl HHSISY |

Explain the mass movements of Gandhiji.

3edar / OR

STABANT JATGTAT DT FHSTLY |

Explain the Non-Cooperation Movement.

HEIDTel HRA H ATUIRS TG 1 AHDI ffeqdwel 3R FHS H a7 YA
ferrs wemge?

How did the business class contribute to existing economy and society in

Medieval India?

31edar / OR

AEBTA RA B JaT UOTell DI FASTSY |

Explain the monetary system of Medieval India.

dre #Adlel gRT IRd # fafeer e & iR &1 awsmge |

Explain the expansion of British education in India by Lord Macaulay.
3edr / OR

HRTH YT DI MY I+ H T 3eHe @T Bl YfAD! garsy |

What was the role of Syed Ahmed Khan in modernizing the Muslims?

[31 5] 0O-12 Page 8 of 8
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Gl YOI DI HE@AT : 13

BRR Ahvsy TRIeT, faawaR—2021
I SR

315
fawy : gfos™

Subject: HISTORY

31 el fadey &1 =TT —

I2 Rad wmi @ gfid Fifvg —

(i) =m
(i) s W @INRI) H
(il) FeHc giTcid
(iv) deiotell
(v) @ fadeHe
I3 el oSl g8y —
(@) @)
() oS Foid (b) TS BT T
(i) =1 gl (a) gMRRT
(i) =AY onfi (d) amHa arTeTE
(iv) o/ |+ (e) HEIT 3R
(v) el dToiyd (c) SURTSEATSl =T
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3.4

3.5

3.6

3.6

3.7

3.7

=1 g/ sacg oy —

(i) @
(i) &=
(i) &=
(iv) T
(v) &g

T IeC T TP ITRT H IR ST —

(i) Toh
(i) <o AR ] A faferm dfed @ @ #,
(iii) 19398,

(iv) =dl arel HRIE DI Tl
(v) F9a9 a1 ef e ue W 2

HTHAGER] JoTell A= G ANTRS YT IR S7eRe off |
AMT TS & a9 YT Qa9 Hed 3NhIdl | UT 8T 2 |

Feran

BIRT Sl &3 Hd B MDYV P YHE $g 8T & g8l darae] dl Wl Yqg ©Y A
&Il 2 |
gSWl qIRTAT BT MARd MR IgI TFI IR HI AR fAHRyd sravem # o)
FAMETHAT ¥ el Riarerar ¥ e, 779 &R Helefs & A1 AUR & dobd
foer 2 |

SZEL
Jg vres fag arg 9 form war § e a1ef € ST de &1 Jef afds |t
AT ufe 99 & 81 "RT9S” FEd UTEH I S 1028 AT BT Adhar & R
10 HUSAl ¥ qicl AT & | §79 dfdd BIelF ARl & URMS Siad &1 Ieoid fdbar

T B
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3.8

3.8

3.9

3.9

3.10

3.10

3.1

311

ERT IR & YT b5 —
i) et

i) IR (W)

i) T (TR

iv) WIERT (BreT AFTYR)

(
(
(
(

SZEL
RAOT &A1 H BRAR QP ITANT BT IR 91 A | A PRAR TG & AHINSTD T
BT BT B o, fORT "SIl yer” wed o |
ek PIele el wUardl Sell R TR <dl @ 901 g8e sl ardt e e
2 Sl et o AFargRiadl & TRl @ AT gR1 gatrd © | ol @ gsifA
H gefl, Afel, ferdl qom T8l BT YANT 98d 8 AlBiug g |

Jern
3HaR IR DI fdd BT (AT BHRAT =TS o7 Rifs IHDT TR I W AfT2MeAl
9 BT oA AHR o ok | FT =i fdpR 819 fory |
gor favagg ¥ affera i g g7oive, Wik IR &9 o |

Feran
ATHTSIATG] TS = BT Hifc BT T B B o1 FAY ol T Ahal T8l g galorg

qrRIaTe] ATETSIAE & faRIE O GESgdre YT UR MRT Favelm 8 I ¥ BRoT

o7 |
YT UTSTOT I & AT H SiifdeT areid @ fog RieR ok @mer |9l Sfed &<

BT I AT | I8 RIBR B, FHARA /Pl @iad 3R 3T I $ oy TR &

HTERT AR F1Y |

Jern
3TeMes < 31U+ [ H &F HETUTH A [ARIE UBR & B B arall dl |l Fge
T | ST g @ o FRieror, gd & Regial o1 gl WU 4 9T 8 R8T © |
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312

3.12

3.13

3.13

3.14

Tl 7 ST (ORI & Fgde W FERAd] 9 385 fBHAIR) H THS B dredr
ARATE IR B DI {ea {HAT| 12 A< 19308, DI MENS o ATERAT AT5H A
78 AAMRAT & A Sie! & oIy o fHar 3R 8 el bl Melsll = fAfdad 9
BT ArST T&T SIST AT o |

B dled B e Tl T H el T IR T8 TG I drs &I Fiaer 721
off, g8l 3=y HIA s T |

SIEI
(i) IS Hoi =T 19058, H ST BT AU JRIMAT Bl FATs ®wU A FATeld &
Tq ST BT fTeT faam T o |
(i) IrgaTeAl B gD HRA B oY ST BT f[F9Te o |
(i) frg arafdedr g off f& &g T gaemml § we Sl & foy e &
[EEISERCRIN
JIR D g & UTAI IT JIRAT I H oF] §g | ITA @ a9 & w9 H HHel

RIS B Uedel aR_fell drall &l | Safd Ao ar gfers den =amie wrfdaar T6rd
@ U o | I8 Qe egawer off |
SIEI
39 e | —
() W RifEga ot o dcfRd wq, aitd @ e qen
(i) YR & 9= OFF & TER TR W® S @ 9¥e U6 Jdg Sud @9
B DI P | Aex YT 1813 - FARMRAT BT R IR # I SR &I af¥ers )
e &1 TR dAT 3USH & ARIH W SARIA Bl TAR—TIR o7 |
W MG H Wael R 9o a1 1 SR 7 3Md SaHATHE BIRIHH TR
SN — WY, RG] I, TS FRAT3N T Farer= iR faeeh a1 & aoimg @
AT BT TART HRAT 3N | SO WYl BT TaR T IR 9 AegH A ARAR Bl

Afed &= o Feradar el |

S
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3.14

3.15

3.15

3.16

AN Jrared fafeer oe @ g @ fOvg R S99 @ 9 9 @
3IEhIRT B JAMGfdT o7 | Mefel 7 9 J&a Jel W ARl fbar —

() Racmma

(i) UOE & AT I

(iii) =TS

anfefes Jregare —

() fFraE W™ 9N BRI

i) YRT © ARSI IRTAM AAER

(
(i) YRT & FHd AT W THITHR
(iv) ¥RT &I THdl BF (BUN, e, TSH, aTY) I IR TSGR DAl

S &9 FHeT 9Rd § Menfiie e & forw wanr & org o el o 98
faca @ anfefe fawra & forw v & i 78 |

Sl

gYaRds fIEmNR o ARl & Ha&l R Aa Solg | S/ HaRll o R &
IR R SR o, Igucil Ui dei qret fdare & QROIR R 61| a8 S9a! &
Afbadr o1 aRord o fob fderar gAfdars wr 18565, ¥ UIRd 81 AT o &t
faerar faarg &1 99 HRR |

YT YRA A8 & S99 & did | —

(i) oo At — 98, YRIUT, IUMNE, AR, AIRUAS, AT S IHERTT,

AEMRT 3T 2 |
(i) AR AR — $EH IO BT TR, BIIGTH BT AN AT,
FIHER AR HET 2 |
"EYART 3R B |
e —(fgd =R=m R gul i Ay 91)
3rerar

[315]0-12 Page 5 of 13
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3.16

3.17

IR AfeH BT & AN BT WdI—dTS] DT A 81 AT | Y R D RN DI Gorl
# TSl & ey 980 HF fAed g 3R T 8 S BfY @ SHaRT oY iR 3o
HIoTd Heell AMITIHATRN BT IRT B & g Tl H=el o |
I AW A (QMFTE S AT aTet) 1T 31ef @il &1 STt & Haal & oy
g [T ST A7 | UYUTE 3R THRR W WAl 916! & AR I 317 il
B HATT W B U | VAR, qggRN, T8, BUS! B 78, T I AR T3l
DI TATS AN | P IHR I8 R R oY | s 980 Riae & ArE o o |
M AT B I ¥ Tl B I WA H NE S, WS, Ie6, fored o ug o |
Tt § REAl B &2 el T8 o | A 7 % SR H iy SIEBR AL
feam o dgad uRar # fdedrell 1 wadt Sitad giy Herdl off Rl & Su=a &1
3TN T T, I daredd Bx el o | AT ARl H Rl BT wci=Ae e o |
Tl 59 BT H IR BT YT Faferd off | faerareti &7 wxel Sia= f9am@T gsar o |
X Blel | Wil YA BT Yo el of | Rerdl | ueivern ¥ el o |

SZEL

T TSI & Udd & BRI —

(1) goi fdb 3MPHIT —gUIT BT YIH IATHACT GTRAR Wha([« gRT fathel Hr faam

T | g W WD O & SR JAMHAVI A U AHTST DI &N el bR
UIq AT IR—aR & JATHACH 1 HHI Bl el I97 &1 gafery el BT g
o |

(2) IR IS ARAMN — 7 AHIRT 99T & Adhe WA dd AU AHSd B

R BT | SH&T g3 ffeRgel |9 515 H STRITSRT 9471 | Alrar & AED
TR AT [ A R aren faeg 7 MR | &1 w_ifora fbar | fag
g IR Ig Ao Y I« AHSI BT AT Sad 9 7 | |

(3) o B — B o1g B ga1 BT URI S, e Rerfd @ wH 8 Bl
ST & | TMED] -1 T R & M R Y & WU H I B dl qfeha

B 9 | Erel & SfeR Al | ydr ol ¢ |
(4) offie T ARG S A @S &M @ dacl IMAT Bl HaATg Y™ &

F RART SFRER Yol HEells | BIC—BIC ¥fdd dal o emET &I gHKkd o
@ foTQ 3o uTa &3 Bl fIRdR fhar | ey I[@i &1 yd= gl |
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3.18

3.19

(i) RRTAT B FABAT BT BROT AR BT oA | ART 8 & BROT b JART - IHBI
qre el fea|

(iy T RN & w@rt 7 ff IR BT sRIHS AT P IR Iga wfaaeed o |
3IA: DT AR TR ATAT HIAT TG Al T |

(iii) <RTET B A H ST BT AN Aol el |

(iv) S & 9% GF SN o | FSIFBING] o IAD! R TG ITAT BT
fa_er fopar

SAAdT

qeHE el Bl Iy —

() wfBfds gar

(i) STorET aRads

(i) <lema H WX gfg

(iv) fasra Frommg

(fr=si 31 &1 AT HA TR QUT 3 UG IN)

I B g g gewie IR 3R YeARIST @8 & drd 99 1192 H oSl T |
9 & BT R 38N &1 Mg dis /91 ST & | §8RIe TRI T 9 JATHAU
% oIy 91 AqRIs | JAIRAT BT | bl qAT I6MYd FN U IR R TRIgT & Ha ™
H 3T A 31TS ARG HAT BTcifh AT H 31y off IR g I e o
3R 9 QIS dTell SRR Ths! @& AT off | 931 Fel § 9IRA™ $fFe AR g |
GRS I8 o R &1 G fbar fbg I udbs foran M| 59 WIS & 1.
IRA H Tl AT BI Ald T |

SEL

JPHaR 7 YIS AHST DI 12 Yidl ferar Jai H fawiford fbar| qre 3 gt Aamrsy
% R @ 91 & Uidl & G 9ga) 99 8 T3 ol | S GaT JEeR 3fefdl
Ui TR & Sl o7 | A §HIe gRT W Fgad by S o |

ISR Uid BT YT BT AT | 98 I H DI IR FaRAT §91¢ W & oy RTRER
o7 | 9% MY, AR 3R AT DI IEMET ST AT TAT AT BT IS qIdT AT | T8
gt @1 <79 wxar iR AMaET & fory 997 g2aT R AT | ord T @
U S BT o Uid H RN, FHeeRl gRT "iel iR RyurfEdl o S iR
Fieror & o RSER o1 | 98 399 90+ fdd SR &Rar o7 | Ui wR W e
=1, et ofiR enfies IfAfafeRl BT q@r o BB = IeHR W Bl o |
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3.20

3.21

T & AR — I gg U VAT gg © Sl gg &5 H el o1l Sirl, Afug A
& fEART 4 Ioar B | 39H Ua JAfdd SR & AR &l Faf3d &3t a1 SIfdrer axar
2| g gg % Terfedal & da wiftere § 397 Rt & goe aen € § U@

UHT AAETS g TSI 52T GeaF @ Y9I &3 Bl BH HIAT IR 30 FHihl

B AT TSMT o7 |

oH RIGId &1 ST IR R ARG o i ARare &l S &3 dd difd
T qHg BT [ST8 98 Ugel SiId &l © 99 AR AN 9 91 <1| 39 fagia &1
gfagres MRaT Irguf o =1 fhar saferg I8 ¢ie Rig dgam |

ST

STl ¥ &1 YART URed Ud yd & 419 a9 § Rifdrerar o & forg fasar |
IMR®Y MUl g BT STie”’ &7 96 Hel il & | Scic Adue g faargl &
drhd Al Td O il & Uaed ¥ T8l AfUg Wiigded S AHA—AEA
JBH GoTs DI §2oT I & | 3D 31 8 UP TAY TR ARIAT HRAT T Y Y
& SRSl f2di & ar # | A 21 smiRaT den 99 & Redl d w3 aul 9 @
Al o T © A B AT Td AAR UHh Agwdqul Ut ol | IMI A Ta BH
BT B M H 3 H3H IO |

9 THTOTRTe B faRaTg e § —

(1) > deae afafafemt &1 e

(2) =RI H uguTeA

(3) U Al YRR & ISIRI Bl g 3R I WR Uiferer &1 geaird
(4) et & I ST SR

(5) YUY AT BT YA

(Fre —fawga 9o &= W= gof of e @ )

AAdT

[315]0-12 Page 8 of 13
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FA BT 59 FR quit § qier T3, 3 o — FE, 6y, 99, IS

(1)

T — 39 BTl H§ dfordl AR e1fis dHBbiSI BT gl AT J S0 Bl
ggd wfddemell 941 fear o | 9 A= e JIsM &R o $HD! 9918 |
J 9gd He<dqul FAS SR o |

AR — ST oI @t oF | STEIT @ <A1 fAerd) A Siae & 9l vell o) T
DR o GRET DI N 5 o wR ot g A WU H IS D1 GRET DAl
J 3O P FHSIK U FATIY SRS $I e ofd o |

Jeg — I qUI 6T H 95 ¥, 9 PV BT b ARI—ART AUR AR RN
& dM Al A I | GV IR AP, & gRT Ay S arel g9 <feron
JUBR 3R B W R o |

e — g AT 90 & A ariord Aol BA § Fe e WR W e o |
I AF ST Ul B FAT B BT IS AT TAT o7 | I U AEBR
(Rrem 720 B @ forg fhar S arern ufas I9iufas R SN aifife ool
BT PR ol AT )

F22 R @ . AGIAT — Fq 1915 H RIS WRA MY | TS mifogel < | AiaT
BT BT ORI B2 | il 7 Fduem TvRv, WLl 3R EHGEE & i AGTel

¥ gholdl T @l |

(1)

[815]o-12

RO &I —

TR & B 99 JRIUR UM HRAGRI & RIellh 3Mile & | o
S I e B WAl H D folT AGR B o | MR S A 1917 9 A A
Gell SIid BRAMT Y& DI | TS BT FURT 3 H bl BT YATH DR 3HR
ge H AAIE DI g9 o7 TR I8 Ig1 S Q- I AURYT Il Pl ATqD
AR AT | FURYT 3f&le b1 RV I8 AT b ‘foe H1fdar Yomredl” &1 8T
e T f99e ofaetd fasami &1 ool i o¥F 3 /20 9 R o it
B Yl BT TSl ol |

Page 9 of 13
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JEHASTEIS AT — IIZHASIEIE b Aol BIRTRI BT ST AT | ol o
BHITR 3IR Afeld S TR <Sdid Sl b I TP IR I
"feAe” & FHE dTdl DY | BRI BT 35% I glg QU S & A9 &

AR ¥ HHcl dl FHTET g3 |

ST 3N — Wl & A &1 o, Fa! el &1 UgEaR F81 8 Fal
3R I ARPR A SHFI & S Bl HBT T8l Al Tl | TSl & Ty |
WSl ¥ Al BT M bl Bl Felle al T4l WRBR 1 g e STRI fbar
b dadt I=T AR | o 9l b SIY ST S 31&T BR Ahd @ ad el
S T IE ATl Ao of fordn |

SAAdT

. d
IRTEANT 3MGTeT & BIIHH —

(i)
(ii)
(i)

(Vi)
(vii)
(viii)
(ix)
(x)
(xi)

[815]o-12

IuTferal der S1ddf~ie Ual &l T
R R & 99HId Iel gRT INUS AT

IRBRNT JAARINGT gRT 31dT I TG H MAIfTd Sogdi & afdferd g9
BT UfRTIE BT

WRBR §RT Farfer, Faf~=a @ Fgrdr urd hal 9 el 9 dR—4R

€|'o€|. PT dI9H 3T

qhIcll §RT ATl bl IREHR BRI

Al fetftel g sl g1 faqer S & fog w8

e THYS AT BT afFPR BRAT

el w1t @1 g

RGN BRI el & WIH UR IS ARSI BT ITIT
WR—ER H BT I I g b HUS ISl

f8g R TahdT DI WIS o1 T 3RYYIAT MRl BT AR HRAT |

Page 10 of 13



3.23

AT 9RA B FYUT BT & SR HRA H ATAIRS T o FHBICA Sfieqael
3R FAS H 9gd Hewayul qAH1 1g | Fodd Bl H SRAA AT RIS AR
BT o Sl UV &l | SIS o & ARy o 918 H §9 AN Bl ISR’ HE
SITCT AT |

! TR R S & WM F TR B H S8 o I MBI 25 AR o |
I feaR g, @MURI o | d9R URaRT 3R BRel A A1 oidx Fqal 9 Feid
| I ol ARl faeell, o iR e & §o w9l § 980 Beld—hed 8
JTR—ART AR "&b H "I b 3R GG ATUIRD TSI AT | S81 D AADE
o USE H AR 3R MARST H DM | ARG Tl & | —rer A
QRT 20T &9 BT M A1 B o | GBI & QR e’ TP T M ol &

JHE: AR ¥ Sl ol | ORI, Iouid, REMYR H D] HIh] T 2 |
BY A UHE ARG T I "ol (Sl 9Ra) BT (@RHEsA & Aqsdc d
TIhR ISNT Tdh) PRI (TR, I dTel ATUTRS )
W% — I8 FGa™ U4 & oF—ad & B H 0 o |
AEHR — Tl R R0 <d o |
ST — DIl | "Sllell” U d9gd &1 A1Ud A a9 78 I AT &1 AMIRS
TfafaferRl a1 oF—aT H HeERY B TRE BM B U |
TaTell BT Blg EiRT Yob &N BIAT o1 I§ Yoob ST g% 3R Tellel §RT S
A BT R HRa™ # A9 1Y g AR g o |

3rerar
HBIe] H APHe oFiad & oy & dR W il AR did & Ryad o= H o |
AeId Bl H =idl B ASTT—3TeT AJUTA! dTel dlal & s g gaT o O Sl
ded I AT’ 3R SR did b R | O1gel & oI H uRadd & A1 gl
i@l & Heg H 1 AR 37 ST o7 IRTAE & NG H Ugell aR A, dfdl,
3R @Y & Raapl ¥ argeil &1 YT MU B g | el I "HYT" A PRIEAR
% foIg START H T AT AR RGBT AT HBT o 178 ST & a_IER o |

[315]0-12 Page 11 of 13
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3.24

el & a0 & "I BT goTd 323 ST & aRIER AT | A6l & HU AR T4 & W

S I W A& B IUSALIAT IR MG & FTAR IAR—AGIT BIAT I8 AT | THaR

D B H 1 L D B BT eI 40 4 b SMI D GRIGR AT AAT IT BT BT

aoT 169 ST & SXTER BIdT o |
RIgh! B Tolls AT & T YT #H BT chdarall § 8l o | 3fdha] & AT |

A & RIdd 4 charal 9, Fidl & dd 14 IR did @ Rigd 42 charel A SN

fpU S o | NTOIg & Bl db DUl BT ShATAl Bl AT dgh 40 B T 20T |

RT UG R & uel H ARl Td a1 3RA M 9 dfcd o TR SRS Bl
TSR HHTAT R TS Haplel @] FARDHR AR § B Ga & AlHAford
B3 | HebTel IS fRIem &7 yeeR 7| Heblel wRA H 3l e v 0 i &1
FEToT ST ST e R W QY ORE WRA™ BT fhg W W SiUST | I8
T 5 S Argd & uRRied 3 ARd e Aifaar qen Afdear Wl o
IR e & AT e B a1d M A1 I ARG 9Rd H fafeer emas &1

G BN | I8 SISaTe fhog e RIGia” o I8 e o1 9mI & fol 1 8w
Ug forg Qe gele avf & forg off | 39 RNGld & SR I8 AMT 1T 6 891 qeid
IRAGT & Aegd & ol e SFaRRer # herf |

HpbTel BT JabiA o b AIfT Y A I8 o9 ARV & fdfesr § R T8 &

TG | $HA J8cR I8 T fh AU HTo! WR AR IUST HINORGRI BT HMH B 3 |
T T WG AT TAT AR DI TG B Rl [ 3R e dI SHee
TP U H WaE BT | 39 NG o e rhavemsl & ARl Bl Sfefiwer
uel o — & @t afe a9+ Iy g+ |

g fAfcer emael &1 980 HF Wd W URDH AR DI G- db bar bl A
o |

SAAdT

[315]0-12 Page 12 of 13
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AR S 37EHS Wi (1817—1898) & ~Icd ¥ YRemH I 3 faewm el e srgaR
sy R TR gRemt o Raftr # guR & forg snawaes off | S=F RId™
= der dd-ia! fRIem R SR Q1| & 1866 5. S=M e Sfsa wHifiuem
@I Mg STl | I | 1869—70 & SR IToiU€ I ATUN IMMHR =i U qRerd
I W IS TS § HB ARG [ARNArs I U B Fallg a o
SR, SHAGG T, FHRAIT qAT e BT STawIR | I=M 1875 #H 3TeilTg # ™
GrARNRYTH Biclsl @ RITUAT &1 Sl JAaHE! & foy smgfie R &1 g1 og

o | faemefl URM® WR R WHR gRI MEiRd Uredshd &1 R0 dd o a2
ARl SEIMT BIAT oI | |+ 1878 ¥ WEIdeerd H H& ARH gs Il IR JAeHHI
A TG PRIAT| AeiNTE & R FITD] 1 1882—1902 & SR 220 BT HAT
# o | e gigoifaal o1 guifad fbar| dor THeT & |l U A qefl 3myf-ie
g ue fdar |

[315]0-12 Page 13 of 13



G T DI HE=AT : 28 Hl TOI BT GEAT © 08
Total No. of Questions: 28 Total No. of Pages: 08

BRR AhUsy TR, feawR 2021

317
favg : sremnfa fasm
Subject: POLITICAL SCIENCE
(Hindi & English Versions)

| : 03 HUC quries : 100
Time: 03 Hours Maximum Marks: 100

(i) &9 597-97 4 &l Gvs & — @us 3 7T G '/
(i)  GUE I B G g HfFard &/
(i) @UE T & 3 [Adcy &/ goenelal &l #ac7 V& [ddey 3 & §eF & gTv
37 &/
(iv) FdF J97 & 3iF GFPH G 3ifdd 8/
Instructions :-
(i) The question paper consists of two sections ‘A’ and ‘B’.
(ii) All questions in section ‘A’ are compulsory.
(iii) Section ‘B’ has two options. Candidates are required to attempt

questions from one option only.

(iv) Marks of each questions are indicated against it.

[31 7] 0O-12 Page 1 of 8



g — 31"
SECTION — “A”

g1 QU U fAwent ¥ ¥ 98 SR gy —

(i)

(if)

(i)

I R ifd &1 IRY ®e fhar 7ar?

(a) 1984

(b) 1986

(c) 1988

(d) 1989

IRA & LUl o1 faaent em@fdy & forg gAT Smar 272
(a) < AT

(b) =R ATA

(c) df= AT

(d) © da

A & g | ARy e gfa Saerl 8l 872
(a) feErTwT

(b) e uRys

(c) XISIUTA

(d) xrgufa

= § & 5 e oM &1 AIffeR U T8 87
(@) AR B

(b) wHRI® ©U | faweniT afedal o

(c) UTTe 3Nerar fearferar &

(d) SR w37

G TR $He b fIT T 87

(a) ¥ ¥ 12 GUC U

(b) wIG ¥ 24 TS U

(c) ¥d<™ ¥ 48 ©UC Ugd

(d) 379 ¥ BIg TE

[31 7] 0-12 Page 2 of 8
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Choose the correct answers from the alternatives given below -

(i)  When was the National Educational Policy started?

(a) 1984
(b) 1986
(c) 1988
(d) 1989

) Three years
b) Fouryears
) Five years
d) Sixyears
(iii)  The Chief Minister, along with the state council of minister’s is collectively
responsible for -
a) The Legislative Assembly
b) The Legislative Council
c) The Governor of the State
d) The President of India
(iv)  Who among the following do not have the Right to Vote?

(
(
(
(

(@) Minors

(b) Mentally handicap person

(c) Persons who are of unsound mind or bankrupt
(d) All of the above

(v) Campaigning is stopped -
a

b

(@) 12 hours before the polling
(b) 24 hours before the polling
(c) 48 hours before the polling
(d)

d) None of these

[31 7] 0O-12 Page 3 of 8



U2

U3

Raa vt @1 gfif Pfw -

(i) FASTHD ABAT H SRIC T % U Bl g |
(ST1aT /ey / AT )

(i) TP CTHARUET TR FH T BT T oo seees e sees oo AT
(cafart /TSt / RT3

(i)  HRT H ARDBR BT STETET HIRT DTt sess s qIar g |
(Rrsgufcr / werrrE / e =arare)

(iv) CelfaTT IR ST ST & feerRi @1 A FuiRa
B wecaqel e v B | (Riferd / siffera)

(V) WRA & AeYQ 50 AR Do gRT 3% JauTy Iuciel &1 el 2 |

(STIgd HRIHHA / FT<R)
Fill in the blanks -
(i)  InaParliamentary democracy the...........ccccceeeeeeeeen. enjoys the real power.

(People / President / Cabinet)

(i) Religionisthe concernof the........ccccccvvveeiiiiiiiiiiis in a secular state.
(Individual / Society / State)
(iii) The head of the governmentin Indiaisthe..........cccccoeeiiiiiiieeeenne of India.

(President / Prime Minister / Chief Justice)

(iv) Television and Radio Play an important part in moulding the opinion of
TN e ——————— masses also.
(Educated / uneducated)

(v) Madhya Pradesh in India provides a number of services to the people
111 £0] 8o | TSP PPPPP
(Gyandoot programme / Gyan darshan)

TP a1 /Udh e H IR Y —

(i) Ul fhas Al S TR § AT B FahdT 87
(i) =g # fdd gRT SrATeyr Wy fdhar Siar 87

(i) e S T ¥?
(
(

V) BR—URC—G—URT YUITell BT fbd | | ST SIreT 87
V) WRd H 9gd AUSTIATE BT RO RIT 82

[31 7] 0O-12 Page 4 of 8



U4

U5

.6

U7

U8

U9

.10

Y11

912

.13

.14

.15

.16

Answer in one word / sentence -

(i)  How many members the President can nominate in Rajya Sabha?
(i)  An ordinance, in the state, can be issued by whom?

(i) What is a Toll Tax?

(iv) The first-past-the-post system is commonly known as.

(v) What are the reasons for the growth of communalism in India?

59 fod ded 87

What is State?

ISRATE BT T 37 27°

What is meant by liberalism?

Ul &Y Bl T IlR¥ie wIfdd &1 Sl HIY |
Mention one Judicial power of the President.
SR AT | T SIHuTg 87

What does Public Interest Litigation (PIL) mean?
ATGHIAG TG AATTDR BT 37 18y |

Explain the meaning of Universal Adult Franchise.
eI BT w7 2°?

What is Sustainable Development?

R 3R W § SR W BN | (B1E 03)
Distinguish between State and Nation. (Any 3)
YR AAE™ &1 WHY FHHS 7, UG ACHT YhIcad o | RAT B |

Explain that “the Indian Constitution is federal in form but unitary in spirit”.

IRA & TETHEAT ] FRYfad f6d UeR 8l 27 IR Sy |
How is the Prime Minister of India appointed? Explain.

Sd R & IR BT {6 YR BRI ST AHhdr 8°

How can a Judge of the High Court be removed from office?
E5THD HIfdPhdIg ! ATRIdTE & faRvar @ wu # fJdeer $Ifg |
Discuss dialectical materialism as a feature of Marxism.
A & BT BT g BIRIT |

Describe the functions of the Chief Minister.

doTdd X Agdl dHcT B BT &1 faveryor Sy |

Analyse the recommendations of the Balwant Rai Mehta Committee.

[31 7] 0-12 Page 5 of 8
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U7 gAG AN & 9T B T2 @)
What are the functions of Election Commission of India?
Y18 XIofd g1 @ faeiva falkeu | (5)

Describe the essential features of a political party.

3erar/ OR
AR B Rpedl &1 T I IorRe et @ wat AR
Discuss two major National political parties of India?
19 UIERUT ) AARIRN BT AHSET | (5)
Discuss environmental problems.
3rerar / OR
SR TPHiad AR B faen § 9RT WRGR gRT by T YAl 1 /ol
ferfag |
Ouitline the various efforts made by the Indian Government towards creating a
better natural environment.
20 WRA WRHR gRI AT AN & ol UAIY 7T ARFT BT quiF BHIfoTT | (5)
Describe measures for good governance adopted by Government of India.
3erar / OR
TS AT I T qRITS] I =l DI |
Discuss the main hindrances to good governance.
Y21 ARG AfAEE H AFAEeRl & Ae<d U 9l o | ()
Discuss the significance of human rights in the Constitution of India.

3rerar / OR
AFAMEGRT BT 6 ol (IR ST 87

What are the six basic features of human rights?

s — g’
SECTION - ‘B’
¥22 el SISAl §18Y — (5x1=5)
(1) C)
(1) ¥Rd ¥ AASH & =ATH G © (@) &=
(2) SITHD TP TA © (@) ST FaT
(3) f2&r 98d @A @ (M) STAER i e
(4) WEAEPR § (@) 18 v
(5) YRT @ fager Aify & =g Rredy () wrda®s

[31 7] 0O-12 Page 6 of 8



.23

U.24

U.25

Y.26

Match the right pair —
(A) (B)

(1)  The minimum age for voting in India is (A) Regional

(2) DMKiis a party (B) Rule of law

(3) Violence is the greatest threat to (C) Jawaharlal Nehru
(4) Human rights are (D) 18 years

(5) Was the main architect of India’s (E) Universal

foreign policy

T /39 ® IgaT HIfvIg —

(1) T FRUTT 3R STRIAAT Uah B 2| (AT / 319a)

(2) &% A TIel 3R ARR & A ATBR [eRUET AR Bl YR B H I
IAeT TS | (T /3 ica)

(3) RMaT I 1972 § AR 3R IRATRE & 419 SWAEIRT T3l | (™ / 319

(4) ¥3 1972 H ¥Rd gRI AMVD WA & R 96 HRAA Jg§ 83T |
SEVARRY)

(5) AR A Aifeld JRHRI & TRE AN B AFT 2 | (T / 39)

Write the true / false —

(1) Non alignment and neutrality can be treated as same. (true / false)

(2) Nehru along with Tito and Nasser played a major role in the founding of
NAM. (true / false)

(3) The Shimla agreement was signed between India and Bangladesh in
1972. (true / false)

(4) Kargil War happened immediately after the Nuclear test by India in May
1972. (true / false)

(5) Human rights like Fundamental Rights are enforceable. (true / false)

famed -1
Option - |
T g & 9G9I DI A & I E 91 |
Identify two military alliances formed during the Cold War era.
Tifer 9ETelt @ el 27
What is Peacekeeping?
gdi & BT DI IGMAT o1 | D DI ABT BT qUiF BT |

Describe the role of UNICEF in promoting the welfare of children.

[31 7] 0-12 Page 7 of 8
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U27 WY AlHHdl AN AR I Al AT AN & 31edel 3R qawdl &1 Fgfaa fed
IRE W Bl Sl 8, R g9 oy o1 Iy g?
How are the Chairman and the other members of the UPSC and the State
Public Service Commission appointed and what are their qualifications?

g28 fremfrer @ wfdaar iR srf @ =4t o |
Discuss the powers and functions of the District Collector.
faeea - 11
Option — 1l
u24 fgig faeg gg o Ao <2 & =19 oy |
Write the names of the victorious countries in the Second World War.
U25 WIH G DI FIRA & Ho IRV Bl @ DI |
Discuss few of the examples of the United Nations mediation.
U426 hid-ic ARIAerd & AT &I IO BT |
Describe the organization of the Cabinet Secretariat.
U27 HA 3R WBRI HHAMRG & FEEl DI 98 a1 D oY YMAD GeR AN =
F7 geia 9 e & 87
Outline the various suggestions made by the Administrative Reforms
Commission for improving the Minister and Civil servant relationship?

U28 B AADAl AN B FT YT BT 87?

What is the role of Central Vigilance Commission?
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Gl Y| DI HE&AT : 08

BRR Ahvsy TRIeT, faawaR—2021

3.1

3.2

3.3

3.4
3.5

3.6

TS IR
317
favy : oenfa fasm=
Subject: POLITICAL SCIENCE
|l f[adeu gy —
i) 1986
(i) U= A
(iii) T T
(iv) SURIEd
(v) HAeH ¥ 48 €U UgS
Raa et @ gfef e —
(i) #Pmose
(i) =fa
(iii)  geTTHA
(iv) ofrera

(v) SIS BrshH

U 9eq /U dTdd H SR QITY —
i 12
(i) o

(i) gt IR TS YANT A TR

(iv) | 9gAd YTl

(v) SIS @1 “the STl AR AT BRI BY AT —

ST U HRe —A1T # I8 dTel ISFiIad 3R R Adidhd ANl & F9aH 2 |
IERATE GURI &1 U RAedid &, &1 & a8 e, dHiiTd iR Ieiiiad a3l
H guR & forg wAfld a1 2 |

ICUf Haled R & G TR oI 37 <Al & Fgfad a1 § a8
Sed ATl & R IR T 3 =raredien @) ff fgfaa wear 2

[31 7]0—12 Page 1 of 8



3.7

3.8

3.9

3.10

3.1

312

3.13

SHfed Afer § TSl & e qen dReiR a1 Bl GIEar @ 9 fiear @ uF
BIUT Tblcll AT FATST HAdhl I8 db &) FHER T3 HF RUE & IR TR 9,
qdted IRITAT H M d SHfad Il WhR Bl 2 |

URAd JIED Al TAT JoF &I {941 {6l We 91a & dic STe &1 ABHR U™
BHRAT B ATGHIAD TID AANDR 8, raH U MR oy & qa1e «afdd &1 dle
ST BT AfTPR YT BT ST 2 |

JAAE UIGT BT TaIHARIT BT WA Gl BT Maegdhdrsil | FHsiar &by o= 7 g

BT BT g fAhra 2

I T A H IFAR —
g N

(1) <9 e AREd a3 § arl (1) g ARl @1 98 @8 © ol faRar
B B D SRR H Th 1T AfARarstl iR FAE 9w &
FraRerd 998 B PR AMUF H & BT 8 S Tdl

BT AT S B |

() ¥ UH ST & W@ifd q8 (2) WL U WA el ©, Hifd T8 A9y
|UYq 2 | SRR

@) T dAREEH ARTAA T — (3) g BT AR AW, FHE gH U4
S fAfEd T, A Gl & HRUT Gl 2 |
TR, FIYCT |

TRT & Afdu EaRi 7 shedl ANRGdl, $hes] AIuIfihl, Add dg &l
RITOAT TEART §RT ISAUTAl B AT o Isa9+1 H s ufafHiieed & gIRT
e # rgefia Setor | o BT WRES TN {hAT B | 39N Aad dw Bl 3R Th
ygdl S QAT § TT DI DHa & AT SRl & R IR BRI HIAT TSl
2 | IRAR Wag= H HE J@07 A1 g SHd! M ThIAS & |

TETHAT @1 YA Irguft aRar 8, Wy SS9 WEHAT g @) w@asdn T8l el

2| Y 9gAd U T & Wl P B ARBR G B oY MHET HRAT =l © |
Ifg frdl T T BT W 9g9d UK T8l Bl O 98 S Afdd Bl AW
FRAT & O a1 a1 Q1 9 s <al @& |HeiT 9 ol 91§ 9g9d U © |

Bl N1 Sa <IRITe & AR Bl 62 aY Bl Y A U |l BT S Fhall
IfE 98 e B, AT IUHT gAdeR g B W | AT HES & Sl e

JT—eTT U & AF ¥ ol Fa G & U qgAd a7 SURYT Ael & &l
fU8TE 9gAd 9 U uRd &) § A IR &1 Us ¥ §CIT off 96l © | Ul
YATd BT U9 fhar AT 8, iR v wgufa 9 =ararefier & wer a1 2 |
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3.14

3.15

3.16

3.17

ggiid Wifddbare 99 F9 AMRI RAgErdl &1 |l AT & Sl I8 WK R o fb
AHEIRTS aRaad w7 IR & 8Id & | AIiSTe gRads HIfdd gcdhi & BRI 3R
GEIA® HIfadmarel Ufhar & Aeg¥ ¥ 8 o | §8Id wifddare Uihar Brasa
gfshar & —

SUTEH © AT —

IATEH DI AfdTAT —

(i) ufaeiRye Hifdedrg

(i) SrfdRad qea &1 Rigeid

(i) avend B Rigera

A & BRI —

(1) HgHA IYARSR BT arR<dldd GRaAT € | IFal RIBIRe & regure
A3at o Frgfaa vd T &1 fres evar 2

(2) T ARFFESA P TOBI B JMAAT HRAT © | AHAYRYS BT AW T BRAT
g |

(3) IINTHI AR AT URATad fAggdl & R # ISt Bl STHGRI & BT
<RI e &1 2|

(4) ogUTe SR AyHed @& 9 e HH 9g gEEAl e B |

goTdd X1 HEdT BHST (1957) 7 U ol & RN @i § Aldbdifd f[abaiaol

& T S G | TR 6 BT A TR R R f6ar 911g, S gara et

3R HaeE ge By S Afey | il 9 & 9 WR 59 R o |

(i) 1 TR w Rrem aRvg

(i) <A WR OR AT Aegdd] Wk R e A

(i) T & WR W IM vArad

fafe smarT &1 wafie &1 vRa § wds iR wer g wRamr 21 39 2g
e T & f=falRad &R § —

(1) A &=l BT gReT BT |

(2) WIS AR TAR BT |

3) IroIfa® Tl DI AT |

(4)

gA1g g arrdfed orAm |
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3.18

3.18

3.19

RIS gell &I faRiyan —
(i) T 3MuaRe AT dTell AT BT Y AIfod HeIT 81 AR |
i) D W Dot iR erRieT 8 ARy |
i) SHD AR Bl sHG AUl AT 3R BRIEHH ¥ HgAd g A1y |
V) SH®BT d&d ABAIGT aXidh | A<l YT HRAT 841 ATy |
V) 39T W 3R WS g gFT ARy |
Jrerar

RS 2 A 5 1 S e s

(1) WRAR I BRH — 9RARI I BIF BT TS 1885 s H ol oI |
Sy, ¥l g0l IRAR TS B & Ugel Aedel o | URH H Hiu Aegd
Fifta gigonfadl o1 wwer off raer g@ e ey oiufale a4
RIS GEIR AT AT | FTH] el & Ag<d 3 HiE (H [ORJd SHER
qrefl gret 991 TS | WAAdT & 916 G.9dIeR el 8% W #3099 3R 3
Sia @ 3 1964 TP HIUH BT Ag<d [T |

31dT
YRAI ST UIE] — YRAR™I ST UIe] &l e 1980 # fhar 1| S99« 91 3o

SHS TR A4 9919 &3 B 8=l &3l ORI 3R #8RTE H qe1dT| 1980 H
3O 39 B AT B 9ol ¥R — R b F9T | 3T ISl b G H glg B
T &1 | e &A@l H AT BT IIGHT & Yb HSANT OCh &l & WU H AaTD
TEAT UT el goT UE fduer BT YA T JET off ST WA & IR o H
Weol B & IOy BB AUy el dd & AT &1 | aaar d 9reTar =1 37U &3 Bl
@Tad HR forar 8 <9 # Ud Il # Sl ARER BT 8 WA e & ¢

e IR daiies # T gfg & BRI GATARET & &R0T | A & 30 fRAd IR
YT Hehe TT 81 AT 7, UIdhidd AUGT S Y, STl T4 a1y &I iGAaTgel TAn
U WRJ TATRY & oIy JAMEeIS 8, Sl 9adE Td Afasy &1 qifeal & Iuater
BT |

TR0 B HHRR —

(1) arg iR urf

(2) S W gfg

®)

()

TENHIT
S IBIREACR]
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3.19

3.20

3.20

SZEL
GaRiIg UGy BT Adhd & oy R WREBR gRT fhy T yamq —

(1)  ggTeRT 3r&Terd

(2) wafERor f&diT S<uTe

3) Ugre @I Em qad HIAT

(4) BMOR® DHieAd IR ufade
(6) T el Ude uRvg

(6) HIexATEAl §RT YUVl

TS < H Hg TR B GRS T ST FaReI 8l &, difds IoRarl Jemas
DI fIRTarell & @rudhdr I GRIEd BT S Fb | AR H dard AT AN
AfEerel, srggfaa il @ STofadl, fcusiddl 9 Ad JAGRI & fofg I
JMANT TAT R & oAl ARITRIFS Il HRASI & Tod AIBeEl H AT,
BN HIHS R FRATIRS qaTdGd BT Yae HA & forg fhy 0 gamsd 2 |

(1) ARG ® R F o forg FRA

(

)

2) YIS gRT Yder

@) T & AMBR BT WHR HIAT
()

()

)

6

AT DT Al AATBROT TAT [T TDHRUT

ArEsie 9 ol &3l & 99 @ e gfaaifar

AT Ul &1 GART 951 § — A
Jrerar

3T AT DI T qrRITY —

Ui A Y T UG RIS Wk R W8 AT Bl dd) TR 2 | offbd d
U ARTRGT Bl <A, T Ud Wda AT G FdReIT H IUA€l HRay, Ig
Th TRAT 21 T B A SRS 8, Ol W8 M- § qeT SIS HRd 27 SAD fory

3P HRb ITRERT 2 |
(1) Y<ER
() e gfg

() feut @1 Hwpfa

[31 7]0—12 Page 5 of 8



3.21

3.21

3.22

3.23

YR HfGer § AraredrR —
YR AGeT # AFAEeRl & 78w BT UgdMT © 9207 Aifeld BRI B TR
N & 2| 6 Hifele ANGRI # F WIS IUART BT AR 31, 32 | Head & |
T ATAR YRA BT Fared RATAI g7 HfeTd ARTBRI Bl S HRA BT URMH
SFRIGR I@dT 2| I8 il ff afdq & 799 IffaRl & &9 & favg e &1
IPR T |

§TH 9T ERT AN & S0l | gig 8 ATHISTdh qaell |MISh =1 B4
BT AMBR e BT ANBR 3R AHAISTD GREAT UG BRI B b AMATTd ©
AT M FRD B AT Td AR Reafadl &1 yraed, $96iRk af & f=Zal a1
TR &, GINUT UG SaRiR $I IS, o W@Reg H IR HAT gATaRoT
TRRIfST T g7 Sfig ST B &1 U4 GoR B & el AFed o |

SEL

AHATRAR &1 fagyan —

Ffl UHR & AFATRISRI § BB FAM faRIVdaTg 8l | Sl faRiearg 8 O AT arereRi
B JAURM B IR ¢ |

(1) 999 89 & AT AN & U STIaR R |

AFAIEAR A9 B 2 |

AHATRIAR T T Bl F9 A 2 |

WW:W@%%I

AFARIGRT & Idid AFadT & Aifers Rigerd arfRd 2|

HAFAEBRI BT HIEE Td ARETOT ddel < & AT & 3fex & IAfT 781 g,
afcd I8 qo e BT @ BT &, ST g¥ faed 919 91 B |

Shfear 99718¢ —

1) 18 99

EIR]

)
)
) BT Faen
)
)

CECIICIS
S— N N N N

~

GICEIGEY

uldleN oflel dzxe
/ I IEATY —

SIS

g

SR

SR

3

OIS

/m\@fn\ﬁ/—?ﬂ
— N N — ~— 1)
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3.24

3.25

3.26

3.27

3.28

fadea — |

3FHRST Ud AIfdad & |
= ABR B o1 | T B @ GgF g F v wifd & oy e
AgwdqUl ANTG 2| 1948 H SHD! YwHoNd g8 ofd WM « A FREdl &1 7
BICT A1 T 3Rd — SN Jg& & 915 T 1 GAREa &1 & forg 9o | <féror
3R®T # VA 8 MM g8Tell WA B b & | 9RA UIfb & dra ifd b
U B ST | B
1946 ¥ WIIUT ARG QX R A dfd dedl &l Reafd gora | Gdfd sraf w®
&I AT 8 | A% F 9Tel HIT0T TAT MU Bl Al J Heferd gk
HATerd B B 396 gRT AdTerd Y 7Y AMISS AR A Bl & oIy IHARH
DI 1965 H A AT YREPR AT TAT AT| I8 T8 WR R IRA W &M ol & |
LG 7 IR H gedi & oy U dear aRaer MHT & H Ae<aqul qAdT &t
B 2| 3AT Y —Olc FARHl H JARNE FARSS DI FART I Ugd D |
DAIg Alh |aT AMERT BT T34 — HGI H 39 oy g, il 7a. AL &1 701 &7
YIgE= € | RN & ISl & Gl 3R JdT I Ui gRT 9 &I Wl © |
IMANT ¥ Ud 3fedel iR B ¥ M6 /A ¥ew B 2| fova fFgfaa wrgufa gmo
Bl B | UM & AR RN & &H 9 I Aew W 8F @iy e wRd
WGHR I ARRRGR S T&d SR BH F A1l DI Fal BT Jg¥T 8T | dig A
AR 6 qY & BRIBIA dPb IT 65 I¥ YN B T AU UG TR I8 FHl © | AN
BT 3] WRBR & IJaid 9fd H PBIs WRPNI AlbRI T8 B Fhdl © | oAfb
ﬁ;@mqﬁ@ﬁmm%@m%@&m&qﬂwﬁwﬁ

|
I AT JAT RRT — 9RT b I 5T H Ueb olich AdT SN BT 8 | NroguTe]
IRINT & AR &I W&IT 7T B © | T8 HHY BH 10 qUl P ARBR BT A
BFT AIRY | AW &1 FRYfad ITdTel §RT ©: ¥ & SRS AT 62 Y DI IH db
& forg @1 Sl © | T FRgad aRd © dfd 9edl ®1 % gufd 81 u' |
82T | o |
Tt AfEBRY & Sfceia amar 2 | oy fTemiier Fefaex Fed 8 I8 UgE Uemad
ug BIaT 2| 98 el § IR &1 g gfafaf g 2
fRoremmeiter @1 wrfdaarl vd wri —
NSEEASPE
BT 3R FaRAT R ]
gfer 3R STl gawelT &1 S fharaa
SITURTIED =T YIRA
fafg vt/ srateral &1 Tl
JTIST Jee
faerT ol
3 BT

[N

N =

N oR W
o N N N N N N N
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3.24

3.25

3.26

3.27

3.28

fadwea — 1
Ue f9ea Aifdad w49 sMRa! e |
AT Hdel Tfcfdafery —
(1) 1950 — HIAR TR
(2) 1962 — FgaT fAATSS Hape
(3) 1989 — WAIfITT WA B JHIRA F IO § FY TR EWTER |
(4) 1991 — pHaISAT Hahe
26 Bfdc AfYATerd BT TS 1947 H B3 AT | HIST AR BRI & AER R g4
®HE BT TR YNNG TF Bl S Fhdl © | SHDT SHIdD THE TETHa1 sl
2| T BfeTe @1 Afyd sHST YINAG U™ BT g | aaAe H AfAveey
AfIaTerd & UM T & — 3R, AMS Ghar| 1988 e Rrbad  Fcermery &
BT U 30T g1 T | dfa-ic Glared & uem=H= o fafde vgl &) gaear
B ¢ |
FERT Bl JBR I D (o1 YRS IR AN & [GaR UM AFDI DI
TE BT IWHR 1966 H WRGR - TS avell & Yol egdd &+ iR UM
o @ oIy U= GuR RN &1 Fgfa &l | u=maiie uR RN 7 (U1
RUd # 1 |99 Ol &l IR 9T dfad fdbar —
(1) w0 &R ERGRNT HHARAT & IRWRS Hae STl YRMAfTd GuarR RN 4
39 919 W 9R fear & g9 Jarsi § reifaexer 7 8
(2) UTH T YNNI BT ARIA R WP 97 IH & STw-d & oI J1 3R
WRER HHARAT & 99 o IRA el & [AHRId 8 &7 goar & foRe
DA |
Y ¥ 98 U IR DI WA U IRA TRBR 1 1962 H & FLATH BI ederd]
H TP TN SMANT HT T84 fhaT o | WA SN o ®g dof fafve st
H o DAl SANT & T34 =g FAhIRe U=r &1 off |
(1) addar JAMERT AT qen Ael & Rae g5 Rieridl iR S8 dridr! T8l

PR AHT |
(2) DU AADAT AN T HIATCAT qAT IR H &I FADAT SMADBRI Bl
fgfaa # N va g ufieT o 2

(3) HFADHAT FIST DI 3R 31 Ao g9 Faell FADAT HSH! gRT IUAE]
PRIY Y [T GeITdl BT FdDal ATBRI TR B D Addbal Agad &
T HoTdT ¥ |

(4) DL FABAT AN DY e NAT B 8 b Ig PIg dfAd e
T8l 2| U8 % U FelsdR Bl YfHdT ¥ ¢ |
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318
Ay : el
Subject: ECONOMICS

31 8 fawey forlRey —

32  Grell RIE 9RY —

33 I/ falRau —
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3.4

3.5

3.6

3.6

3.7

3.7

3.8

3.8

AhR I MY = WBR Bl T

v) (f) 15 April, 1951

) Sf. ARAT IRENT

(i) dreTee wae ¥ gy

(iii) DTI, qAT =T

(iv) 1991

(V) 3MRRA TS ®Id g=edgld, UglbAdbd

e famra — anfdfe fasmra &1 31l fhedl sefagawr # ardfde ufdefdd sma &
AR gfg BT Peelrar 2 |

S
faerreliel srferaven &1 yan & W <o & forg fear Smar 2| o «ifds
@ & R 714 B 7 |
ARG T & — FRAD! AHD! BT IS & | SHDT eI a1 WUl | fbar Sirr
g
(1) Ueded & w4 ¥
(2) dgdaT

Sl

qHDb — AU DI T gDl & g DI Y AT SIGEA] HET il © |
gfcreafdd 3 S A DI HET Sl & | Ofd [l T9 & Gl O], STad Dl 9
< BT TG I ARG RSB T AT S |

SREI
M 3 — BT <91 &) ffedardT gRT R 99 H ITdid a¥all 3R |l &
€ oI B IART B TSERT MM B 2 |
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3.9

3.9

3.10

3.10

3.1

3.1

e WA — H Bacl U Afddord ghbls ol MM fharell &1 srega fhar

ST & | )
Jrerar

ART BT 3ff — Tob FIRed S IR U IUHIaT fhadl avg @1 a1 | @iked

PI $BH AR UG B & | IH HWT Ped & |

(1) /™ gur Py )
(2) Ryers gaermsil &1
(3) = fIp™ <=
(4) STl &T BICT ATHR
(5) WrETE Bl DI TRl
3rerar
(1) R § HH
(2) i s A gfE
(3) P & MR B B
(4) o0 fior A gfe
IR BT B FHTN — @)
(1) @1 IdreA fhar S |
(2) Sre fhd fory fovar o |
(3) Scared fhaa forw fear S |
SRE
3 faswra @ faereamg —
(1) semes 7 gig
(2) TR # g
(3) S & fadr
(4) P 1 fawm
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B2 WGl 9] — JfEMd IR fShT TN ITED] §RT $ed dId & WU H fbar
ST & | Aeadt qeqy HEand 8 | oY — g, HaT ST |
STAdT

12 3ifoW IRIU — 98 IvgU Bl 2 | RHdr YART f6 o/ Iare ufshar # 9 8las
3 SUART & o B SIar 8 | 5 Saerie!

A3 WA BT 99 ST qT SHST AT & 99 AuRd ey @ garar € | riid
T FAM B W I B BT g TR IFDT A gl B | TAqT BT e W

ol 2|
AT &7 99 —
y
D
P
P, 5
O Q Q, X
SIRZEI
B3 gRT BT A9 — R 91 9 8 R 9] DI B 98 W I 9§ SRl & | aT
AT HF B W Yfd HH & S 2 |
gfcl @1 e —
y
S
P,
P
S
o Q Q X
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S14 YRT ¥ onfefe = & IR ST —

NIERIRERCCak]

S:H-%:l
JTeATARAT

anfefs AT FHT

it frmior &= 7 gfe
MRS HET H e+ ghg

ap

3.15
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Y I Bl SuAar —

D e
AMMHYD [d JATAIIIG S HTE
Ry
G TG #H bl g
3fdh TR Tl
AT

TATHT TRATDHR]

=T BT A I

MBS BT ST H ghg BT
A IR UG HRAT
3PS DI MBS G
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3.17

317

(1)

(2) _

(3) AT B Tl BRI IR G
(4)

Sl

(1)
(2)
(3)
(4) ®E FRE aRen agad T8
(5) o1 wofifera faae
(6) fRerar

3y fafey o1 Areerfry —

RIT a3l &1 [IhI Ul iy enmfiet 9 &
YRR TAT USA DI fIehl | UK 3 eMAST 7 HRAT

(1)
(2)
(3) BEATCIRYI YA WA &I BT
(4)
(5)

3ray fepamstl | U SifSia omg enfiel 1 &=
JITET BRI UTK 3 AMASA T BRAT
3ferar
g A @1 Araentrl —
®acl 3ifcH ST Y DI B WS fHIr ST A1y |
Hegac avgell qem JaRll W far a1 @y e T8 SR @Ry |
R RGNt R fHar S arer e e T8 oA Aty |
IRRT AR FvLT R fHar S arer e e T B Ay |

1
2
3

(
(
(
(4

)
)
)
)
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3.19

3.19

(1) 9% 1 B
(2) wdNT TGt BT DI
(3) SR ATAl BT B
(4) THDl TR
(5) WA B HE
rerar
AT & 99 & eUdaTe —
(1) «fdsy o $Hd gig 1 FHra]
(2) wfT o avgy
(3) UM Bl ST
(4) RreE &1 faREm
QARG & U —
(1) SR dgHd i
(2) S B AR
(3) T AT BT wA=Adl
(4) oy AR B e AH=T BT g
(5) USSR BT H e
rerar
ST & U —
(1) of farmsiamor
(2) rsm ST
(3) Fra=® wwl
(4) Ug WR QA
(5) faferaer
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T20 RGN dgde H HiY o7 He<wd —

(1)
()
(3)
(4)
(3)

TSIt BT YFE I
I M H NS
3T e 1 3R
SERTBROT BT TR
faeeh @muR ¥ "8

rerar

F20 ARAN P I IR faRvan —

(1)
(@)
(3)
(4)
(3)

TSR] BT UGS AT
=1 faer <)

29 G Py

< Rres gl

Il bl BICT IAThR

321 BRI Hifd & Td —

31 eared < arel HYV diSil &1 92T
RARAfTS @WIaT BT Afdd STINT

g gfawmet &1 R

P AAHT BT Feran

Pl ARG TATAT BT ITINT

Sl

T21 T fahrT B MARIT BT dTel dcd —

(1)
(@)
(3)
(4)
(5)
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Joll &1 Iucterdl gHkad AT
MR AT AT AT &1 0T

Sufiar fder
82”‘%1

o< vd IfpT Gt 31 A
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3.22

SUDEIRSEIFE SIDEEEaN!
(1) | <o & 9Fd w3 Sare dor | (1) | GPP, ufderfad oma # gfg & A
yfcreafdd 3y H gy amfefen s ER==T H g
(2) | e ST 4 Bl (2) | SR Ayl e

el wqfg i fawra @1 | (3)
T 91T & |

Ml wqfe i fawra @1 v
T B |

(4) | ve dqpfa aron & | (4) | U foxge eRom & |
(5) | ¥ HEwal (5) | arferp Hewayel
Jrerar
T22 AT U [Apraeiel siefegeamer & —
(1) M &1 1 &R
(2) RIERI
(3) S &1 fUssUA
(4) i AT § &
(5) TPpdl U
(6) 3nfid, AIRNTG AT & SRTATT
J23 HARIST @ U= T —
(1) Rear
(2) oMEHsi & IM9E H IuY
(3) e geei= Hva
(4) e
(5) 3MHYD
Jrerar
I23 Riftss @& o1 —
(1) A=eTal | IO
(2) TUMHS TAT BT YANT HHa
(3) foopda ugeH |wa
(4) =0 & Ayl A1g
(5) wer FAfq MR § Syawf
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TS24 U Ud Ffe srefeme # 3R —

T4t e

Y BT I T ShISAT DT T

(1) (1)

(2) | e @Y BT W MR (2) | dre @t far wR emeTRa

(3) | 35T &5 =Ud B B | (3) | o= ffa T |

(4) |z KR AW BT Rigid | (4) | 39H AR T ST S EE dHd

ISR T 9g1 Rigra anfa fReior &1 Rgra it afafera 2
afferd 2|

(5) | s9® T [UBRUT T AN | (5) | SHS H= SUBRVT ANT AT Ml 2 |

3R 9T ufef 2 |

I24 U & FIF & e —
(1) fdss # ®Hd gig @1 men
FB Tuel § PN Heel awqgell W R el S

(2)
(3) H© <RI A IcuTeT Hael AR UR AN &l Bl
(4)
(5)

4) HATHD TR b e H FIH AR L Bl
Hremh B arelt axgait W W ary T8 g
J25 RGN dolc B I —

anfefen faar

IR Fsh DI AT

3) o Rerar

(1)
(2)
(3)
(4) <ESIEG &F BT e gd geed
(5)
(6)

5

1
2

JERT 3R M BT AT BT A BT

g HHTEAT BT YAfdaRoT

5

6
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V25 HJfeId doic — g ARBR Bl YIel Bl dlell YIKIAT & & aRMER Bl &, d 99
Hferd Ioic wad 2|

Hdferd golc = HEGd g = Aol e

AT qolc — ST JAFATT FRBINI IToIRe] AT ARDBRI I | A a1 HH
g I 99 R &1 rdqferd avic ®8d 8| I8 & UHR & BT ¢ |

(1) =2 BT a9l = AT R < AT 2

(2) AT BT golc = IIFATT IR > AT &Y
T26 AT gig BT Yoil AT IR g arell yHra —

(1) = § &

(2) faferae o &

(3) goit fAToT @1 el w1fa
(4) D1 o1 fohareiielar W g4
(5) onfi® faemra @t ol Ty

Jrerar
J26 U FN F FEES B 7§ —

(1) I IraT & AT SUeEl BRI R |

(2) IERING @E qAT HY IUGIVT Iuaiel BRI ¢ |
(3) Y axgell & fAfHd axgu TR &< 2|
(4)
(5)

P R3NPl AIOR Y& IR & |
fFamT &1 Mg 9eM H Ae™d 8 ¢ |
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HA T DI G : 26 Hl TSI Bl FEAT : 08
Total No. of Questions: 26 Total No. of Pages: 08

I 1 03 HUS
Time: 03 Hours

ERR AHUSY WRIeT, feawaR—2021

318
fava : srefemrey
Subject: Economics

(Hindi & English Versions)
qurie : 100

Maximum Marks: 100

e —

Instructions :

[318] 0-12

(i)
(i)
(iii)
(iv)
(v)
(vi)
(vii)

()
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

aHf goT SifFard &/

ge7) & [iRa sid 9% @ sifed &/

g7 HHIH 1 6 5 GF qegiTo F97 8 §A® & [ord 5 b [FRT &/
7T HHIH 6 W 10 T% 2 b &/ Tk HH TTHT 30 I &/

ToT BB 11 W 14 TF 3 3P &/ T HF TTHT 75 T &/

ToT BB 15 § 21 T 4 3P &/ T HF TTHT 120 <7 &/

go7 HHIB 22 W& 26 dF 5 3H &/ g HE T 150 Ig &/

All questions are compulsory.

Marks have been given in front of the question.

Question No. 1 to 5 are objective type questions. Each Q. carries 5 marks.
Question No. 6 to 10 carries 2 marks word limit is about 30 word.
Question No. 11 to 14 carries 3 marks word limit is about 75 word.
Question No. 15 to 21 carries 4 marks word limit is about 120 word.

Question No. 22 to 26 carries 5 marks word limit is about 150 word.
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g1 98l f[ddhey gaer foay —

U IR B el THT Bl & —

(i)

(iv)

(v)

@) @ Icare fhar S

@) fPadp fory It fdhar S

@)
()

Gofard sreferaver # &l UrI Sfar § —

@) IRt A
(@) D= Ao g Gl

@)
()

D AT fHar 9
SRIFT T

RGN SUHH
BT FIF

Udh U VIR g1 (ﬁl§¢d BT GGAT HEATT & —

@1 feaer
(@) SR

TiReg®T BT i Y war SIrar 27

@) Sf. U vd. 9

@) §n. S

I 10-15 BT G RIS &RIT 57
(@) 1

&) 5

Choose the correct answer -

(i)

(iv)

[318] 0-12

Central problem of an economy is -

(@) What goods to produce
(¢) For whom to produce
This is not found in capitalism -
(a) Private ownership

(c) Central planning authority

@)

(d)

Purchase of a cycle by a household is -

(@) Investment
() Consumption

Who is known as the father of Statistics -

(a) Dr. A.L. Bowley
(c) Prof. Johnson

In the class, 10—15 class interval is -

(@) 1
() 5

(b)
(d)

(b)
(d)

Page 2 of 8

SRUCE]
SWRIFT § A BIg T8

oI, AT
1. Javex

How to produce
All of the above

Government interference
Price mechanism

Production
None of these

Prof. Marshall
Prof. Webster

(5%1=5)



g2

U3

(i) o A & AT A BT HEd T |

(i) e HAd U ¥ B Aadhfold Td USRI B 2, RTaT srgeemiddl
TART BT 2 |

(i) Hderd & e A AHBT Bl I # gieT ST & |

(iv) TOITD ST o @ A | ST ST §

(V) B L SATE BT T Hoooooeoeeeee I3l B |fwAford T8l
fopar Smar 2 |

Fill in the blanks -

(i)  The middle point of class limitis called ................

(i) e are already collected and published earlier and the
researcher make use of them.
(iii) From the view of collection, data can be divided into ............ groups.

(iv) Tertiary sectoris known as ................... sector.
(V) s goods are not included in calculating Gross National Product.

I /3y foRgy —

() ST ST W R MO § g9 @ foY dae i gl w1 affera
ST € |
i) ofiardy srefegaRen # Aol &5 Ud AdSIG &5 BT AR urr O |

(
(iii) AT crferaren # B 93 @ MR W vy foy o €1
(
(

iv) ®Ed 9gdl § a9 ART gedl g |

v) U oy @1 U g @ gqel YANT fHAT S 8, ®Reb aRIU bualw]
gl

Write True/ False -

(i)  Only final goods are included to avoid double counting in National
Income.

i) Capitalist economy has a co-existence of private and public sectors.

iii) Mixed economy decisions are taken on the basis of price mechanism.
iv)  When the price rises, the demand falls.

v) Goods which can be alternatively be used are called complementary
goods.
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U4

U5

8! Sifedl a918y —

) @)
() G «rTa (@) MR
(i) T T (b) TC
(iii) i Id W™ () WRPR Bl A = WHR Bl Y
(iv) wgferd aere (d) AR
(v) UEel UHa€id AT (e) 15 =rd, 1950

(M) 1 add, 1951

Match the column -

(A) (B)
(i)  Total cost (@) MR
(i)  Marginal Revenue (b) TC
(iii) Average Revenue (c) Government Receipts =

Government Expenditure

(iv) Balanced Budget (d) AR
(v)  First Five year plan (e) 15" March, 1950

(f) 15" April, 1951

UH Ir9d H IR QY —

(i) BRI P & 9D DI &°

(i) drel wifa T 8°

(i) B BAT B T IEERT < |

(iv) =4 afie Y Ba i @ T2

(V) ¥Rd & <1 U9 e & W fofay |

Give answer in one sentence -

(i)  Who is the father of Green Revolution?

(i)  What is Yellow Revolution?

(iii) Give two examples of cash crops.

(iv) When was new economic policy announced?
(v)  Name the two important industries of India.
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U6

U7

us

.9

.10

Y11

afefe faera fd wed 27

What is economic development?

gerar/ OR

feprasiiel srefegaver fhy wed &°

What is the meaning of developing economy?
AiRkega! R &7
What is Statistics?

3erar/ OR
THe (3ffrs) frd ped 8°
What is data called?
gfaaafad o fbd ®ed 87
What is per capita income?
3erar/ OR

T M BT 31t oIy |

Write the meaning of National Income.

Ifte 3o fod wed 27
What is micro economics called?

3rerar / OR

AT &7 e foRay |

Write the meaning of demand.

IRA H PV BT 191 IAGHAT & DIg &l HRYT ARy |

Write any two causes of low productivity of Indian Agriculture.
3rerar / OR

YRAY refegaeer § Sl &7 dewg fIRau | (@18 <))

Write the importance of industries in Indian Economy. (Any two)

JJTIRIT B T D= AR DI FHRY |

Explain the three central problems of an Economy.

GTWTKOR
fdd fAer &) i fAgdRil o JaHssy |

Explain the three characteristics of economic development.
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12

.13

U.14

.15

.16

U7

AT aJU by HEd 87 &I IEEROT QITOTY |

What are intermediate goods? Give two examples.

3erar/ OR
aifcrd avgy fbd Hed 87 &I S8R0l QY |

What are final goods? Give two example.

7T @ m & afta arar SIfy |

Explain the Law of Demand with a diagram.

3rerar / OR
ufd & | o1 |afE @aran S |

Explain the Law of Supply with a diagram.
IRd # 3 Ao & ®ig 99 Seey faRay |

Write any three objectives of Economic Planning in India.

STWTZOR
TRT ¥ Mfdfe Ao & BIg o garg foRau |

Write any three impact of Economic Planning in Indian Economy.
Ry yee = B SufiEr IHssy | (61 IR)

Explain the utility of diagrammatic presentation. (Any four)

3rerar / OR
ARV & J& I3y Ay | (@18 =R)
Write the main objectives of Tabulation. (Any four)
i &y Seed fafay | (@18 9R)

Write the main objectives of Classification. (Any four)

3rerar / OR

AR A & IR o7 forfay |

Write four merits of Arithmetic Mean.

I fafy gRT ISR QM BT TOFET BRA THI BIF—hIF AT IR A=) IR+
Bl

What are the four precautions that should be taken in the estimation of
National Income by Income method?

[31 8] 0O-12 Page 6 of 8
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.18

.19

9.20

Y.21

Y22

3rerar / OR
Y Al &1 AT | IS A S MDA H a=adl S arell AT =am gargy |

What precautions are necessary while estimating National Income with the
help of expenditure method?

T g Bl Yl DI FEIRT B arel fbgl =R dedl BI ey H qHssy |

Describe in brief any four determining elements of supply of a good.

GT?TCHZOR
AT & 99 & $Is IR JUATG] hl AHSIST |

Explain any four exceptions to the Law of Demand.

SRR & IUTAT BT foIRa |

Write the measures taken for Liberalisation.
3erar/ OR

fASlieveT & Ul BT FHSISY |

Explain the measures taken for Privatisation.

YR feaaRell # $fY $T Hed dad1sy | (3 aR)

State the importance of agriculture in Indian Economy. (Any four)

3erar/ OR
IRAR P @1 PIs IR fIewarg forRay |
Write any four characteristics of Indian Agriculture.
BRT Hifd & Il DI FHSISY |
Explain the elements of Green Revolution.

3erar/ OR

IRA & AE [ B Uicarad - dTel dlg IR SURI FH38Y |
Explain any four measures to encourage Industrial development in India.
anfefer Hafg vd anfdfe faera # siar forkay |

Write the differences between economic growth and economic development.
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U.23

U.24

U.25

.26

GT?TCMOR
TRA ITTaReT U fApraeiial rfaqaRel 8, $dd dls Uid ofeloT g1y |

Describe any five features of Indian Economy as a developing economy.
HIfEAdHT & HIs Uid o7 foIRay |
Write any five merits of median.
3erar/ OR
qRifsd P O P G |
Explain the merits of mode.
FEe Ud Afte 37eme # AR a8y | (@ls UTd)
Differentiate between Macro and Micro economics. (Any five)

3rerar / OR
I & fm & srare fafag | (@7 ar)
Write the exceptions to the Law of Supply. (Any five)
AR I & LA B GAIEY | (B TT)
Explain the objectives of Government Budget. (Any five)
3rerar / OR
HfeTd TAT AT dolc P FHMSY |
Explain balanced and unbalanced budget.
RT H SE@IT o1 g ghg &% @ Yol 107 UR g dTel UHmal & AT HIfo |

Explain the effects of rapid growth rate of population in India on capital

formation.

3rerar / OR
SN 6 UbR P fddbrd d FErIdl HRd 8?7 FHSSY |

How does the Industries help in Agriculture development? Explain.
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faw : <rer sregyE (qrforsy)
Subject: BUSINESS STUDIES (COMMERCE)
(Hindi & English Versions)

|G 03 U quTies : 100
Time: 03 Hours Maximum Marks: 100
fader —

(1) @ g9 g7 T &/

G) 9 FFT-7F H 3 @US &/ @S ¥ U9 Gvs T/

3) @v ‘g F 3 Awey &/ g0l ® #ac V@ fawed & Fe @ GOV & &/
Instructions :-

(1) All questions are to be attempted.

(2) This question paper consists of two sections “A” and “B”.

(3) Section “B” has two options. Candidates are required to attempt questions

from one option only.
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gvs — " /SECTION - “A”

g1 Rad =i o gfid i —

(4)
(5)
Fill in
(1)
(2)
(3)

(4)
(3)

S DI AR TH AT BTAR oo RTIR HEAT © |
Ped UGN BT SUIATH TATT BT oo e HE T |
I BUHT GRT 3T HAY UG BRI AT ST Yo [ofAT ST 8, I o
.................................................................. B8 ¢ |

TS ASE ACAD GITET BT oo HET ST 2 |
FAD B ARV ST F A AGD B GBI BT HE T |
the blanks -

Trade limited to the borders of the country is called ...................... trade.
Making of raw material to be more useful is called........................ industry.
The fee charged by the insurance company on account of providing
SErVICES IS Called ....oooiiiiiiie
Worldwide network facility is called............ceeeeiiiiiiiiieiiee e,
The process of direct contact of the clerk with the general public is

CaAllEA. e

U2 g Al 3T H IR ST —

s grT ot Y gy e aer fhar o gear 2
TTh AU 3R Solipid FaU AR A3 & YN & |
TR BATA & AR BT s [dg S10F T |

TS, Fde &7 BRf T8 B |

aReR wlff, 7eft &7 eiaRe = 2 |

By E-banking the banking transaction can take place at anytime.
Postal services and telecom services are types of communication.
Labour is the central point of studies of Henri Fayol.

Organisation is not the work of management.

Campus recruitment, is the internal source of recruitment.
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U3 Uh I H SR Y — (4x1=4)
(1) <UR IR AR & Ae—H R B ®T Hed 27
(2) wERRl & 72 faRad sgdy &1 M JaEy |
(3) FIUT BT Sfia< o by dad &7
(4) fUoE 3 My faRyRT § ¥a9 Agw@yol 39 27?
Answer the following question in one sentence -
(1) What is called trade and auxiliaries to trade?
(2) Name the written document of agreement among the partners.
(3) Which is the life blood of Business?
(4) Who is most important in the modern ideology of marketing?
W4 WE SIS 9T — (4x1=4)
- g
(1) fauo= @i (i) foxira faeH
(2) <Rl Goft (i)  yHONeRT U o
(3) fauvre g&er &1 I3 (i) SreipreiE

(4) faxira fct &1 fAf
Match the columns -

«p”

(1) Marketing function

(2) Fixed capital

(3) Objective of marketing
management

(4) Making of financial policies

[8319] 0-12
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Financial planning
Standardization and grading

Long-term

Generating demand for the
product



95 el fdbey gaey fofgy —

(1)

(@)

(1)

()

oo 7 —

() o S (i) faspy St

(i) uTED I (iv) Sare SqE!
fasrar yder # fasar mar & —

(i) fwma = (i) foma o

(iii) TSR ITTHUT (iv) Sujad a1l
fISoT T &9 Seed & —

() <NTd § A HRAT (i) fapa # gfg w0
(i) oTT W ghg HA (iv) Sudad a+f

“prd Tl A1 g AT a1 BT AR oI ©, o1 ga1 § gebe b Sirr g |

g B fba Hper?

(i) . D (i) °n BN
(i) . fBfera dleer (iv) HUeITS
Choose the correct option -
Marketing is -
(i)  Purchasing oriented (i)  Selling oriented
(iii) Customer oriented (iv) Production oriented
Sales management is done in -
(i)  Sale planning (i) Sale research
(iii) Market research (iv) All of the above

The main object of advertisement is -
(i)  To reduce the cost (i) Toincrease in sale

(iii) To increase the cost (iv) All of the above
“Price is the market value of any goods or service which is revealed in
the monetary.” Who said this?

(i)  Prof. Clark (i)  Prof. Kori
(iii)  Prof. Philip Kotler (iv) Coupland
U6 TG BT R BTy |
Define ‘Business’.

3rerar / OR

TRISTR' AT 3T 27

What is meant by ‘self-employment’?

[8319] 0-12
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U7  ERISAR 6T A W oY | (@15 2 fdg)

Explain the importance of self-employment. (Any 2 points)

gerar/ OR

BN B U BT frRay |
Write the characteristics of job.
U8 Ut A & el bl feIRay |
Write the objectives of quality control.
3rerar / OR
IR & &3 &1 FuRer & & folg e ardl &1 & H @1 an2g?

What are the considerations to be taken for determining the area of
expansion?

9 SN &I fRINdARl &1 Seeld HIFY |
Describe the characteristics of industry.
3rerar / OR
e SN & YBRI BT Hed H FHSY |
Briefly explain the types of primary industries.
¥.10 UM TG SR & 74 R folRag | (@7 <)
Write the difference between profession and employment. (Any two)
3rerar / OR
AT & ARG Seed foIRau | (@18 1)
Write social objectives of Business. (Any two)
711 <M AR & UHRT B G99 § qHSEY |
Briefly explain the types of Domestic Trade.
3rerar / OR
SEUNT Ud Ao & Heg 3R W BIFY |
Distinguish between Industry and Commerce.
U12  GgFd Yol arell HUT Bl faRivdrel b HHssy |
Explain the features of a Joint Capital Company.
3rerar / OR
AEBN! AT & Tl B W HITIY |
Discuss the advantages of Cooperative Societies.
13 &6 o a™i &1 G guie SR |

Briefly explain the advantages of Bank.

[31 9] 0O-12 Page 5 of 8
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GT?RngOR
T BT HE<d 98U |

Explain the importance of Insurance.
Y14 9RAE S fGUT g1 ve fafdy giaemsii o1 wee S |
Discuss various facilities offered by Indian Postal Department.
3rerar / OR
HUSR T8 fba- UHR & B &7 FHssy |
How many types of warehouses are there? Explain.
15 CToR U4 Bald & RIGA § ®ls IR FAEa foIfay |

Write the similarities between the Principles of Management of Taylor and
Fayol.

3rerar / OR
TR Ud BAT B Rigidl B SRTHA a8 | (IS 4)
State the dissimilarities between Principles of Management of Taylor and
Fayol. (Any 4)
916  [IYfaaep)or Bl ATaehehdl Iarsy |
State the need of Staffing.

gerar/ OR

adl & SNdRe g 9d1sy |
Give the internal source of recruitment.

917 U 5 Ry Ao &1 faRwarg 9arsy |
Give the characteristics of an ideal Financial Planning.
3erar/ OR
T G5 &1 A3 BT FEiRT SR dTel a<dl B AHSIRy |
Explain the factors determining the volume of Fixed Capital.

918 TN @ el & folRau |

Write the objectives of Planning.
3rerar / OR
MoeRe e Td SMITAR® W6 ® Aed R WK HIFTY |
Distinguish between Formal Organisation and Informal Organisation.
.19 URIET HImll &7 Ae<d W PHINY |
Explain the importance of Transport Services.

3erar / OR
MY di & UBRI BT Ferd H qoid BT |

Describe in brief the main types of modern Bank.

[31 9] 0O-12 Page 6 of 8
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U.20

.21

Y22

.23

U.24

U.25

Y.26

U.27

.28

o wder &1 qfHeT e BIRTT |

Discuss the role of Financial Management.

3rerar / OR
T 45 v SRiEe ol # 3R W B |
Distinguish between Fixed Capital and Working Capital.
fasmu= w1 &1 T BRd AT O o1 Y 91 9disy |
Explain the factors to be considered while selecting advertising media.

3rerar / OR

USRI I BF dTed AT 918y |

State the merits of Packaging.

gvs — "§" /SECTION - “B”
fdsea — 1/ OPTION - |

Rad I @1 gfid sifg —

(A) TS IS AT H TH o @I MITIHAT B B |
(=) A WIS UG $I Agw@yul FerIdr fefdl 7 |

Fill in the blanks -

(A) AN, is required in every modern institution.

(=) I provides significant support to the file system.

I /3 H SR QIRTY —

TABIOT A M BT & B BT 7T & TR 9 7 |

Answer the following in true/false -

Mechanization refers to the replacement of manual work with machines.
PRI S UG B foRaw | (@1 ]))

Write administrative function of an office. (Any two)

Te! 31rar INY Bigel Ugfd & BIs al o foIlRau |

Write any two advantages of vertical file system.

S HIfdd d@l BT auid PIRTY, S B B & Sferd araraRer & 377 R4 2 |
Describe the physical elements which create proper working environment.
Fratery 7l & TR & T A 87 HeEY |

What are the benefits of using office machines? Explain.

IITHAMIRT & AT DI FASISY |

Explain the objectives of Indexing.

[31 9] 0O-12 Page 7 of 8

()

()

(2x1=2)

(1)

@)
@)
(@)
(@)

()



U.22

.23

U.24

U.25

.26

u.z27

.28

e — 11/ OPTION - I

Raa et @1 gfitf sy — (2x1=2)

(A) G UTHRI B AT Bl BET BT oo HEd T |

(B) dg =fad S Yoic gRT fbT MU 98 Bt & T SRR BIAT B
BHEATT B |

Fill in the blanks -

(A) The link between two parties is called an...............ccooeeeenees

(B) The person who is responsible for the legal work done by the agent is
called.........oooveeieiceeee

A NI T H IR QIfT— ()

R 1 TR & BRI Bl dlell Bl BT ITRGIRId Yolve &I BIdT & |

Answer the following in true/false -

The agent is responsible for the loss due to the inefficiency of the employer.

okl @1 U faRiva falkag | (@18 2) @
Write main characteristics of an agency. (Any 2)

Tole B AfeR IRy | (@7 2) @
Write the Rights of Agent. (Any 2)

fISITI Yokl T He<d e BT | (4)
Explain the importance of advertising agency.

HHITF Toil & BT BT ool DITT | @)
Describe the functions of commission agency.

I U4 e Qoiddl & SR BT Seeld HIfTY | (5)

Describe the functions of travel and tourism agency.
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yYls — A

S Rad e - (5%x1=5)

3.2 N YT AT — (5X1=5)

33 TP I/ IE H IR — (ax1=4)
) Ay

) NTEEN Aol
) T

) UTE®
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3.4

3.5

3.6

3.6

3.7

3.7

3.8

e el — (4x1=4)

3 q
(1) fogom & (i)  THATONHROT Ud Soi
(2) e doht (i) Erewre=
3) fauve g€y &1 ST (iv) TG BT ART IA~ HIAT
(4) o< Dot & At (i) =i e
wel famer — (ax1=4)
(1) (i) IS S
@ (v) SwfF @
@) (i) fama A gfg =
@ () Y. F&D
U, &9 — “Faard S9 Aay fhanei & afaRed @e T8 7 S aRgell & &
fapa & gRT 99 SHTRH 9 o9 BT & forg Hanferd &1 It 2 1 2)
SEIE

FRGATR 4 AR G W U 9 R DI 3MAd fha1 AT 8| 39 3iciiq
e & 9ol H IR BT IUGT B 91, TR BT HI — (I AqaT Ha]g e

BT B |

FRIGITR 6] Hgcd — )

(1) o WM & a9 & o™
(2) B B FoAAT H T

Srqar
st & AeToT —
(1)  aredt et @ forg orf axar B
(2) T & feeE e v § Bri R |
e (@
(1) TP ®H O BH A UREIREr R Ad g |
() =T & fama # gfg |
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3.8

3.9

3.9

3.10

3.10

311

311

SAAdT

(1) dNIR @I &Hdr

(2) SEA H ghg @ FHEAT

(3) YdY BT HAT Bl HHY

(1) SR, FIAT BT IATEDH UeT B |

(2) uE A wfed vd 7 oifdd & wanT | 8T ©
)

sfenfire fhamd faf &t & Fanfera g1l 2 |
SEIE
UHR — (1) Fpyor ST (2) SHMAG SR

T B

(1) 7o se
2) ufwa
@) A
SREIN
(1) ISR & MEFR Y™ HRAT |
(2) Sfied R Sar HAT|
(3) UATERUT HY GReT | INTEH |
THR —
(1) oI% AR
(2) WeIR MR (e H qui)
SREI
AR BT AER —
(1) 3meE
2) SuFifrar
(3) @R
(4) &=
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312

312

3.13

3.13

3.14

fagreamd —

(1) Pt fwa
2) wad dure IR
(3) wrdyaT
(4) T <l
rerar
ST —
(1) U1 ERA
(2) ORI HEIT
() g T
(4) T <l
Sy
(1) <ad TAT ST BT deTdl
@) g Pt
(@) TR eIl @ gfd
(4) =au™ & fog Yol
(5) <ggE™ @1 fabrd vd fawR
(Wférr aof)
Jreran
HEoT —
(1) <NRew & e
2) g § fARaR
(3) <9 P NP TG ARG SeI=
(4) o wiftq | giaen
(5) RMR ¥ gfg
g —
(1) &9 BT SART
(2) fasros gfaen
(3) fafvarT wae giden
(@) <N U9 ST FaRAT HRAT
) wie ure dar

[8319]o-12
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3.14

3.15

3.15

3.16

3.16

SAAdT

THR —
(1) Sl qUSRIE
(2) WTESIMG AUSRIE
(3) RPN YUSRIE
(4) <N YUSRIE

)

(5) <UD HUSRIE
CeR Ud Bl & Rigidl § ®Ig =R AHAIG —

(1) M & T AFG AIER
(2) fOE &1 AEE
(3) oA BT R A
@) Rt uferr @1 w8
(6) gfrarT Rrgra
SR
AT —
(1) o &1 d= fdg
2) fdwra &1 A
(3) i
(4) foraRYRT
(5) faerysrar
aegedar — Rad usl @1 Yfd, AFdIar &1 Agcd, fARTCHRe, 99 o ST,
REISSERYIBIRE
e
arfaR® = —
(1)  HHaRAT BT e

2) ®HAIRAT BT EXATARTT
3) SiftR® HHaAIRAT BT FHAISTH
(4) w1 ged

[319]o-12 Page 5 of 10

(4)

(4)



(4)

:
IIT

~~N /N~ N N ~~ -

SAAdT

A DI Ypicl

AT dT HAThR

~~ /N N N N

~—

~—

T N 2 T

()

—~
~—

~~ ~—~N ~—~
N N N
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J19  HEW —
(1) uThidd ARl & STIRT
(2) #iT vd gfdd g
(3) 9 AT H TG
(@) =9 B IfCreierar
(6) TR gf
SAdT
S19  UBR —
(1) aife d@&
2) sienfe 9@
OREGE
4) =g 9B
5) D= dH
6) UTHIOT dB
(e qoi &R ei®)
J20 o< ydy o qHaT —
(1) it Rt o1 AR |
(2) =T Akl &1 AR
(3) <ref@mTel Td srcudteld fa @& Srud @1 iR |
(4) MM @ @ A= Sl & U B R |
(5) <rEwreiE o @ faf=r Sl & rguTa &1 iR |
ST
S SRR T o I Yot PRI ol
SIND] qfA, waq, #ei ofe # fhar | ufdfed & gy daw, femn anfe
T 9w wmrl §olt wEdrdt | § a eriEd Yol dean |
2 |
EEAR ReR BT 7 | 3ReR BT % |
SEIE] LA awIdhdre ol Y | SeuEfe  TawIdharst B gfd
BT 7 | EaGid
Era STEdTel S ARFEl 9 YT | cudleld Al 9 U gkl
Il B | 2 |
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3.21

3.21

3.22

3.23

3.24

3.25

3.26

[8319]o-12

(1) U= &1 35
(2) wUTEDI FT AH
(3) a%g @1 uPfa
(4) STHET BT KR
(5) wfoarft Eerm &1 fasmu=
(6) UeeH
AT
ST —
(1 g
@) gfen
(B) YUSRO
(4) fasmo=
(6) T WY
6) uR=a
g — §
fapea — |
R e —
(A) BT
(B) gt
I /I —
T
b1

(1) SIS gaRen

2) ®HAIRAT BT Y&

ST —

(1) uE ggfd dEeR © |

(2) PTG Td SRS Bl AT GRET 5l 2 |
qoq —

(1) 9ol gavenn

(2) AT Td WHTE
(3) gRem ysy

(4) ratery gRem
(6)  3id: |oull

Page 8 of 10

()

(2x1=2)

(1)
()

)

(4)



3.27

3.28

3.22

3.23

3.24

3.25

™ — (4)

(1) &M & drFTd H 99d

2) 3rfr® HrderHar

(3) i e

(@)  wwrEr R

(5) dgax WAy

SR — (5)

) ST I H e |

) ¥l & UdeH Ud SUANT & ANTd | BHI |
@) <ewl @ ¥ Siiw uedrd |

)

)

(4) IgE TAT TXTCASI BT G H AT |
(5) oIl B ggd H WHI Td 5H B 99d |
famea — 1l
Ree vermt @1 gfeh ®ifvig — (2x1=2)

(A) T UETHRI @ 919 B B! BT Yol Had & |
(B) a8 afdd S Toic gRT By v 9y &rf & fory ScRerl gar 8 e

HEA 2 |
[ 31TaT T H IR ARG — (1)
fRATeRT @1 SR B HRT B dTeil BT BT STREIRAT Toiwe Pl BIT & | e
Ty — @)
(1) STReRd
(2)
(3) ufdwe
PR — @
(1) wRsfe U< B BT MHR
(2) afufcf @ fdeR
(3) fasva I3 X@H @1 AfBR

[319]o-12 Page 9 of 10



T26 HEd —
(1) ¥t Ud HarRli & fam] Fae| &= |
(2) dNIR ¥ Y IATRT DI UKD B H ASRIAT BRAT |

() HATEHR HAY Y& BT |

(4) wfoarft BT BT STAnT |
F27  FHHRM Toidl & BRI —

(1) HATd & TG qaT fdaepT

() fauor warg

(3) WRTTRiETAT WAy

(4) f<TT FEAT SUART BT

J28 BRI —
(1) T3 JTReTor
2) wrf fderol GaR H=AT
(3) BIcel IMANT BT IMRETUT
(4) wieHi I YR Flaer
(5) UTAUIC JAUAT 3T BRI YOI B H FERIC]
(6) TII ITAT DI Favedl

[319]o-12 Page 10 of 10



HA T DI AT : 29
Total No. of Questions: 29

ERR ABUSY WIET, feaw=R 2021

320
ICLR IRGECINIEE ]
Subject: ACCOUNTANCY

(Hindi & English Versions)

gag : 03 gue
Time: 03 Hours

Hl TOI Bl GEAT © 16
Total No. of Pages: 16

quIid : 100

Maximum Marks: 100

faeer —

(i) ST HFT 9T 4 5 @< & — GU8 3’ 7T G '/

(i) @Us 3 & T g B 87 BV 8/

(i) @vs ‘g F 7T Awey & genfar & dae vw QAecy & 8 go & gV &7 &/
Instructions :-

(i) The question paper consists of two sections — “A” and “B”.

(ii) All questions from section “A” are to be attempted.

(iii) Section “B” has got two options, candidates are required to attempt

questions from one option only.

[320] o-12 Page 1 of 16



U1

Uz

gvs — 31/ Section - A
T Ieq /IR H SR SIRTT —
(i) o< AR 3frET 71 ST @R §RT W & SYANT gg Ml Sdm 2, S9 ded
g |
i) TR & Bg B TR @ & o uer | forar o
iii) T — I @t @7 Sifow 9y giar 7|
iv) T & Jih BT AEIR AT 287
V) R 3R T U H @I IR 2

Answer the following in one word/sentence -

(
(
(
(

(i)  The amount of cash or goods withdrawn by the proprietor for personal use
is called.

(i)  On which side will purchase of machinery be recorded in Machinery
Account?

(iii) The closing balance of Receipt and Payment Account shows.

(iv) What is the basis of valuation of goodwill?

(v) What is the difference between the old ratio & new ratio?

Raa et @1 gfitf iy —

(i) TR BT TR TR MR e FHEAT B |
(i) HS THD B ADS T BT AT TG oo BT 7 |
(i) I BT ST WA B oo BT AR T ST B |
(iV)  TTH—TT WTAT TB oo QT B |
DI L2k 152 2 Rerfar &1 <=iar 2|

Fill in the blanks -

(i)  The excess of assets over liabilities is called............ccccceeeiiinns

(i)  The balance of cash column of cash book is always..............c.ccoc....

(i) Expenditure is shown onthe ........cccccevveeiiiiiiiniinnnn, side of the income
and expenditure A/c.

(iv) Profit & LOSS aCCOUNT IS @ ..o account.

(v) Balance sheet disclosed ..........cccooiiieeiiiinnnen. position of the Business.

[320] 0-12 Page 2 of 16
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U3 9/ H IR AINIY — (4x1=4)
(i) TTEY T YUITell oG B U AdSAT(-b YOTTell & |
(i) YAF T B for SHBT A B AR BT [T SHT BT 87

(iii) 3T AGl BT AF—F WA H forar Ardm 7 |

(iv) SUIRTd oM AR &7 <1 2 |

Answer the following in true /false -
i)  Double Entry System is an unscientific system of Accounting.
i)  For every debit there is corresponding credit by the same amount.

iii) Revenue items are recorded in the income and expenditure A/c.

(
(
(i)
(iv)

iv) Accrued Income is a liability of Business.
94 el fdweu gaax farfay — (ax1=4)
() R fdd P SUR A1 §97 9T 8, S Hed & —
(@) <TRR (b) IFER
(c) SdEH (d) Swdad # & BIg T
(i) | & Ia § WiseR gRI AU TU o1 R &1el g1 §Ien 8 —
(@) 4% ufoay (b) 5% ufcray
(c) 6% ufay (d) 7% ufcay

(i) X TAT Y 3: 2 & AU H A2 dled 3 | Zaﬁ%'ﬂw QXY TSGR I1]
T | AT ST BT —

(@ 1:1:1 (b) 9:6:5

(c) 3:2:1 d 2:1:3
(iv) i foaxon & em=aRe SuaiTedr & —

(a) 9% (b) WRHR

(c) vEe® (d) ST

[320] 0-12 Page 3 of 16



Select the correct answer of the following -
(i)  That person to whom, we sold goods on credit is called -
(a) Debtor (b) Creditor
(¢) Manufacturer (d) None of the above
(i)  Inthe absence of agreement, Interest is given on loan by the partner -
(@) 4% P.A. (b) 5% P.A.
(c) 6% P.A. (d) 7% P.A.
(i) X and Y are partners sharing profit & loss in the ratio of 3 : 2. Z was

admitted with % share in profits. The new ratio will be -

(@ 1:1:1 (b) 9:6:5
() 3:2:1 (d 2:1:3
(iv) The internal users of financial statements is -
(a) Bank (b) Government
(c) Manager (d) Consumer
U5 WE SfeAt asy — (4x1=4)
&) @)
(i) T gai (a) (Rres o) uofiga Yot
(i)  3fer @1 WA (b) IATUIId 3ATde
(iii)  arferpa goi (c) I BT HATU
(iv) fer sfreT (d) ey yaiiEerR afer
Match the columns -
(A) (B)
(i) Reserved capital (a) Registered capital
(i)  Redemption of shares (b) Proportionate Allotment
(ii)  Authorised capital (¢) Winding-up of Company
(iv) Over subscription (d) Redeemable preference shares

[320] o-12 Page 4 of 16



U.6

uvz

U8

U9

U.10

gfafte &1 @ ey 8°
What is meant by Entry?
3rerar/ OR
"ot RV Y Y |
Explain “Turn Over”.
CEECASICTI I N
What is meant by Trial — Balance?
3rerar/ OR
doUc 994 & PIg I I folRay |

Write any two objectives for preparing trial balance.

ETSIIN I AHSSU |

Describe Hardware.

3rerar/ OR
AITCdIR B AR |
Describe Software.
ST BT gRaIfRT BT |
Define Data.

3rerar/ OR
AT BT gRAINT B |

Define Information.

AT T HEM Tl GRS W T M 77

What is meant by “Not-for-profit” organisation?
3rerar/ OR

ot P B ST fpar ST 7

How is capital fund ascertained?

[320] 0-12 Page 5 of 16
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11 4 Taert &1 fawg 98 & forfgy —

2021

S 1 e P A 600 3
IS 5 YRS DI AT = 8,000
Jarg 10 IR &I famwa fear 3,000 }
Enter the following transactions in the sales book -
2021

July 1 Goods sold to Chetan 3600
July 5 Goods sold to Sharad 38,000
July 10 Sold to Amar 33,000

3erar/ OR

HY IKIH H [6d PR & o 781 fold oI &7

Which transactions are not recorded in Purchases Book?

12 f=foRed aeRi 9 J@ihT IHHROT GIR BT —

3
(i) TR 7 APbe A AUR RS fHar 1,80,000
(i) TP A W] 60,000
(i) ¥ W SUR AT WIIeT 30,000

Prepare accounting equation from the following transactions -

4
(i)  Nakul commenced business with cash  1,80,000
(i) Bought Goods for cash 60,000
(iii)  Bought goods from Raman on credit 30,000
3erar / OR

Aih AHIBROT &b Pls Al oIt a1 |

State any three advantages of Accounting Equation.

[320] 0-12 Page 6 of 16
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u.13  EfaRed sfgal o GurRT & oy sfawds S+d gfaftedl sifvrg —

Pass necessary journal entries to rectify the following errors -

(i) g AR @) et @ <ew 2,000 T fAwT @ # ST 1 S
< 2,000 the amount of the sales of old machinery has been posted to the
sales account.

(i) 4003 FIF FRFT BT AR AIF vd 7R @ # forg & T8
Repairs to plant amounting to ¥400 had been charged to plant and
machinery account.

(i) 200 W HA & WA Bl A A S VI R G BT W1 T4 B Qa7 17|
An account of 200 being instead of debited in Ramesh’s account was
debited to Suresh account.

3erar/ OR
Iexd @Al Hd IR KT -7 ST 272
When and why Suspense Account is prepared?
U414  dede o faRmard ey | (@S 9R)

Write the characteristics of Trial Balance. (Any four)

3rerar / OR

frferRad 2w e1fel AR &1 geadl 9 31 A/ 2021 & fog 1Y €, 397 291 9 defuc
IRY —

CEIREINI] 2500 %

SR 7T 1500

RIPS Tl 1020 %

ERREIGI 7900 X

IEERCIG] 5000 X

SIESUIRCIG] 50 %

qET T @ 20 %

ESRREINI 50

The following balance are extracted from the books of Anil Kumar on 315t March
2021, prepare a Trial Balance from these balances —

Capital A/c 32500
Creditor A/c 31500
Cash Alc 31020
Purchase A/c <7900
Sales Alc 35000
Drawings A/c %50
Discount Received Account 20
Salary A/c 50

[320] 0-12 Page 7 of 16
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.15

.16

FrAfRad gammell & SR WR Udd dod B 31 A/, 2021 B UIIG—YTaH @l
q2T —

1. e AY 4,000 X

[T e e 11,100 T

BeiTeR Y 1,000 %

ToT g1 g3l 50X
fooTell = 1,450 %
o= e 2,400 ¥

From the following information prepare Receipts and Payments A/c of Pawan
Club for 31st March, 2021 —

Opening Cash Balance 34,000

Membership fee received 311,100

Furniture purchased 31,000
Interest received 50
Electric charges 31,450
Rent paid 32,400
3rerar/ OR

I—TF W B Blg IR ARAg IR |
Write any four characteristics of Income and Expenditure A/c.
AR Hol@ & 3Md H oF] 8 drel Il &I TS |
Explain the rules applicable in the absence of partnership deed.
3rerar/ OR
Y, T AR W ARCER E1 T 2:2:1 B AU H A—gI died | 3T WERRS |
W P IR 41 & fb U HH A HH 10,000 X A4 a9y & AT | =1e] a9 BT o™
30,000 & | A8 ST wTef 918y |
A, B and C are partner sharing profit & losses in the ratio of 2: 2: 1. C’s share is

however guaranteed by the other partners at a minimum profit of ¥ 10,000. The
net profit for the current year amount to I¥30,000. Prepare Profit & Loss
Appropriation A/c.

[320] 0-12 Page 8 of 16
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17

.18

.19

QAT JAFUTT 3R ™ AU H AR 18T |

Distinguish between sacrificing ratio and gaining ratio.
3rerar / OR

w4 ¥ fo aRRefoal # wnfa &1 weaies faar smar &7

In which circumstances Goodwill is valued in firm?
AT 39T SR qERIPR afer ¥ arR AR |
Distinguish between Equity shares and Preference shares.
3rerar / OR
Tdh HAT T 100 Tl 15,000 FHAT 3 S=ar # FRifaa g | wwget Il ve qed
T &1 AT | BEE B GRIDT H ARSIl FrAeedr HIfTg |

A company issued 15,000 equity shares of ¥ 100 each to the public. All amount
have been received in lump-sum. Pass the necessary journal entries in the
books of the Company.
FOTOE ®I fIRrag qarsy |
Give characteristics of debentures.

serar/ OR
yRe foffics HHT o 50 T ATl 8000, 10% F0Us ORI fby, 59 IR 20 T 3Mded W
Td Ay IR 3Mded W 7 B | FRod o 9t IRt e aHa gt 8 T, SR @
g8 § el 981 gfaaftedl S |

Sharad Limited Company issued 10%, 8000 debentures, valued ¥ 50 each.
Amount due X 20 at the time of application and balance amount due on allotment.
Company has allotted all the debentures. Give journal entries in the book of

company. All the money were duly received.

[320] 0-12 Page 9 of 16
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U420 oo 81 Ud WEs! § F<R I8y |

Write the difference between Journal and Ledger.

3erar/ OR

frfoIRaa FaeRl ¥ Thelds! dIR BT —

2021

BCESEE

TIHEN 2

JqHN 3

B CASES)

IqHN 6

Jhs 10,000 T TAT 40,000 T HT TN W IUR UR™T fhar

5,000 Tdb F o4 fbu

IS W ATl W@RIET 8,000 2
fhelR &Y 9Te J1d 997 12,000

Ja= fear 2,000 2

Prepare Journal from the following transactions —

2021

November 1
November 2
November 3
November 5

November 6

[320] 0-12

Started business with cash ¥ 10,000 & machinery ¥ 40,000
% 5,000 deposited in Bank

Goods purchased from Manoj X 8,000

Goods sold to Kishore for cash ¥ 12,000

Salary paid ¥ 2,000
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u21 f=feorRad wwafral vd <if¥cal | 31 A, 2021 &7 GAE 89 9Tl a9 &1 fRIsT dIw
: -

Sl 15,250 ¥
FT 500 ¥
g o 1,811 %
ER 1,280 ¥
EREIN 2,200
W 150
3ifeH wh 2,400 %
e 10,000 ¥
NE] 3,900 ¥
PISRCEE 191 %

Prepare Balance Sheet from the following Assets and Liabilities as on 31%t

March, 2021 —
Capital 315,250
Loan 3500
Net profit 31,811
Creditors 31,280
Debtors 32,200
Furniture 3150
Closing stock 32,400
Building ¥10,000
Machinery 33,900
Bills Receivable 3191

[320] 0-12 Page 11 of 16



AYdT / OR
frgT 999 & T S 87 FHSIRU |

What are the objectives of preparing Balance Sheet? Explain.
Y22 RN @ faRvan qargy | ()
Describe the characteristics of Partnership.
3rerar / OR
fgd AERR @ 37 IR & IraE & AR B 99y |
Explain the different method of payment of amount due to retired partner.

Y23 kU A & A UBRI BT quie DI | (5)

Explain the various types of debentures.

3rerar / OR
T HFIAT 7T 10 I dTel 1000 FHAT 372 20% W™ W FRifad foy | fade Rrae o4
100 3fer 8, 98 3 T aTell Af~TH ART BT I T8l B IR AR SAD 3feA BT 80T

PR forar T | BRoT fhy e Br 8 T yufad WR YARRIHAG HR f&ar Tar| 3fell & 81y

Td gAfREA gq uoll wfaftedt iy |

A Company issued 1000 equity shares of ¥ 10 at a premium of 20%. Vinod is a
holder of 100 shares. He could not pay X 3 for final call and all his share were
forfeited. All forfeited shares were reissued at ¥ 8 fully paid up. Give Journal

entries for the forfeited and reissue of shares.
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ug — ¥/ Section — B
fd®wea — 1, /Option — |

u24 Rad w1 gfid sy —

.25

Y.26

U.27

Fill in the blank -

TS faaR0T, §H MBHR fIaR0r Tl o i urd fa<ig faavon & feryor &

Comparative statement, Common size statement and Accounting ratios are the

............................ of financial statement analysis.
I /3 H FTR HITT —

Answer the following in true/false -
fa<iiar faaxor ¥ sffes Sifead 99 oI § |

Financial statement make figures complicated.

TFH & /Ud 9 | IR I —
Answer the following in one word/sentence -

ITe] AU FIETT 1 BiA—A1 faia Rerfay geiiar &7

Which financial position shows the Current Ratio?

=1 GErell & el ™ U DI IO BTG —

3
fasrar 5,90,000
[EERCIEK] 90,000
el o4 1,50,000

From the following information calculate the Gross Profit Ratio —

3
Sales 5,90,000
Sales Returns 90,000
Gross Profit 1,50,000

[320] 0-12 Page 13 of 16
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g28 HAC fIfics MUdl 4 Fo-ml ga™ &_d & — @)

31.3.2020 31.3.2021
wfiF 3,00,000% 2,85,000 ¥
S1G 1,05,000 % 1,50,000 T
SCE| 1,05,000 % 1,80,000 %

Y & IR T 7L 15,0003 & 941 | 370 G FAI81 & R IR A>T fohanai

J Abs JATE BT TUET HIFY |

Kamal limited has given you the following informations —

31-3-2020 31-3-2021
Machinery ¥ 3,00,000 %2,85,000
Land 31,05,000 31,50,000
Building 31,05,000 31,80,000

During the year a machine sold for ¥ 15,000. Calculate cash flow from Investing

Activities on the basis of above information.
Y29 IIbs Yarg faavor &) WY 9arsy | )

Explain the limitations of cash flow statement.
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U.24

.25

Y.26

u.z27

e — Il /Option -

I /3 H FTR BITT —

Answer the following in true/false -

"I NI T “Ucdel g’ ST Bl U &1 31 2|

“Direct costs” and “

Direct expenses” mean the same.

Rad I @1 gfid sifg —

Fill in the blank -

=i T ST € |
Controllable cost is.................... cost

T 9 /Uh a9 § IR R —

Answer the following in one word/sentence -

7 it g o 911 @ Ao 9 =g 2 € S PEd B |

All those expenses which are related with manufacturing of goods, are called.

f=faRaa faearor 9

T 2y
fooxmaT, g% 9 9

[320] 0-12

BRI NI ST DIFTY —
3
40,000
60,000
25,000

5,000

Page 15 of 16
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Calculate works cost from the following informations —

3
Cost of material 40,000
Wages 60,000
Manufacturing Expenses 25,000
Rent, Rates and Insurance 5,000

Y28 CNd oEidh & Se%d qgdrgq |

Explain the objectives of Cost Accounting.
Y29 NG ¥ T 3T 87 AN & dcd ARy |

State the meaning of cost? Explain the various elements of cost.
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HA TSI BT G&AT © 12

ERR Advsyl UeT, faawaR—2021

Y IR

320
L IRGECIEIRE |

Subject: ACCOUNTANCY

3.1

3.2

3.3

3.4

yYls — A

Udh g /Uh did H IR —

(c) 6% ufoay
(c) 3:2:1
(c) YUswerd

[320]0-12 Page 1 of 12
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3.5

3.6

3.6

3.7

3.7

3.8

3.8

3.9

3.9

3.10

3.10

GERSISIES
(31) @)

(i) T gei (c) HHT BT HATIA

(i) e T o (d) ¥em EIRR s

(iii)  erferpa Toft (@) doigpd Yol RRes Iof)
(iv) 3ifa erfve™ (b) ruIf® 3fEe
gfrafie — ofad &1 249 &1 qeaei # foree ufafte d=er swearan 2|

AAdT

g 91 — vap MRed s@afe # 8 arell Ads a1 SUR [dshd &1 ANT B [
HEAT 8 |
JeYe QA & A R ST Y B G AT b fIaRor 9 B |

3AqT

dolue 99 & ST —

() R gEar @ S

(i) @i @ 9 BT S

(i) A B e

(P1g <1 wferg e died)

BISIAR HPYCR HIfdlh TSH] BT WIS ©, I HrYeR RICH Bl 737 B ¢ |

SI2EIN

APCRR d & ol Red &1 MR 3R 2aRerd & &1 $R1 & & |
STl ol AR R Fean e &, orae gifesa aRem g1d f6e S 9 |

rerar
SEid H AT UoTTel! # ST iR uRad+ &1 | wfid gdr 7 o o ok
o & oy IuIRT A ST & |
T AT fSeT 7 Seed M BHAM B IOl A STl By il
GAIfId HRAT BIAT & S© a9 9 DA dTell WA HBT Il 2 |

SZEL
TSl ey for=felRad I3 gRT =1d fbar Sirar & —
URME ol By = YRS FRRT BT I — YRS <T@l &1 3T

[320]0-12 Page 2 of 12
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3.11 Sales Book
Date 2021 Particulars | | L | Net Amount
N|F
July 1 M/S Chetan 600
July 5 M/S Sharad 8000
July 10 | M/S Amar 3000
Total Sales 11600
<IEI

A1 Y YEIe ¥ A 28Rl BT ol T8l fdhar Sirar § —

() e HI @I

i) YUY R YT AT BT
i)y TEREl & g @

iv) WHid g YT ATl BT

(@13 0 wfera arer afzq)

3.12

Accounting Equation

Transactions Assets = Liabilities + Capital
Cash + Stock = Creditor + Capital
1. Commenced business with | 1,80,000 + 0 = 0 + 1,80,000
cash
2. Purchased goods for cash | -60,000 + 60,000 = 0 + 0

New Equation

3. Bought goods from Rama

1,20,000 + 60,000 = 0 + 1,80,000
0 + 30,000= 30,000 + O

New Equation

1,20,000 + 90,000 = 30,000 + 1,80,000

J12 Iihd AHIBIOT b oAt —

() oEi®d ¥ FEEal

i) TS T H D

i) IO g @1 S

SAAdT

iv) FERR Ud SRl @ el

(@13 0 wfera arer afzq)

Page 3 of 12
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3.13

Rectifying Journal Entries

(3)

(i) | Sales A/C Dr 2000 -
To Machinery A/C -| 2000
(Being sales good Mach. wrongly credited)
(i) | Repairs A/C Dr 400 -
To plant and Machinery A/C - 400
(Being repairs of Mach. wrongly changed)
(iii) | Ramesh Dr 200 -
To Suresh - 200
(Being Suresh wrongly debited instead of
Ramesh

B

3.13 IeXd Erdl @iel ST &l Cifélli,-T -

qof SR 7 89 W

AR U&T BT S T8I Bl W
AN # SHEAT B WR
e ufafte 31 gem |

(i)

(if)
(i)
(iv)

(@1g O wfera ara afgq)

S14  dqAUC BT RISy
Qrdl o1 g
@l & AN P T qrer fqavor
ffeaa fafr
geres fAToT

GAAT Bl S

[320]o-12

(P1E =R, wfera faaxor afeq)
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SAAdT

3.14  Trial Balance As at 315t March 2021
Name of Accounts LF | Amount (Dr) | Amount (Cr)
Capital A/C - 2,500
Creditors A/C - 1,500
Cash A/C 1020 -
Purchases A/C 7000 -
Sales A/C - 5,000
Drawings A/C 50 -
Discount Received A/C — 20
Salary A/C 50 -
Total 9,020 9,020
3.15 Pawan club Receipts and Payments Account for the year ending on 31st
March 2021
Dr Cr
Receipts Amount Payments Amount
To Balance b/d 4,000 | By furniture 1,000
To Membership fee 11,100
By Electric charges 1,450
To Interest 50
By Rent 2,400
By Balance c/d 10,300
15,150 15,150
SN
S5 M-I @I B faRan —
() UP 9 ¥ AHd
(i) =9 91 BT QrdT
(iii) DI IMMTH 3T /T BT ol
(iv) USIRTd 3 /g HT oikdl T8
(

[320]o-12

V) JAGx] AT 3G A BT FHIAIGTH

(P1E =R, Wl @R |fed)
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316 WTIGRNI Hold & 3T # N & Tt e — (4)
) o BT fadRor

SAAdT

3.16  Profit and Loss Appropriation A/C for the year ended.......

Dr Cr
Particulars Amount Particulars Amount
To Profit transferred By profit & Loss A/C 30,000
to partner cap A/C (Profit)
A 10,000
B 10,000
C 10,000 30,000
30,000 30,000
FA7 N U SR A U H <R — (4)
I DT IR —
(i) o™
(i) wEnT
(i) ¥
(iv) Uo @mal R uHa
(v) S™8I JuTd IR 99T

(@S IR, R IR e WiRd)

[320]o-12 Page 6 of 12



Sqdr
SA7  BH W T & HedihT @Y guT —
(i) <™ TS SruTd | uRRacH

ii) T ATSIER BT yael

i) TRIeR @1 FAgfa

iv) P AEER B 5y

V) Al BT THIhRIT

(@13 9R, Jferd aarer afga)

I18  HEAT 3T IR YAIIHR 37 H <R —

X bl AR —

(
(
(
(

(i) o B ER
i) o &1 AfEdar

(
(i) GST BT o
(iv) =
(v) warfereR
(P1E IR, Wfera IR e Hfea)
S
3.18 Journal
Date Particular L Amount Amount
F Dr Cr
(i) Bank A/C Dr 15,00,000 | -15,00,000
To Equity share -
Application and Allotment A/C
(Receipts of full amount on
application)
(i) Equity share Application and 15,00,000 | -15,00,000
Allotment A/C Dr -
To Equity share capital
A/C
(Lump scent amount
transferred)

[320]0-12 Page 7 of 12



3.19

3.19

3.20

[320]o-12

AT B faLreany —
(i) T BT YATT

(i) =T < &)
(i) aTIET BT S
(iv) IHRE )R TR
(v) <rE®rels For
(@13 9R, Jferd aarer |fgad)
SIZEL
Journal
Date Particulars Amount Amount
Dr Cr
(i) Bank A/C Dr 1,60,000 -
To 10% Deb. Application A/C -1 1,60,000
(Application money read)
(ii) 10% Deb. Application A/C Dr 1,60,000
To 10% Debentures of - 1,60,000
(Application money transferred)
(iii) 10% Debenture Allotment A/C Dr 2,40,000 -
To 10% Debenture A/C - 2,40,000
(Allotment money due on all of)
(iv) Bank A/C Dr 2,40,000 -
10% Debenture Allotment of - 2,40,000

(Allotment money received)

dHhd 981 UG Wl 981 § IR —

(P1E =R, Wl @R |fed)
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3.20 Journal
Date Particulars Amount Amount
2021 Dr Cr
Nov 1 | Cash A/C Dr 10,000 -
Machinery A/C Dr 40,000 -
To capital A/C - 50,000
(Started business with cash &
mech.)
Nov 2 | Bank A/C Dr 5,000 -
To cash A/C - 5000
(cash deposited)
Nov 3 | Purchases A/C Dr 8,000 -
To Manoj - 8,000
(Goods purchased on credit)
Nov 5 | Cash A/C Dr 12,000 -
To sales A/C - 12,000
(Goods sold for cash to Kishore)
Nov 6 | Salary A/C Dr 2000 -
To cash A/C - 2000
Total 71000 77000
3.21 Balance Sheet
As at 318t March 2021
Liabilities Amount Assets Amount
Capital 15250 Debtors 2,200
+ Net profit 1811 17,061 Furniture 150
Loan 500 Closing stock 2,400
Creditors 1,280 Building 10,000
Machinery 3,900
Bills Receivable 191
18,841 18,841

[320]o-12
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3.21

3.22

3.22

3.23

SAAdT

forg & Seeg —

(1) onfdfe Rerfa &1 5=

(2) GHRT &1 A

(3) <R &1 =

() o @1

(5) T BT HeATeh

6) JITHD eI
(@13 dfd, wfera e |fgd)

ATERY B fIAwad —

(1) oge=

2) HeX &=

(3) o E™

(4) ST

(5) =T

6) <=

(@13 dfd, wfera e |fgd)
A4l

Fga AERR @1 <7 VT & G o fafeRr —

(1)
(2)
(3)
(4)

I RN BT Y G2 I
I IR & fog faus WBR BT
I RIRT BT fpedl H YA
T gRT YA

(Hfera =T afed)

FOUUS b YhN —

1
2

~~
N ) ~— ~— ~—r ~~—

RGOS

[320]o-12

Goilhe ST
CIEEE AR
BAGREEAE
JGRIET I
e ST
3TeIe S OTuH
(@13 dfw, wfera e |fgd)
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3.23

3.24
3.25
3.26
3.27

3.28

SAAdT

Journal
Date Particular Amount | Amount
Dr Cr
(i) Equity share capita A/C Dr 1000 —
To Equity share first & find call — 300
To equity share for filed A/C - 700
(100 share foretell due to of payment)
(ii) Bank A/C Dr 800 —
Equity share for filed A/C Dr 200 _
To Equity share capital A/C — 1000
(for filed share reissued @ X 8)
(iii) Equity share for filed A/C Dr 500 -
To capital Reserve A/C - 500
(Gain on recessive transferred
Yrsg — §
faeeq — |
SYHRT
T
BTl I Ggedl
— _ Ndhel oM X 100
3T = g fapa
_ 150000 X100
- 500000
= 30%
Cash flow statement
Particular Amount Net Amount
Cash flow from Investing Activity
sale of machinery 15,000
Less — purchase of Land 45,000
purchase of building 75,000
Net cash used in Investing Activities 1,05,000

[320]o-12
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F29  NIPs ydre B A

(i)
(ii)
(i)
(

R

Bhs AJERI DI agal ]
CARSLIE]

SUTSIF STERON &1 3TaRell

3.24 A
3.25 SIRERENIT
3.26 U& Uy

3.27

iv) feamad) sifmsl & uRgfr

(Hfera =T afed)

faeed — I

DIRY[H] IR

[T

40,000

+ Ao 60,000

el fTd  1,00000

+ fmfor

Yy 25000

= ORYIAT I ld = 1,25,000

J28 N oIEih b I —

(i)
(ii)
(i)
(

NINE

SIld ]
=0T HRAT

ATIRIRTT BT HeIROT BT

iv) fasa—qea &1 MERor A

(v) Fgdr AT MR gg IMER UG Rl

T20 bl awg & fEior § sferar fH Aar DI YaT B H Sl IR FY B S 8

(Hfera =T afed)

I AN hed |
SNTd & o9 ded & —

(i)
(i)
(i)
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RIGEIl
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(Hfera aarer afgd)
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G YT DI HRAT : 23 Hl I3 B F=AT : 08
Total No. of Questions: 23 Total No. of Pages: 08

a9 : 03 gue

Time: 03 Hours

ERR AHUSY WRIeT, feawaR—2021
321
fawy : g fagm
Subject: HOME SCIENCE

(Hindi & English Versions)
quiid 075

Maximum Marks: 075

faer —

Instructions :

[321] 0-12

(i)
(i)

(iii)

(iv)

(v)

(vi)

(i)
(i)

(iii)

(iv)
(v)

(vi)

7o — 97 g @US] § 927 8, @US I’ g &GS F'/

GUE ¥ P GH FeT ET HYT JAGF &/ FeT HAFH 01 § 04 TF TGO T &/
AT §97 & GG OGF dF dared &/

goT FHHIH 05 & 09 TF FAF HIT P fov 02 dF Jr@ed &/ FeH @7 GO
ST 30 FIs5) F dfore/

J97 HHE 10 § 15 0% JAE g9 & forv 03 & gyaed & gwAl @1 G
ST 50 FIs5) F dfore/

To7 HHIE 16 @ 18 TF B ¥ @ [0 04 3o J@ead & 5ol @7 Gv
T 756—120 I 7 77/

Ggus g # 7 dwleqwm wrT & 1. 2° v 3/ F7H W B VH 87 BV 8/
T §¥7 & GG FEGF 3F ared &/

Question paper is divided into two parts, Part —'A’ & Part —'B".

All questions in Part ‘A’ are compulsory. Question No. 01 to 04 are objective types.
Each question is allotted 05 marks.

Question No. 05 to 09 carry 02 marks each. Write the answer in approx. 30 words each.
Question No. 10 to 15 carry 03 marks each. Write the answer in approx. 50 words each.
Question No. 16 to 18 carry 04 marks each. Write the answer in approx. 75-120 words
each.

Part ‘B’ consists of three electives ‘1°, '2’, & ‘3’. Attempt any one of them. Marks are
given in front of each of them.
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gvs ¥ / PART ‘A’

91 3 IR gAY —

(i) B fa=e fawg g —
@) dad dsfeal & fow
(@) I dsdl b forg
&) T dedl & fow T dsfeal & forw
(@) <Is® Tsfdpdl Ml & foru

(i) PR IRATBIOT H —
@) ®H WY @d BIaT §
@) wfdd /Sofl BT gad 8 §

() T R SHoil B g9d Bl ®

() SUBRVI BT YART BT &
(i) dfowrmm o & J BT T —

(@) wnfAaT

(@)

(v) & TER aRet B ¥ T o) @R B

@ -9 Tafed & dUS
(G)ICICEI
() dfeliPd Yae
(V) I UI¥®H T@ & DR, TAT 3R oo
()
@ @t aqur
@) e
(@) SWREd

[321 ] 0O-12 Page 2 of 8

()



Select the correct answer -

(i)  Home Science subject is for —
(@) only girls
(b) only boys

(c) neither boys nor girls
(d) both boys and girls

(i)  Work simplification leads to —
a) spending less time

b) saving energy

(
(b)
(c) saving time and energy
(d) use of gadgets
(iii) Deficiency of calcium causes —
a) Anaemia
b) Night Blindness

d) Goitre

(
(b)
(c) Osteoporosis
(d)
(iv) Green leafy vegetables should be wrapped in —
(a) Brown paper
(b)  Moist muslin cloth
() Newspaper
(d) Polythene packet

(v) The macro nutrients are carbohydrates, fats and ........... :

(@) Protein

(b) Minerals Salts
(c) Vitamin

(d) All of the above

[321 ] 0-12 Page 3 of 8



Uz

U3

Raa et @1 gfitf iy —

Fill in the blanks -
(@ Be ., to your organization.

(b) Woolisa................. fibre obtained from sheep.

(c) More power is consumed by..........cccceeene refrigerators.
d
(e) Coloured cotton cloth should be dried in..........................
U qr H IR SITg —

) g e wEd 8?

fpeiRTavern fha ®ed §7

Ao R AP &7

GeH UINe o b dEd 27

) ETer 9RReUT w7 'Y

2 g

Give answer in one sentence each -

(@) What is Expenditure?

(b) What is Adolescence?

() Why food is essential?

(d) What are micronutrients called?

(e) What is food preservation?

[321] 0O-12 Page 4 of 8

)
) Most suitable fabric for making baby garments is...................
)
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U4

U5

U.6

U7

us

8! Sifedr a918y —

1 q
@n  faer e (i) IR
(@  fopemRrawen (iiy e
(/) aRwssT (iii) g
(?) @ (iv) STHER
() emaEE (v) T BT Faem

Match the columns -
SA! ‘B!

(@) Institute of Investment (i)  Mercerisation

(b) Adolescence (i) Goitre

(c) Finish (iii)y Fibre

(d) Cotton (iv) Post office

(e) lodine (v) State of tension

I ISR & Pls IR IJIIIR 918U |

Mention any four opportunities of wage employment.

OB B YbR fIRau |

Write the types of fatigue.
STel STaRREA RIT 87

What is water proofing?

T & By oIy |

Write the functions of fat.

[321 ] 0O-12 Page 5 of 8
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.9

.10

.11

.12

.13

U.14

.15

.16

U7

U.18

T URRETIT BT T aIThdl 87

What is the need for food preservation?

SUATEIT & Dls diF AHR forRau |

Write any three consumers rights.

Siad 99T & T 918V |

Write the advantages of Life Insurance.

TR 3ghdl AR Ufeehel Icural & 3-3 A forfay |

Write three names of environment friendly and unfavourable product
respectively.

Jd & UBR forfey |

Write the types of Yarns.

PraElgRcd @ B T Fd feRay |

Write the functions and sources of Carbohydrates.

AT TR B9 & T HRIT &7

What are the causes of food spoilage?

I 59 b Pl IR BRI AHISV |
Explain any four causes of child labour.
TE § fha—fba =Rol & 18 B ST Gl 27 AHssy |

Explain the various stages of dyeing to be done in a garments.

HUIYYT & HRUT Td IADBT G4 FHSMST |

Explain the causes and effects of Malnutrition.

[321 ] 0O-12 Page 6 of 8
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.19

9.20

Y.21

U.22

.23

.19

U.20

.21

U.22

U.23

gvs ¥/ PART ‘B’

Jpfous 9T—"1' / Elective- ‘1’

Sid YA TRIET0T fh ded 87

What is Biochemical tests?
JMRIRT BT AR INR § T He<d &7

What is the importance of iron in our body?
qryor eI YT HRA & Bhlg oI HIROT 9d18y |

Write any three causes regarding Nutrition Education.
JMER FIeTT oI AR & 9™ for@ax &l va Al &1 9v= iy |

Write the names of the methods of dietary survey and describe any one

method.

TRIHT I BT HRUT TG &7or foRau |

Write the causes and symptoms of Marasmus.

Jpfous YT—"2' / Elective- 2’

famr frd wed &7
What is development?
U Hw b I foIRay |

Write the objectives of play centre.

YT g b RFTh BT goal & U T SIRENAT 87

What are the responsibilities of a play centre teacher towards the children?

AR Aed Wl dg DI Il DA BN Fhdl 27

How a Mahila Mandal can help a play centre.

JMER BRI H AIRT HRa AT &9 & Y& AT Dls IR BRI Dl FHSSV |

Explain any four factors to be kept in mind while deciding the diet program.

[321 ] 0O-12 Page 7 of 8
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.19

9.20

.21

Y22

.23

dwfeusd 9T—'3' / Elective- ‘3’

fEevoic fod Ped 27

What are Detergents?

garg o faf= RSl @ M 9a] der ANE 9 78 T B gl @ forg
3w Aty &1 FHesy |

Name the various method of washing and explain the method needed for

cleaning articles which are delicate and of fine Clothes.

¢l BT T TDHRIT HIFU |
Write the classification of Stains.
S B R forfaw |

Write the characteristics of Wool.

gl & IMMIeIH SUBRCN BT g BIFTY |

Describe the necessary of washing equipment.

[321 ] 0-12 Page 8 of 8
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Hl YOI DI HE&RAT : 07
BRR AhUs TR, feamaR—2021
Y SR
321
fawg : T8 fa=m
Subject: HOME SCIENCE

HYug — I
31 I8l SR —

() e TsfHal e & fog

S2 Rad W= &1 gfd —

I3 UP I H TR —

(@) = — URAR BT AELIHARN I YT & forw fAff= awgall ok Famil &1

e & forg @ fhar mar U1 € O e g |

@) fPreREReT — fHIiRTaRen, qregTaRer iR Wgrawen & 419 & 3rafy g |
HISTH TR TRIR &7 U7 HT 2 |
Gfot o fae™a ged uive 7@ HEdd § |
@Ter YRRETT — Fel U &I ST B BT U aRIdbl & dlfd S ERTd
B ¥ 99RO 9% 3R wiis # S0 SuHrT @ forv e Rerfa # <@m o
SEd

E)

G

)
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3.4

3.5

3.6

3.7

3.8

3.9

REISISRIE

(30)
@)
(%)
(=)
)

4

- g
foyarer v () STHER
feTRTaReT (i) T @Y raRe
GRS (i) FRRHRT
HU (iv) @q

JMATSIA (v) ©er

I MR & AR —

(1)
()
(3)

gad a9y IRl & AR b WU H|
IuIFdRT & IMfTPRI & FAgdR & T H|

3) O Whel, S DI WY, Hd g ARGl b HHARI b w7 H |
(4) TR B SHE & FHARI & ©Y H |

UPBH B YPR —

(1) INIR® JH™=

(@)

qATdSI I b1

T ARG — AN B g RUTA # Ugad 8 arel 99 H IR fohan
ERT Tt RIS 0T I~ fhd TS & | I8 318 aResolT ¢ |
T B B —

(1)
(@)
(3)

Sl & ST A 2 |
YRR HT AN IR @ 2 |
Tgeil @ faemra # weme 2 |

Wrel URRETT & aTIHdl —

(1)
(@)
(3)

T IS O O, UITs, @R e g9+ |

Tel UQTRIl BT A A8 Bl 9T |

qRNetor gRT AT BT YSIRT BRAT 3R IMARTHT BT Gl 3 SIrdT 2 |
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3.10

311

3.12

3.13

3.14

GRET BT AfBR
NIBCANEC ARSI CEAR

TITaRYT Ufidhel S<TG qITaRYT 3 Hd SUTG

(@) ugel (a) =T Ugid
(b)  @ear AIER & dd (b) uRsha

(c) dfferei= &1 Siferat (c) @IS @1 Aferdt
qd & UPR —

(1) SreRer qd
(2) wifee |d
(3) Ut gd

FaEESe & BRI —

(1) & ST BT =T 91T 2 |

(2) SfId 71 # TH B TN | UEE B g9d INR AR b U B R |
(3) SMERT W Ad gfg &G Ael AN &I URHAT BT 3T HR <J ¢ |
MR AT —

3T — E, aTae, oI, HddT

®E — Hol, JATcf, DY Hal, Yhax AFhY, T,
STel — XTSI, =41 1S
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3.15

3.16

317

3.18

Yo TRIG 8F & f=feRad dRoT 8 —
(1) e Sfarg

(2) TITEH

(3) @Ic 3R Iz i

(\re — wfereT aoiF &R W gt ofw Y )
ASHT B BRI —

(1) T8

(2) SRAfET IR TN AR

(3) oI M U FIehd §=

(4) IIAH BT AT ROMB T HH HAT W UL BN |
Fre — dferd aofF A W ot ofw AT )

9 99 # frferRad ==ol # S @ S § —

(1) g srazen

(2) T Sfaven

(3) T Iraen

(4) PuUSI Bl TS

(Frc — Saa fagell &1 dferd auie & R ot &fe IR )

HUIYYT & PHRUT TG YA —

(1) ¥ @ IYAIAT H S B & HIROT —37ed IR T80T

(2) TSI — BIC Fal BT VYol gIyop

(3) onfde R — &3 &\ar &9 &9 | <ITUNYT TT g4 | SfrdryoT |

(4) @ @ Rafd — oo 9 89 a1t INIR® A & SR Uy dwdl &l
I STRdl B QRT T B T |
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3.19

3.20

3.21

3.22

3.23

gvs — §

IPpfeqd AT — "B
g A WU — T BT RO S @ oy fa9=1 Saal R B S arel
T JARTRITET TeTui 1 i AT 1T HEl ST 2 |
MR BT HEwd — TAR IR H Iad &I AT ARG gRT ya™ far ST
2 3R faurefed & i & forg @er wewyel wfet uert 2| omRA & &
A G DI AMEAST o S BT AT HH BT I 2 |
OIyor el USH &RA & BRI —
(1) 9RaR & oI WIS &1 |El FF TRA D ol¢ FIDI ol BT |
(2) A QeI GAEE! B JAad YT 6T |
(3) @rE Uyl $ dRETQT B gg@r F oAl
(4) IHEIRe TRT & FU H WRY B SfAERO Bl UrcdTed BT |
IMER Hae Hderor @1 fafert —
(1) 24 =< BT TR

(2) oI BT STTEwl
(3) SMER UIyehdr

(4) SMER SR

(5) IMER R sfasr™

(FAle — S fa=gail & A il T &1 qui PR W gof 3fp IRTY )
ARV 6T HRUT — WEH Holl HANYT & HRT BT 2 |

SAeToT —

(1) #ueli &1 el g

(2) fosfrsm

(3) & st

(4) R

([re — wferd avi| B R ot 8w ARG )
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3.19

3.20

3.21

3.22

3.23

dafaw a - @

et — gaTa &R fafia aRad=t @t wwrfoela siaen &1 9m e 2|
Yol b5 b Ieed —

(1) W@t e

difgsd Rom

URIH & S7qER A1

(4) 39l radl Bl ARG

(5) UINITH® FIER Bl I

(6) WAMITH Ud HIEATHS TRTFaT

YdAdhs B RIeTh B geai & Ul IAR&NIE —

(1) DT MALTIHAY G HRAT ATMRY |

(2) <afdd & SU H ITHT A HRAT AR |

(3) =9 AT IUferd AT g9 AR |

(4) ST® A B B AR B H A< A9T BT |

Al Hed Wl B # 1 UHR HEId B Fahal § —

(1) =@ B T s H QIR B3 & foIw URT b |

Joa FafAd w9 | MR &ea |

3) U WHEN H BIC dedl Bg Wb & 99T H SN UST Pa |
(4) WD & AhAAYAD T § TG B AFIERT BT Uicdlad R |
3ER BRIpH FMEiRa H=ad w9y FrAfaRad arai &1 e @ a1fey —
(1) fxia Ferar giea s |

2) Wed< H R R 3R HINH RN BT RIF 8HT a1fey |

(
(3) TS SUBRTN BT Y=
(

2

— o~
~

2

()
(3)

4) WM BI AT G AT 3R URATCT BT FAH AT |
Fre —Saa fawgell &1 dfera 9o s W) ot ofw difTg )
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IBfeqd wRT — T

T19  fewoe —feexore 98 STe ® Sl e R § e © |
J20 gols B ARt —

(1) =for gemg

(2) f=EreAT (B <aT4)

(3) e el

(4) ¥ BT YTg, ANS T A I Bl §odh A9 gRT €-AT ST & |
T21  gedl BT BT —

(Are — wfera gofa F=e W gt sfw R )
T22 & P a9 —

(1) S # AAAIT 3R Ao Bl 2 |

(2) & H AR B ufad dev 3ifde B 2
(3) T H fageT IR S @1 ughy B8Rl 7 |
(4) TS AR HAI HUS DI JHAM U © |

T23 gAlg B ATIDH IUBRU —

(1) e

(2) =T

(3) ™R

(4) DSl BT g
(5) TS ATl S

(6) IR AR

(7) Rm

(8) TIRFT #M=

(9) Rid IR TES 98

(ST Fuie R WX qUT 3 I |)
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% B B F=AT : 03

ERR AHUSY WRIeT, feawaR—2021
ameel IR
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Subject: SHORTHAND HINDI (Principles)

3.1

3.2

3.3

3.4

3.5

3.6

3.7

3.8

3.9

3.10

311

3.12

3.13

3.14

MATHR |
g’ gt 60, ‘@ 9 90, TAT ‘' T 120 HIVT YR F9I¢ S © |

IAATTHY QT B Yfdd & HIR VAT 99147 SN b ) ar g
9 HHIS 8 |

& W w®
TR I
(1) 9 (2) T ST X

(1) fer T @ LT (2) BY Bt
¥ gD D AT A W g e far Siar 21

(1)as () d-&
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Subject: SHORTHAND HINDI (Principles)

T : 01 =9eT 30 fAFe quiid 30
Time: 01 Hour 30 Minute Maximum Marks: 30
faser —

(1) & ge7 sfard & ge @ SOV garsy vq gwE &/ oEl eavds & d8
STYIIfG B 78T AT Y/

2) @IS T Hghad @I/

(3) HITT OTF W IS W BT |/

(4) @S T F G [enfll @ @ve &' vq §' [@aka 7 faar 7iid |
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Y GT & 915 IMETHT T MY AT MU QT Bl fhd YHR I91-IT ST 87

ST NI TR TR oo 3ifpet fby rd € |

Il W 5 W&l B YN dR—AR BIAT 8, B QT B MY o
ERINAS IS

W T D ULAR DS WR T8I 8, AT NEER BT oo R forar S g |
i fefl 2ed & 3T H TWR ST RET 8, AT oo BT YANT 9 BB
.................................... foret STl 2 |

fgeafid A3 BT o UHR & YHe fHar S 2 |
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SIS
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(1) SIPH e @) I s
(3) DN oo (4) AT o
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FEAERT — (1) B o (2)  BTHYT oo
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358
oy @re 99
Subject: FOOD PROCESSING

(Hindi & English Versions)
quifeh © 040

Maximum Marks: 040

A —
(i)
(i)
(iii)
(iv)
(v)
(vi)

wf o7 sifard &

77 HHIE 1 VG 2 GRGI70 J97 &/ JdF He7 5 bl BT &/

7o HHIH 3 W 12 GF JAD J97 2 & & TV HH TTHT 15 T |
7o HHIF 13 VT 14 Fo7) G¥ 3 3% [FERa & v Har T 30 9/

To7 HHIF 15, 4 3Bl BT & GV G TTHT 45 5/
Jo7 BHHIE 13 @ 15 dF FAF 97 & JaRe Recy &3 713 &/

Instructions :-

(i)
(ii)

(iii)
(iv)
(v)

(vi)

[358] 0-12

All questions are compulsory.

Question nos. 1 & 2 are objective type questions. Each question carry
5 marks.

Question nos. 3 to 12 carry 2 marks each. Answer limit approx.
15 words.

Question nos. 13 & 14 carry 3 marks each. Answer limit approx.
30 words.

Question nos. 15 carry 4 marks. Answer limit approx. 45 words.
Internal options are given in question nos. 13 to 15.
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.1

dbed AR fofay — (5X1=5)

)

@)

)

FRedl & oy 3Mmaws & —

() e T« (i) ST

(i) Dferm (iv) o

faega graara G-Il gIRT WIsTd UhTrl Il & —

() <= (i) @R R A
(iii)  IRR FHR (iv) TEHRa
Heracy arel 81 & —

(i) = UEET qrel (i) =T TorgE 9ot
(i) =y (iv) oS

YA &1 S AT I B ATl 0T © —

() o (i) RS

(i) <eEh (v) Raed
JIRT Tl | € A B Ufhar 8 —

() ETESITIGR (i) frdem

(i) iz (v) afes

Choose & write correct option -

(a)

It is necessary for bones -

(i) Iron (i)  lodine

(iii) Calcium (iv) Fat

Food is cooked by electromagnetic waves in -

(i) Stove (i)  Solar cooker
(iii) Pressure cooker (iv) Microwave
Adulterated foods are —

(i)  higher quality food (i)  low quality food
(iii) costly (iv) good

Disease caused by consumption of Khesari Dal is-

(i) Goitre (i) Lathyrism

(iii)  Night blindness (iv) Rickets
Process for manufacturing ghee from vegetable oil is -
(i)  Hydrogenation (i)  Decortication
(iii) Germination (iv) Baking
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U2

U3

U4

U5

U.6

U7

us

8! Sifedl 9918y —

0 (In
(@) e de e () e
(@ fova (i) w7 Td 5\ @ qEq
(d) oM Td qTel (i) @S F@oT
@) @ (iv) Teh
(8) SUBRVI BT ITIN (V) TS
Match correct pair —

0 (In
(a) Micro nutrient (i) Cellulose
(b) Fermentation (
(c) Cereals & Pulses (iii) Minerals
(d) Paper (iv) Idli
(e) Uses of equipment (v) FPO
T[oTa g uarel T B ©7
What are the quality items?
Qe |aArl &1 a7 3ref 27?
What are food additives?
IoTar Rieor &1 gRaiid HIT |

Define consumer education.

Qrel AT B gRATST forRRag |

Write the definition of food processing.
QTe] SRl &7 T 3ref 77

What is the meaning of food preservation?

TirsH fhd dEd 87

What is enzyme?

[358] 0-12 Page 3 of 4

i) Save energy and time

(5%1=5)

@

2)

@

2)

@



U9 Upd I R guidr 87

What are shown in flow diagram?
U410 IOl FEAY & B — B F WK 2?

What are the stages of quality control?

11 QT AU & S DI — B 8°

What are the sources of food spoilage?

912 USRI & Big I o fIlRaw |

Write any two benefits of packaging.
43 IS b B RIT — T ST &7

What are the aims of cooking?

gerar/ OR

Ao UdhM @ fhdl & Afy &1 forfReay |
Write any one method of cooking.
Y14 SUHIG & Hls A ISR foIRay |

Write any three Rights of Consumer.

3rerar / OR
SyHTaT AReT e & fawy # faRay |
Write about Consumer Protection Act.
Y15 @rel gl (W) & w1 w87
What are the functions of food?
3erar/ OR
A B BRI forRay |
Write are the functions of fat.
[358] 0-12 Page 4 of 4
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